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BBEOEHWUE

Hacrosiee yuebHoe mocobue mpeHa3HaueHo JJisi OOyUYEHHs aHT-
JUUCKOMY SI3bIKY B aKaJ€MUYECKUX U CHEIHUATBHBIX LESX U PACCUUTAHO
Ha 80—100 ayaMTOpHBIX YacCOB.

3amaya mocoOusi — MOMOYb CTYJEHTaM B C)KaTbleé CPOKH OCBOMUTH
rpaMMaTHYECKyI0 CUCTEMY aHTIUHCKOTO S3bIKa, OBIAACTh (POPMATLHBIMU
NpU3HAKaMU TPAaMMAaTHYECKUX SIBJICHUN U UX CTPYKTYPHBIMU OCOOEHHO-
CTSIMU JIJIs YTEHUS M TIepEBOja HAYYHO-TIOMYJISIPHOW M CTCIUATBHON JIH-
TepaTypbl IO SKOHOMHKE U MEHE[KMEHTY .

['paMmMaTuyeckasi OCHOBAa Kypca OTpa)kaeT TJIaBHbIE OCOOECHHOCTU
MOCTPOCHUS TIPEATIOKEHUST 00IIeHayuyHOTro TekcTa. Vcnons3oBanue Ghop-
MaJIbHOTO OINHMCAHUS TPAaMMAaTHUECKUX CTPYKTYP B BHJE TaOJHIl, CXEM
U MOJENICH, COCTABJISAIONIMX HAOOp 00s3aTeNbHBIX U (DAKyJIbTaTUBHBIX
KOMITOHEHTOB, 0a3upyeTcsl Ha TEOPETUUYECKUX MOJOKEHUAX, pa3padoTaH-
HBIX CTPYKTYPHOM Y T€HEPATUBHOMN JIUHTBUCTUKOMU.

Kaxxnoe rpaMmaruyeckoe SBJICHHWE NPEJCTAaBICHO B HArIsaHOM
¥ KOMITAKTHOM BHJIE: Ha3BaHue, popMyna unu Tabnuna, GyHKIUH C WI-
JIOCTpAlMel Ha MpUMepax U mepeBoJl. Takas mojgaya TEOPETHIECKOro Ma-
Tepuaia AaeT BO3MOKXHOCTh COKOHOMUTH BPEMs, MO3BOJISIET MOKA3aTh CHC-
TEMHOCTh TPaMMATHKH, B3aMMOCBSI3b MEKIY CTPYKTypaMH, UX CXOJCTBO
U pa3jaudne, He YIMOTpeOssis mpu 3TOM MPOCTPAHHBIX OMUCAHUM U CIIOXK-
HOW TEPMUHOJIOTUH.

Bcro paboTy no u3y4eHuto CTpyKTyp CieayeT MPOBOIUTh B TPH dTara:

1) onucanue HopMalIbHBIX MPU3HAKOB CTPYKTYPBI METOJIOM JUCTPH-
OyTHBHOT'O aHAJIM3A;

2) pacKpBITHE CMBICIIA, COJCPIKAIIETOCS B CTPYKTYpE, MOCPEICTBOM
TpaHchopMaIuu ee B CTPYKTYPY, UMEIOIYI0 PYCCKUN YKBUBAJICHT;

3) COIOCTaBIICHHUE C PYCCKOW CTPYKTYPO# M TIOJ00P PyCCKOTO SKBH-
BaJICHTA.

CocTaB ynpaxxHEHHH, CISAYIOMUX 3a TEOPETUICCKIM MaTepUajioM,
OTIPENIETISICTCS yYIOMSIHYTBHIM BBIIIE TPEXATAITHBIM aHAIN30M: PEIETITHB-
HbIE, PEMPOAYKTHUBHBIE W TBOpYeckue. K mepBomMy THIY yIpaKHEHUH,
(dbopMUPYIOMNX HABBIKK aHAN3a TEKCTA, OTHOCATCS YIPAXKHEHUS 1O OIO-
3HaBaHMIO CTPYKTyphl. Hambosee d9acto wucCmoib3yemble YIPaKHEHHUS,
dbopMupyrome penpoayKTUBHBIE TPaMMAaTHYECKUE HABBIKA, — JTO 3a-
JaHWS Ha TOJCTAHOBKY, 3aBepIICHHE, KOHBEPCHIO U TpaHCOpMAIIHIO.



[TocnegauM TUNOM yOpaKHEHUM SIBISETCS MEPEBOJ C PYCCKOTO SI3bIKa
Ha aHIJIMMCKUN C HCHOJIb30BAHUEM PAHEE HM3YYEHHBIX I'PAMMaTHYECKUX
CTPYKTYD.

B koH1ie moco6ust ganbl 9 NpUIIOKEHUH, B KOTOPBIX MPUBOJISTCS:

— KpaTKHe CBeJICHUSI 0 JOHETHKE U OCHOBHBIX MpaBUJIaX YTCHUS,

— MpaBujIa MPOU3HOIICHUS ¥ MPABOMKMCAHNUS OKOHUaHUH -(e)s, -ed,
-ing;

— OCHOBHas CUCTEMA CJIIOBOOOpA30BaHNUA;

— KpaTKW€ CBEJCHUS O CHHOHUMHH, aHTOHUMUWA U OMOHUMHH AHT-
JIMMCKOTO SI3BIKA;

— IpaBuiia 0OpPa30BaHMS YHCIUTEIBHBIX M YTCHHUS MaTEMaTUYECKHUX
CHUMBOJIOB;

— TabJIMIIa HETIPABWIBHBIX TJ1aroJIoB;

— IIPaBUJIA IOCTPOEHHUSI BOIPOCUTENBHBIX MPEIIOKEHUN;

— ZIENI0Bask KOPPECIIOHICHINSA;

— CIIMCOK 3aMMCTBOBAHHBIX CJIOB, BBIPAKEHUN U COKPALLICHUM .

[Ipu paboTe ¢ maHHBIM y4E€OHBIM MOCOOMEM PEKOMEHIYETCS MOJb-
30BaThCA CICIYIOMIUMU CIOBAPSIMH:

e AHIJIO-PYCCKHIA CITOBaph 1Mo dkoHoMuKe U (unancam / [lox pen.
A.B. Anukuna. — CII0.: DxoHomuueckas mkoiia, 1993.

e ®enopoB b.I'.  AHII0-pycCKMi TOJKOBBIM CIIOBapb BallFOTHO-
KPEIUTHBIX TEpPMUHOB. — M.. ®UHAHCHI U CTATUCTHKA, 1992,

e Mroyiep B.K. Bonbimoit aHrno-pycckuii cioBaph (B HOBOM pejiak-
1un). — M.: Huragen-Tpeiin; Pumon kmaccuk, 2005,

® AHIJIO-PYCCKHUI TOJKOBBIA COBapb. MapKeTUHT U TOProBist. — M.:
Oxonomuueckas mkosa; OJIMA-ITPECC O6pazoranue, 2005.

e PyCCKO-aHITIMMCKUN BHEIIHETOPIOBbIM U BHELIHEOKOHOMUYECKUN
cioBaps / [Tox pen. 1.®. XKnanosoii. — M.: Pyc. s13., 1991.

e DiekTpoHHBIN cioBaps ABBY'Y Lingvo 12.

ABTOpBI BBIPXKAIOT ITyOOKYHO OJIarolapHOCTh COTPYIHUKY Kade-
pbl nHOCTpaHHbIX A3bIk0OB UXubT HNUY MTMO A.B. Ca3onoBoi 3a mo-
MOIIb B MpOIecce padOThl HAJl HACTOSIIUM Y4€OHBIM ITOCOOUEM.



1. CTPYKTYPA TPAMMATUKU AHITIMUCKOIO A3bIKA
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2. CKA3YEMbIE
PREDICATES

Ckazyemoe — rilaBHBIM WIEH NpeasIoAKEHUs, 0003HAYAIOIIUNA 1eUCT-
BHE, COCTOSIHUE UJIM Ka4eCTBO IIPEAMETA.

Tumn cka3zyemoro

[Ipumep

[Ipocroe (imunas popma riarosa)

| am reading a book.
| have read a book.

| was given a book.

CocraBHoe
(rmaros-cBsi3Kka + UMEHHAsl 4acTh):
be ) ("~ CylLecTBUTENBHOE; He is a researcher.
feel [pujaraTeabHoe; My house is new.
keep npuyactue (I, 1); He seemed tired.
become MECTOUMEHHE; That was he.
grow > + < YHCIUTEIBHOE, They were five.
get UHOUHUTHB; Our aim is to master English.
turn repynauii (-ing form); | Our aim is mastering English.
seem Hapevue; She was out.
appear _/ \_ MPHUIaTOYHOE; The question is if (whether) he will come.
U JIp. PEUIOKECHUE
CrnoxHoe | can do it.
a) MoAalibHOE (MOIAIbHBIN TJIaroj + He is to go there.

+ UH(OUHUTUB)

b) BumoBoe (rmaros Havana, MPOIOIIKE-
HUS WM KOHIA ABMXXKEHUA + WHDUHUTUB/
repyaauii (-ing form):
to begin, to start,
to commence, to go on,
to continue, to proceed,
to stop, to finish,
to cease, to give up

He began to translate the article.

I have finished writing the exercise.

(DopMaanHe IIPU3HAKK CKAa3yCMOI'o, INPUBCACHHBIC HHKC, IIO3BO-
JISTIOT 0€30IMO0YHO ONpCACIINTb CKA3yCMOC B aQHTJIMHACKOM MpCaJIOKCHUHN.

BcnoMmorarenpHBIH TI1aroi

to be (am, is, are; was, were)
to have (have; has; had)

to do (do; does; did)

shall /should; will/would

MopganbHBIi rIaroi

can/could; may/might; must,
should, would, ought (to)

OkoHYaHne

. ~(e)s, -(e)d

"— 4 — orcyrctBue okoHuaHus B Present Simple Tense u B Past Simple Tense (nempa-

BUJIBHBIC FJ'I&FOJ'IBI) .




3. APTUKINN
ARTICLES

ApTuKIIb — Cily’)kKeOHasl 4acTb peuH, KOTOpas SIBISETCS OCHOBHBIM
OIIPEACIIUTENIEM CYIIECTBUTEIBHOTO.
1. B aHrmiicKOM $I3bIKE MCTIOJB3YIOTCS HEOIpPEAeIeHHBIA «a/any
U onpeeneHubin «they» apTukin.

C ApTHUKIIb
YILIECTBUTEIIBHOE -
alan the no article
Hcuuncnsemoe B €IMHCTBEHHOM YHCJIIC atree the tree —
an apple the apple
Hcuncnsemble BO MHOXKECTBCHHOM YHCIIC — the trees trees
the apples apples
Hewncuucnsemele:
BEIECTBEHHEIE; - the water water
a0CTpaKTHBIC — the music music

2. C HEKOTOPBHIMU UMEHAMU COOCTBEHHBIMHU YIIOTPEOIIAETCS Onpe/ie-
JICHHBIN apTHKIIB «they:

CYHIGCTBI/ITeJIBHOG HpHMep
["ocTHHUIIBI the Ambassador (Hotel)
Cyna the Titanic
Pexu the Thames
Kanast the Suez (Canal)

Mopsi, okeaHsl

the Mediterranean (Sea), the Pacific (Ocean)

['pynnel 0CTPOBOB

the Canaries (Canary Islands)

['pynnel rop

the Alps

Crpansl, o6macty,

the United Kingdom

Great Britain

BKJIFOUAIOIIHE B ce0s the United States Russia
TPYIIIOBBIE TOHSATHS the Netherlands NB France
Germany

damvunnm BO MHOMKECT-
BEHHOM YHCJIE

the Browns

3. Aprukis «the» He craBuTCs mepen UMeHaMH COOCTBEHHBIMM,

0003HAYaAIOIINMHU:

CymuiecTBUTENBHOE

ITpumep

Wwmena nmonielt (3KUBOTHBIX)

Mary Brown, Spot

lNopona, ynuiisl, mmoniaau,
BOK3aJIbI

Victoria Station

London, Thames Street, Times Square,

O3epa, oTenpHBIE OCTPOBA

WJIU TOPBI

Everest

Lake Ontario, Majorca,

Marepuku

Europe, Asia, Africa, America, Australia, North/South America
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Exercise 1. Add «a» or «the» where necessary.

1. Are you ... student or ... teacher?

2. Open ... book, please. Read ... text on ... page 5.

3. Look at ... plan. Is it ... good plan?

4. ... Greens live in ... London, ... capital of ... Great Britain.

5. Yesterday he was in ... library and borrowed ... book.

6. He often reads ... books on ... art.

7. She stayed ... night in ... Grand Hotel, which is in ... Brook Street.

8. ... ship, ... Queens Star, sailed down ... English Channel towards
... Atlantic Ocean.

9. He went to ... North America, where he spent ... week near ...
Lake Superior.

10. Give me ... glass of ... water.

4. MPEONIOIN
PREPOSITIONS

[Ipenyor — ciry:xeOHast 4acTh peuu, KOTOpasi MOKa3bIBAeT OTHOIICHHUE
CYLIECTBUTEIBHOTO (MECTOUMEHHUS) C APYTUMHU CIIOBAMH B MPEAJIOKECHUU.

1. ITpensioru, 0603HaYaIOLME OTHOLIEHUS, BEIPAKaeMble B PYCCKOM
A3BIKE MaJICKHBIMU OKOHUAHUSIMU:

AHTITIMACKHAN SI3bIK Pyccknii si3p1k | [Ipemstor [Ipumep
MMeHnTenbHEBIN — —
PonurensHbii of The book of the student was open.
JlaTenbHBbIi to The teacher explained this rule to the
student.
Obmui for This book is for my friend.
BunutenpabIN - —
TBopuTENbHBIHI by This letter is written by the student.
with He is writing with a pen.
[pemtoxHbIH about | Tell me all about it.
HpurspraTenbHbIN PouTensHbli 's The student's book was open.




2. [Ipennoru mecra:

over out
above (a)round
behind
e on
in .
at R near/ beside/by
below in front of
under/beneath

Eansss ° © ©

® among (st) ®

between
() ® @

3. Ilpensioru ABU>KEHMUS:

upT along | across/
| /
/: —>  from
to : —  Off
ithrough (out)

toward(s) —» | _.-- —*’ [T~

-
-
-

v

out of

down into

4. ITpenyioru BpeMeHHU:

from to/till/until

since between after
—
before ‘/‘ during |
for

in
within




in —in May;
in spring;
in 1990;
in the 19" century;
on — on Monday;
on May, 10;
on week days;
at — at 5 o’clock;
at present;
at the present time;
at the weekend;
by — by 5 o’clock.

Exercise 2. Answer the following questions stating the place of the
object. Use the appropriate preposition. Give all the variants possible.
Example: Where is the clock? (the wall)
It is on the wall.
. Where is the desk? (the corner)
. Where is the note-book? (the table)
. Where is the blackboard? (the classroom)
. Where is the teacher? (the blackboard)
. Where is the table? (the window)
. Where is the lamp? (ceiling)
. Where is the tree? (the house)
. Where is the rug? (the chair)
. Where is the man? (the car)
. Where are you now?

xercise 3. Add the prepositions.

.I'was ... Canada ... 1990.

.He came ... London ... 15" August and left again ... September.
. They arrived ... half past one.

. He rests ... the weekends but works hard ... Monday ... Friday.
. I met him ... Wednesday.

. He 1s busy ... present. He will see you ... 30 minutes.

. Moscow is the capital ... Russia.

. This book 1is ... English history.

. I cannot write ... this pen.

O oo ~NO Ol WNPEFM CLWoo~NooThkwWwNBEF

10



10. This present is ... him.

11. T wrote this letter ... my friend.

12. The poem was written ... Byron.

13. Jim came round ... Saturday afternoon.

14. The children get too many presents ... Christmas.
15. Look at the example ... the board.

16. There are too many cars ... the road.

17. College starts ... 9 o’clock ... the morning.

18. They do not go out very often ... the evenings.
19. We met... the conference.

Exercise 4. Make plurals where possible.

1. I am a student. 2. What is his main subject at the University?
3. Are you an engineer? 4. He is in St. Petersburg now. 5. Is it a class in
English? 6. Thatisacar. 7. Itis acar. 8. This is a book.

5. MECTOUMEHUA
PRONOUNS

Mecroumenre — 4acTb peud, KOTopasi ynoTpeosieTcsi BMECTO UMe-
HU CYLIECTBUTEIBHOIO WX IPHUIIAraTeIbHOrO.

Tun
[Ipumep

MCCTOMMCHMUA
JInuneie:

UMCHHUTEITbHBIH I you he she it we you they

nmaaexK

OOBbeKTHBIA Mafiek | Me  you  him  her it us you them
[IpuTskarenbHble:

| popma my your  his her its our your their
Il popma mine yours  his hers its ours yours theirs
Bo3BpatHbie myself yourself himself herself itself ourselves yourselves
U YCUJIUTEIIHBIC themselves
B3aumuebie each other one another
Vka3zarenbHbie this (these) that (those) such the same
Bompocurensusie | who whom whose what which
1 OTHOCHUTCIIBHBIC
Heonpenenennbie | Some any no none much many little few all
u oTpuiiarensHbie | both  either neither each every one other another

11



Exercise 5. Replace the underlined words with pronouns.
1. The letter is from my friend.

2. Come with John and me.

3. Peter does not know her brother.

4. | am glad to meet both you and Ann.

5. Mike and me often see our friends.

6. Mary likes to play with her dog.

7. Tom calls the Brownes.

Exercise 6A. Choose the correct form of the pronoun.

1. (We, us) are in the laboratory.

2. The building of the University is in front of (we, us).

3. (She, her) is in (she, her) first year.

4. Nick is (we, our) friend.

5. Moscow is the capital of Russia. (She, it) is a large city. (It, its)
streets are wide.

6. What are (you, your) main subjects at the University?

7. Give (I, me) this text-book, please.

8. (Them, their) paper is very important.

9. Can you help (we, us) with these bags?

10. (We, us) usually see (they, them) at the weekend.

11. How did you teach (he, him) to read?

12. (I, me) write to (she, her) once a month.

13. Why did you ask (they, them) to come? (I, me) do not like (they,
them).

14. (I, me) do not think (she, her) understands (I, me).

15. Please do not wait for (we, us).

16. Did (they, them) tell (she, her) the news?

Exercise 6B. Complete these sentences with me, you, her, him, it,
us or them.

1. I cannot open this door. Could you open ... for me, please?

2. Those shoes are really nice. I would like to buy ....

3. — Did you see Jonathon last night? — No, I phoned ... but he was
not there.

4. I cannot do this homework. Can you help ...?

5. Tasked ... a question but you did not answer ....

6. We are not ready. Please give ... some more time.

12



7. She speaks very quickly. I cannot understand ....
8. I am sorry about your birthday. I am afraid I forgot about ....
9. Jill is a very nice woman. Do you know ...?
10. My parents are coming this week. Would you like to meet ...?
11. They are not married now. She left ... a year ago.
12. —Where is your passport? — I do not know. I cannot find ....
13. Were you at the meeting last night? I did not see ... there.
14. We want to help you. Please tell ... about your problems.

Exercise 7A. Answer the questions using the absolute form
of possessive pronouns.
Example: My sister is at home.
— Where is your sister? (at the office)
— Mine is at the office.
1. Our house is in that street. Where is your house? (round the corner)
2. Her bag is on the chair. Where is my bag? (on the sofa)
3. His mother is in the country now. Where is her mother? (in town)
4. My friend is in the library. Where is your friend? (in the laborato-
ry).
5. Your photo is here. Where is his photo? (in the album)
6. Our teacher is in the classroom. Where is their teacher? (at the
Dean’s office)

Exercise 7B. Rewrite the underlined words with an absolute form of
a possessive pronoun.

Example: Is that my newspaper?

Is that mine?

It is not his car. It is her car.
This is a beautiful garden. It is much bigger than our garden.
Can you give this key to Andrew and Melanie? It is their key.
— Whose book is this? — It is my book.
What a beautiful painting! Is it your painting?
Which room is his room?

ok wnE
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6. HAPEYUA
ADVERBS

Hapeune — yactp pedn, KOTOpast ONPENEISIET TJIaro, MpUjiaraTeib-
HOE WJIM IPyro€ Hapeyue.

Tun napeuuns IIpumep
Mecra here  there  inside outside above below
Bpemenu now  then once  ever always often sometimes
seldom  never already usually yet  still since
soon just ago
Mepsl U CTENEHH much  little very too so enough nearly  almost
O06pa3a neicTBust well badly fast quick(ly) slowly easily

Mecto HapeYud B IIPCAJOKCHHHA

1. Hapeune MoxeT pacrnoJyiaratbCsi B Ha4aJle WM B KOHIIE MPEI0-
KECHUA:

Tomorrow they will go there.

2. Hapetn/le HCOIIPCACICHHOI'0O BPpEMCHU CTABUTCS IICPCI I'JIaroJIOM-
CKa3yCMbIM HJIM MCKAY BCIIOMOI'aTCJIbHbIM (MOI[aJ'II)HI)IM) U CMBICIIOBBIM
TJ1arojiomM:

He often comes early.

We will never forget it.

| can always prove it to be true.

OHaKO 3TH HApeUHsl CTaBATCS TMocie riaroia «to bey:

He is always here at five o’clock.

3. Hapeuust oOpa3za neicTBusi CTaBITCS MOCIE TJarojia-cKazyeMoro
I IIPAMOIO JOIIOJIHCHUA!

He walked slowly.

| answered the question easily.

Exercise 8. Put the adverbs in the correct places in these sentences.
1. (always) Autumn is a pleasant season in New York.

2. (often) They go to the movies on Saturday.

3. (just) He has left.

4. (today) | have seen him.

5. (fast) He is working.

6. (well) You speak English.
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7. (seldom) She can come in time.

8. (too) They will be there.

9. (too) There are many mistakes in your test-paper.
10. (yesterday) I met my school fellow.

11. (hardly ever) We see them these days.

12. (never) They did their homework on time.
13. (usually) I walk to work.
14. (from time to time) We phone each other.

15. (once or twice a month) I go to the cinema.

7. CNPAXEHUE IMAIOJA «TO BE»
PRESENT, PAST, FUTURE SIMPLE

Person/number Present Past Future
1. Sing. I am I was I
Pl We are We were shall (will) be
We
2. Sing You are You were You will be
PI.
3. Sing He (she, it) is He (she, ity was | He (she, it)
PI. They are They were will be
They

Exercise 9. Translate the following sentences into Russian paying

attention to the verb «to bey.
. | am a manager.
. It will be a fundamental discovery.
. A free market economy is rare in the world.

. The appearance of this law is important.

. Early economic thoughts were all about the meaning of wealth.
. Gold and silver are examples of precious stones.

. Another word for ‘idea’ is ‘concept’.
. The population is the number of people in the country.

. My grandmother’s only income will be her pension.

. The money for a month’s work is a person’s salary.

. Early economists thought that a nation without gold was poor.

PO OWoOO~NO Ol WNPEF

el
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Exercise 10. Change the affirmative sentences into interrogative and
negative and translate them into Russian.
. His analysis of the problem was very good.
. It was an independent study.
. 'You are an economist.
. The results were important.
. The question is of importance.
. This information will be interesting.
. The last symposium was of interest.
. Some African countries are very poor.
. These standard methods were useful.
. Their firm will be large.

Exercise 11. Choose the correct form. Translate the sentences into
Russian.

1. 1 (am, are) a first-year student of economics.

2. My friend (are, is) a first-year student of economics too.

3. We (are, am) at the University.

4. Computers (am, are) on the tables.

5. His main subjects (is, are) mathematics, economics and statistics.

6. Peter (is, was) a schoolboy last year. But now he (is, was) not
a schoolboy any longer.

7. My friend and | (are, were) students now.

8. In five years you (are, will be) good specialists.

9. (Last, next) year | was a schoolboy. (Now, last year) | am a student.

10. (Some years ago, in some years) we were beginners in English.

But (now, five years ago, in a few years) we will be good at it.

Exercise 12. Translate the following sentences into English.

1. DTOT 3aKOH OYEHb BaXKEH.

2. O1H (PaKThl IPEACTABISIFOT OOJBIITON HMHTEPEC JJIT IKOHOMHUCTOB.

3. Anam CMUT — «OTeI» COBPEMEHHON YKOHOMHUKH.

4. OTu oTKpHITHS OYAYT BEChMa BaXXHBI B OyIyIIIEM.

5. HarmonanpHast 5KOHOMHKA — 3TO CHUCTEMa YIIPABIICHUS U UCIIOJIb-
30BaHUs PECYPCOB CTPAHBI.

6. Bamu pe3ynbTarhl OyayT BaKHBI JUIS JAIbLHEUIIUX HMCCIIEHO0-
BaHUMU.

7. YuéHbIe-9KOHOMUCTBI — ATO JIOJIM, KOTOpPbIe COOUPAIOT JaHHBIE,
CO3/Ial0T IKOHOMHUYECKHUE MOJIENIA U POPMYIIUPYIOT TEOPUH.

QWO ~NO OIS, WNBE

[
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8. DTOT cTaHIapTHBIN MeTO ] ObLIT OYEHb MOJIE3EH JIsl HAIIETO CaMo-
CTOSITEJIBHOTO MCCIICIOBAHUS.
9. MexnyHapoaHas SKOHOMHYECKas KoH(MEpeHIus ObLla OYCHb
Ba)KHA.
10. Ero mocneaHsst cTaThsi O4YCHh HHTEPECHAS.

8. CYWUECTBUTEJIbHOE B ®YHKUWWX OMNPEOENEHUA
NOUN IN THE FUNCTION OF AN ATTRIBUTE

OnpeneneHre — BTOPOCTENEHHBIM WIEH NPEMAJIOKEHHS, KOTOPBIM
0003HaYaeT MNpPU3HAK MpPEeAMETa M OTHOCUTCS K CYIIECTBUTEIBHOMY.
B anrnmiickoM si3pike B YHKIIUM OTPEICTICHUSI MOKET BBICTYIIATh APYroe
CYILIECTBUTEIIBHOE.

Cy1ecTBUTENBHOE Crpykrypa

Cy1iiecTBUTENbHOE B 00IIEM MafeKe N N...N
0e3 npeyiora (Lemovka CyIecTBUTeNbHbIX) | resource allocation — pacnopenenenue pecyp-
COB

resource allocation decisions — pemenus 1o
pacrpeieieHUI0 PecypcoB

CylecTBUTENbHOE B MPUTSKATEIHEHOM N N

nmajgexe a consumer’s iNCOME — 10X0J] MOTPeOUTENS

consumers’ iINCOMeS — 10X01bI MOTpeOuTENei

Cy11ecTBUTENBHOE C MPEAJIOTOM Npr. N...pr.N
the degree of government restrictions — cre-
IEHb TOCYAApPCTBEHHOI'O PETYIIMPOBAHHUS

[lepeBona: mpunararenbHbIM, CYIIECTBUTENBHBIM (C IPEATIOTOM UIU 0€3)

Exercise 13. Translate the following noun combinations into Russian:

1) market economy; 2) command economy; 3) government interven-
tion; 4) Adam Smith’s analysis; 5) market competition; 6) the United
Kingdom’s coal industry; 7) unemployment rate; 8) money market; 9) bank
account; 10) the 19" century economists.

Exercise 14. Put the second noun before the first, leaving out the
preposition:

1) the students of the college; 2) the program for research; 3) the
system of communication; 4) a room for discussions; 5) a hall for confe-
rences; 6) the building of the university; 7) restrictions of the government;
8) resources of land; 9) forces of market; 10) supply of money; 11) level
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of prices; 12) rise of income; 13) standard of living; 14) increase of prices;
15) market of perfect competition; 16) sources of income.

Exercise 15. Form scientific terms from the following words:
1) law; 2) oil; 3) company; 4) price; 5) fuel; 6) consumer; 7) factory;
8) income; 9) manager; 10) increase; 11) good; 12) economics; 13) quantity.

9. POPMAIJIbHbBIE MOOJNEXALUUNE
FORMAL SUBJECTS
dopmabHOE MOJJIeKAIIEE B aHTJIMHCKOM MPEJI0KEHUU CTOUT Tie-

pea CKa3yeMbIM, T. €. Ha MECTE MOJUJIEXKAILEro, HO HE HECET CMBICIOBOM
Harpys3KHu.

Tun nonexamero [Tpumep

It + be, seem, become, etc. | It is important to know economics. — Baxxno 3HaTh
9KOHOMHUKY.

One + modal verb, One must collect data. — Hy»xHo coOpaTh qaHHBIE.

notional verb One knows one’s duties. — Kaxplii 3HaeT cBOH
o0s:3anHOCTH. / Hamo 3HaTh ¢cBOM O0S3aHHOCTH.

There + be, exist, live, There will be a sale in this supermarket. — B atom cy-

appear, modal verb nepMapkere OyJeT pacpojaxa.

There are various forms of money. — Mmerotes pa3Ho-
oOpasHbie (POPMEI JICHET.

There exist different types of economies. — CymecTBy-
IOT pAa3JIMYHBIC THUIIbI DKOHOMHUK.

There can be no doubt about it. — B stom He mMoxeT
OBITh HUKAKOT'O COMHCHHSI.

[IepeBona: He nepeBOAUTCS

Exercise 16. Translate the following sentences into Russian.

1. There may be different decisions of this problem.

2. There exist many books on this subject.

3. There must be equilibrium between demand for and supply of
goods.

4. In a perfect market there should always be a variety of sellers.

5. In the United States, there live at present over 300 million people.

6. There is considerable unemployment in some economies.
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7. There exists close relationship between minimum wages and
standard of living.
8. Gold is expensive because there is only a very limited supply of it.

Exercise 17. Repeat the following sentences with the subject in the
singular.

1. There are several textbooks on the table.

2. There are a few coins there.

3. There were some computers in this room.

4. There will be a new plant in this town.

5. There were many sources of income.

Exercise 18.

A. Substitute «some» by «many» or «muchy.

1. There are some figures in this book.

2. There is some information about London hotels in this brochure.
3. There are some articles on economics in this journal.

4. This developing country requires some help to build new plants.
5. There are some interesting facts in this paper.

B. Say the opposite with «few» or «little».

1. There were many books on this subject.

2. There will be much information on this process in the future.

3. There are many people on the company staff.

4. There is some progress in your English.

5. There were many ways of doing this job.

6. There are a lot of papers about these phenomena.

7. There was much knowledge about these sciences in the ancient
times.

C. Substitute «some» by «a few» or «a little».

1. There are some interpretations of this phenomenon.
2. There were some difficult problems in this field.

3. There is some money on my bank account.

4. There are some good films on TV tonight.

5. There are some mistakes in this text.
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Exercise 19. Give the question word order with the following
nouns and «there + bey.

Example: any information. Is there any information?

1) any discovery; 2) any new facts; 3) any changes; 4) any difficulty;
5) any definite way; 6) any experimental method.

Exercise 20. Learn the patterns of short reply: Yes, there are some.
Yes, there are many/a few. Yes, there is much/a little. No, there is/are
none. No, there isn’t/aren’t any. Then give short answers to the following
questions:

1. Was there any direct information about these phenomena?

2. Is there any way of resolving your problems?

3. Were there any law of economics in the ancient times?

4. Are there any other schemes providing incentives for industrial
investment?

5. Are there nationalized industries in the United Kingdom?

Exercise 21. Make the following sentences negative with «not
any»/«noy.

1. There were some experimental results in this book.

2. There is some information on unemployment in this paper.

3. There will be some definite difference between standards of living
in the future.

4. There was some analysis of economic data in that report.

5. There are some factors influencing demand for the good.

Exercise 22. Substitute «many»/«much» by an appropriate expres-
sion of large quantity:

for many — a lot of, lots of, plenty of, a great (good) many, a (large)
number of;

for much — a lot of, lots of, plenty of, a great deal of, a large amount of,
a (large) quantity of.

1. There are many mixed economies in the world.

2. There is much money in his bank account.

3. There may be many methods of collecting information on eco-
nomics in some years.

4. In many communist countries there was much central planning.

5. There was much milk produced by the farmers of this region last
year.
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Exercise 23. Translate the following sentences into English.
1. B Hamiem MHCTUTYTE MHOTO KOMIIBIOTEPOB.

2. EcTp 1Ba 3aB0oJIa B 9TOM Maj€HbBKOM TOpPOJIE.

3. B aToM yupexaenun OOJbIOi 1mITar.

4. B Haieii cratbe ObLIM HOBBIE JIAaHHBIE 00 ATUX IIPOIlECcCax.
5. B aroii kHMre OpUI0 Mao HOBOM MH(OPMALIUH.

6. B Hacrosiee Bpemst HeT OOBSICHEHHS TOMY SIBJICHHIO.

/. B mpo1iyioM He ObUIO0 HUKAKUX JaHHBIX MO 3TOMY BOIPOCY.

10. CNPAXEHUE TTNATONA «TO HAVE»
PRESENT, PAST, FUTURE SIMPLE

Person/number Present Past Future
1. Sing. I I |
have had shall (will) have
Pl. We We We
2. Sing You have You had You will have
Pl
3. Sing He (she, it) has He (she, it) He (she, it)
had will have
Pl They have They They

Exercise 24. Translate the following sentences into Russian paying
attention to the verb «to havey.

1. I usually have two or three lectures a day.

2. This big store has a number of suppliers.

3. For 40 years after 1945 countries of Eastern Europe had planned
economies.

4. It is necessary to have correct data to make a correct decision.

5. Economics has its roots in early Greece and Rome.

Exercise 25. Change the affirmative sentences into interrogative and
negative and then translate them into Russian.

1. They have great achievement in commerce.

2. Some countries have enormous land resources.

3. You will have some practical experience in business in some
years.

4. The buyer chose goods for which he had enough money.
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Exercise 26. Choose the correct form of the verb «to havey. Translate
the sentences into Russian.

1. In the traditional economy people hunted and gathered and (have,
had) no property.

2. Any economic system (have, has,) its benefits and drawbacks.

3. People on low incomes spend all the money which they (have,
has) on daily necessities.

4. 1 (had, will have) no time yesterday.

5. He (has, will have) his scientific paper ready tomorrow.

Exercise 27. Translate the following sentences into English.

1. Bce Hayku UMEIOT CBOM OOBEKT U METO/bI aHAJIU3A.

2. Kutait umeeT pacTyuryro SJKOHOMUKY.

3. DTa KOMIIaHHsS UMEET 3aBO/Ibl B Pa3HBIX CTpPaHaX.

4. Hauuu MMEIOT pa3Hble YPOBHU CEIbCKOXO35IMCTBEHHOTO MPOU3-
BO/JICTBA.

5. B XVI Beke JIoH10H nMesT MOHOTIOJIMIO TOPTOBJIM C KOJIOHUSIMH.

11. MHOIFO3HAYHOCTb CIOBA «IT»

CioBo «it» B QHIIIMICKOM S3BIKE SIBISETCS MHOTO3HAYHBIM, YTO
BJIMSIET HA €T0 MEPEBOI.

DOyHKIMSA ITepeBon [Tpumep
VkazareabHOe MECTOMMEHHE 9t1o What is it?
JIuuHoe MecTOMMEHHE OH, oHa, OHO Where is your book? It is here.
dopmabHOE Mo IIeKaIIee He nepeBoautcs It is necessary to study this
market.
YacTh yCHIUTEIHHON HMmeHHO, THUIIE, It is the act of spending that
KOHCTPYKIIUH TOJBKO influences the prices.

12. MHOITO3HAYHOCTb CJIOB «THAT»/«THOSE»

Crnosa «that»/«those» BBIIOIHSIOT B aHIJTUHCKOM SI3BIKE Pa3JIMUHbBIC
GyHKUHUU.

DOyHKIMA ITepeBon [Ipumep
VkazarenpHoe To, Te That was an important
MECTOUMEHHUE discovery.
(moanesxariee) Those were important

discoveries.
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OkoHyanmne

DyHKIUA IlepeBon IIpumep
Vka3zareapHoe Tor, Ta, TO, TE That lecture is interesting.
MECTOMMECHHE Those lectures are
(onpenencuue) interesting.
3amecTuTeIh CyIIecTBUTEIILHOE WITH The price of tin is higher
CYIIECTBUTEILHOTO | HE MEPEBOIMUTCS than that of copper (that = the price).
Yacte yeunuteabHoi | IMEHHO, JIUIIb, TOIBKO It is the act of spending that
KOHCTPYKIIUU influences the prices.

Coro3 KoTtopsrit The problem that ...
(MpUIATOYHOE OTIPEICITUTEIHHOE)
UYro We know that ...
(mpumaToYHOE TOMOIHUTEIHLHOE)
To, 4ro That this theory ...
(mpuIaTOYHOE MOJICKAIIIEE)

O6opot «that is» To ecth Such money lacked liquidity, that

is the ability to circulate freely.

Exercise 28. Translate the following sentences into Russian paying
attention to the words «it», «that/those».
1. Study foreign languages, it is important to know them.
2. Economists test theories using empirical evidence. It is evidence
that can be collected and measured.
3. Areas that rely on summer tourism suffer serious unemployment
during the autumn and winter months.
4. Those specialists graduated from our University five years ago.
5. That is the most interesting book that | have ever read.
6. One of the things that people discover every day is that you can’t
have everything. You are reminded of it every time you go shopping.
7. Poverty is a global problem. Though it is mainly associated with
developing countries, to some extent, it also exists in developed countries.
8. It is not easy to run a big company.
9. It was in this country that a large scale production of synthetic
rubber was first organized.
10. Economics uses models to understand economic problems, but it
Is not possible to include all the details in a model.
11. That lecture will give much more information than any book.
12. We consider it important to know English well.
13. It was this discovery that laid the foundation for a new science.
14. I know that there are a lot of new trends in modern science.
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15. If a person runs a private business, his work is partly that of an
employer and partly that of a worker.

16. It is this new system of management that gives the best results.

17. 1 am afraid that | am not qualified to answer this question.

18. It seems desirable to check this result.

19. It was our director who spoke about the losses of the company.

20. | am familiar with that problem. Many scientists are working on it.

21. We look forward to the meeting that will take place next week.

22. That those data fit our theory speaks in their favor.

23. The phenomena are identical with those mentioned above.

24. Education, health, housing, that is public goods, are provided by
the state for all or most of the population.

25. This company is big. It provides fuel for many plants.

Exercise 29. Prefix the following infinitive phrase with suitable
it-phrases listed below. Translate into Russian.

Example: ... to talk to him.

It was interesting to talk to him.
.. to answer all these questions.
.. to study new theories.
.. to predict the behavior of a banking system.
.. to use new methods.
.. to formulate laws.
.. to observe certain conditions in the economy.

7. ... to process the data.

It- phrases it was (un)important; it is (un)necessary; it will be
(im)possible; it was useful/less; it is (un)desirable; it will be (in)sufficient;
it was (non)essential.

o0k whE

Exercise 30. Prefix the following clauses with suitable it-phrases
listed below. Translate into Russian.

Example: ... if/whether there is another such possibility.

It is important to show if there is another such possibility.

.. if our results are valid.
... whether they will discover some new phenomena.
.. if our efforts will lead to any results.
... Whether this condition is typical.
.. if they face the same difficulties.

G0N E
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6. ... whether these factors of production are interrelated.

7. ... 1f he criticized our plan.

It-phrases: it is interesting to know; it is curious to learn; it is
Important to show; it is necessary to clear up; it is possible to find out; it is
impossible to foresee; it is useful to understand.

Exercise 31. Complete the sentences with infinitive phrases or object
clauses introduced by if/whether.
Example: It is essential ...
It is essential to understand this law.
It is not clear ...
It is not clear whether this theory will hold true.
1.1t is unclear ... 2. It was questionable ... 3. It will be doubtful ...
4.1t is easy ... 5. It will be difficult ... 6. It was necessary ... 7. It will be
important ... 8. It is pleasant ... 9. It was natural ...

Exercise 32. Use «it is/was ... who» to emphasize the subject.
Translate into Russian.

Example: Adam Smith laid the foundation for modern economic
theory.

It was Adam Smith who laid the foundation for modern economic
theory.

1. John Keynes demonstrated that it was possible for total supply
and demand to be at equilibrium at a point well under full employment.

2. Alfred Marshall wrote his book «Principles of Economics» in 1890.

3. Ernst Engel showed that there was a direct relationship between
the kinds of goods and services bought and the income of the purchaser.

4. David Ricardo demonstrated the advantages of free trade.

5. In his «Essay on Population» Thomas Malthus warned of the dire
consequences of uncontrolled population growth.

Exercise 33. Speak about people who made substantial contribution
to economics. Begin your sentences with «It was ... whoy.

Exercise 34. Use «it is/was ... that» to emphasize the subject, the
object and the adverbial modifier in the following sentences.
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A. The subject.
Example: This discovery laid the foundation for a new science.
It was this discovery that laid the foundation for a new
science.
1. Crop farming is very important for every economy.
2. These ideas are basis of our approach.
3. Industries of the primary sector process resources.

B. The object.
Example: The economist studies consumers’ behavior.
It is consumers’ behavior that the economist studies.
1. The plant produces many different machines for farmers.
2. Mining industry provides resources for manufacturing branches
of economy.
3. People produce goods and services.

C. The adverbial modifier.
Example: Dr. Sinclair works at Oxford University.
It is at Oxford University that Dr. Sinclair works.
1. The growth of trade is very quick in this country.
2. In industrialized countries the service sector grows very fast.
3. You will get better results by using the other method.

Exercise 35. Translate from Russian into English.

1. Yro 3T0? DTO HOBBIM OaHKOMAT.

2. [Ipeanpusitue — 3T0 €AMHUIA TPOU3BOACTBA U YIIPABIICHHUS.

3. Ctpanbl, KOTOpBIE OOTaThl 3eMJIEH, MPOU3BOIAT MPOTYKTHI ITUTAHUS.

4. VIMEHHO CEKTOp YCIIyT OBICTPO PACTET B MPOMBIIIJIEHHO PA3BUTHIX
CTpaHax.

5. EMy HOTpe6OBaJ'IOCB IIATH JICT, YTOOBI HU3YYUTH OTO SABJICHUC.

6. DT naHHbBIE OOJIee TOJIHBIE, YeM JTAHHBIE APYTUX YICHBIX.

/. 3T0 OYEHb BaXKHBIN CEMHHAP, KOTOPBI MbI HE MOKEM MPOITYCTHUTh.

8. He xto nHOMH, KaK ero oTell, Ky MOEMY IPyTy aBTOMOOHIIb.

9. TO, YTO 3TOT yquBIﬁ 3HACT TaK MHOI'O A3BIKOB, TOBOPUT B €TI0
MOJIB3Y.

10. COBepH_IeHHO SICHO, 9YTO Balll 9KCIICPUMCHT OBLI YCIICITHBIM.
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13. ®YHKUUN CITOBA «ONE»

C10BO «ONe» B aHTJIMMCKOM SI3BIKE SIBJISICTCS MHOTO3HAYHBIM.

DOyHKIMSA [TepeBon [Tpumep
YuciuTeapHoe Onun One method.
3aMecTHTENb CyIIeCTBUTENBHOE This paper is better than that one.
CYIIECTBUTEIHHOTO WK HE TIEPEBOIUTCS
dopmanbHOE He nepeBoautcst wiu: One can check the result.
HOJIJIe)KAIIEe CKAKBIN, «BCSIKUID»

Exercise 36. Translate the following sentences into Russian paying
attention to the words «one/ones».
1. One thing in which workers are different is human capital.
2. Commodity markets are ones where manufacturers can buy raw
materials and other products around the world.
3. One of the ways a bank earns its living is by charging interest.
4. One can be more economical buying large quantities of a good
rather than small quantities.
5. The production cycle for manufacturing Coca Cola and some oth-
er drinks in Russia is not the same as the one in West Europe.
6. One should know that present-day economists, unlike economists
of the 19" century, include land in capital.
7. One has to replace inputs used up in one production cycle.
8. A consumer good such as a television, which is used over a long
period of time, is called a durable one.
9. Labor efficiency can vary greatly from one enterprise to another.
10. It is necessary to replace this inefficient equipment with the new one.
11. The City of London is one of the biggest financial centers in the
world.

Exercise 37. Answer these questions.
Example: Is management a new or an old science?
It is not an old science. It is a new one.
1. Was that frictional or structural unemployment?
2. Is it a free economy or a planned economy?
3. Did «Keynesian Revolution» come into being in the first or second
part of the 20" century?
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4. Has Adam Smith made a small or tremendous contribution to
modern economics?
5. Does this firm deal in perishable or durable goods?

Exercise 38. Express a similar idea with «oney in subject position.
Example: It is necessary to keep to the point.
One must keep to the point.
1. It is always possible to find a way out.
2. It is essential to observe certain experimental conditions.
3. It is important to make a conclusion from these data.
4. It is useless to do many things at a time.
5. It is unreasonable to put off this work.

Exercise 39. Add «it», «there» or «one» in subject position.

.. 1s difficult to speak English correctly, don’t you think?

.. can apply the above principle without risk.

.. 1s a relationship between demand and price.

.. was convenient to use this method.

.. 1s a lot of information about this phenomenon in literature.
.. should know the difference between these systems.

SN -

Exercise 40. Rewrite the following paragraph using the word «one»
in place of «you» and making other necessary changes.

You have to do your homework. You have to translate an English
text. First of all you prepare your desk: you switch on your computer and
open the translator. It may be ABBYY Lingvo or another one. Then you
read your English text and find the words that you do not know in the
translator. You put them down into your vocabulary notebook. Your
homework is done.

Exercise 41. Translate the following sentences from Russian into
English using the word «oney.

1. Hamo BBIpakaTh CBOM MBICIIH B CKATOM U SICHOU (popme.

2. DTOT METOJ JIyUIlle, YeM TPEAbITYITUH.

3. 51 xo4y OMEHATH CBOM KOMITbIOTEP. I ObI XOTEN KYNMHUTHh KOMITb-
I0Tep KaK y TeOsl.

4. OnHa u3 3ama4 Jr000ro IMPaBUTENIBCTBA — ATO POCT IKOHOMHUKH
CTpaHBbI.
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5. Kaxnpiii (4enoBek) MOXKET ObITh B OJHOM M3 TPEX CHUTYyaIUM:
UMEIOIINKA paboTy, 0€3padOTHBIN U HE BXOISIINI B TPYJOBBIE PECYPCHI.

6. DxoHOMST, MOKynasi OOJbIlIe TOBApA.

7. IIpon3BOAUTENBHOCTD TPY/Ia MOXKET CHIIBHO pa3jinyaThCsl HA pas-
HBIX TIPEANPUITHSX.

8. Pabounit B Coequuénnom KoponeBcTBe 3apabaThiBaeT OoJIbIIIe,
yeM padbounii B UHuw.

9.T'epmanmss — ogHA W3 JUAUPYIOMIMX POMBIIUICHHO Pa3BUTHIX
CTpaH MHpA.

10. MHoraa nepuoa Aenpeccuu MOXET ObITh JOBOJIBHO JJIUTEIIHHBIM.

14. CTENEHUA CPABHEHUA NPUNATATEJIbHbIX
U HAPEYUN

DEGREES OF COMPARISON OF ADJECTIVES
AND ADVERBS

MHorue npunararteibHble U HAPEUYHsl B aHIIIMKACKOM S3BIKE UMEIOT
CTENIEHU CPaBHEHUA, KOTOPbIE 00PA3yIOTCS MO OJTHUM U TEM K€ IIpaBUiIaM.

Tun Crenenb
IlonoxurenpHas CpaBHI/IT CJIbHas Hp €BOCXOAHas

OHOCITIOKHBIE long longer longest

large larger largest

big bigger biggest

easy easier easiest

early earlier earliest
MHOT0CI0XKHbIC important more important most important

slowly more slowly most slowly
HckmroueHust good better best

well better best

bad worse worst

little less least

many more most

much more most

far farther farthest

(further) (furthest)
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15. CPABHUTENbHbIE KOHCTPYKUUA

Jns cpaBHEHMsI KayecTBa IMPEIMETOB WIM SIBJICHUU HCIOJIB3YHOTCS
CHEAYIOIINE KOHCTPYKIIUU.

Tun KOHCTpYKIIMHU [Ipumep
as ... as This result is as good as that one.
not so/as ... as This result is not so/as good as that one.
than The result of the experiment is much better than that of the
previous one.
the .. . the The more we study more we know.

Exercise 42. Translate the following sentences into Russian paying
attention to the degrees of comparison.

1. These were the worst results in my research.

2. This point of your report is less important than that one.

3. All of the earlier hypotheses were quite unable to explain this
phenomenon.

4. It is one of the best methods at present.

5. Computers are the most reliable machines for making calculations.

6. Any economic system has its benefits and drawbacks. The biggest
drawback of the traditional economy is the fact that people consume almost
everything they produce.

7. Division of labor and specialization make the manufacturing
process more efficient and productive.

8. We assume that the consumer prefers to have more of a good rather
than less.

9. The lower price results in additional demand.

10. America’s strong demand for automobiles explains why auto
workers have historically been among the highest paid workers in the
world.

11. A decrease in input prices makes the production less expensive.

12. Land quality is more important for agriculture than for other
industries.

13. The rate of unemployment in tourist areas is higher than in highly
industrialized ones.
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Exercise 43. Change the positive statement into negative and vice
versa using «as ... as» Or «not so/as ... as». Make some other changes if
necessary.

1. This interpretation is as good as the other one.

2. Our studies are not so fruitful as theirs.

3. This method is not as practical as that one.

4. Only when demand equals supply, people can buy or sell as much
as they want.

5. Every firm wants to sell as many goods as possible.

Exercise 44. Make sentences with the adjectives and adverbs in the
comparative degree and «thany.
1. Sorry I am late. It took me ... to get here ... I expected (long).

2. The problem is not so complicated. It is ... ... you think (simple).

3. Your English has improved. You speak much ... ... ... you did
when we last met (fluently).

4. This method is ... ... that one (new).

5. He has ... scientific training ... his colleagues (good).

6. The degree of profitability in private enterprises is ... ... in the

public sector (high).

Exercise 45. Add «thany», «then» or «that». Translate the sentences
into Russian.

1. He was a student ....

2. Easier said ... done.

3. We took a bus to the city centre and ... caught a train to London.

4. 1 have the impression ... our latest results are rather questionable.

5. This method seems more suitable ... ... used in the recent inquiry.

6. There are a lot of factors in agriculture ... must be assumed as
risks by farmers.

7. Command economy relies more on planning ... on prices.

8. Government regulations sometimes impose a change in technology
... producers do not want to use.

9. Private sector in a mixed economy is ... part of the economy ... is
controlled by private firms, not by government or corporations.
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Exercise 46. Complete the following sentences to make «the ... the»
type of comparative construction. Translate the sentences into Russian.

NGk WNE

The shorter is the distance, ...

The clearer the definition of a phenomenon, ...
The more complicated is the problem, ...

The less we know, ...

The narrower the research problem, ...

The more accurate the calculations, ...

The more money a person earns, ...

The higher the demand, ...

16. HETbIPE OCHOBHbIE ®OPMbI ITIAIOJA
THE FOUR BASIC FORMS OF THE VERB

AHrIMiCKU raaroj uMeer 4 OCHOBHBIE (DOPMBI, KOTOPBIE B COUETA-
HUU CO BCIIOMOTATEIbHBIMU TJIaroiaMu oOpa3yroT CUCTEMY BpeMeH Aeil-
CTBUTEJILHOTO U CTPAJATEIBHOIO 3aJI0Ta.

OcHoB- | CootBercr- | XapakTepHble ITpa- Pycckue | Hempa- Pycckue
HBIC BYIOIINE NpPU3HAKU BUJIBHBIC | COOTBET- | BHJIbHBIC | COOTBETCT-
dbopmbl /Pl /E/:/P/ TJ1aroJibl CTBUSI | TJIaroJibl BHSI
/E/*
Infinitive | WupuaU- | «tO»: —Th, —TH to play urpaTthb to write | nucatb
(V) THUB
Past [Ipomen- | mpaBHIBHBIN play-ed | urpan wrote nmcal
Simple 1ree riaron -ed: -1
(V2) BpeMs HENPABHIIbHBIIN
TJ1aroa 9. -1
Participle | IIpuyactue | -ed: -eHH- play-ed | cerrpan- | written | Harmcan-
I(Vs) MpOIIeAIIe- -aHH-/-THH- HBIi HBII
ro BpEMEHHU -T-
Participle | Ipuyactue | -ing: -am-/-sm- | play-ing | urpa- writ-ing | mumrymmit
I (V) HaCTOsIIIe- yIII-/-FoII1- 0IH i
ro BpEMEHHU

" |E/ — English; /P/ — pycckui.

Hwxe npuBenens! Tabnuita 00pa3oBaHus BUAOBPEMEHHBIX (DOpM Tiiaro-
Jla ¥ CBOJIHAs TabuIia yrnorpeOieHus: BpeMeH (M3bsIBUTEIIHHOEC HAKIIOHCHHE).
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17. OBPASOBAHUE BUOOBPEMEHHbIX ®OPM TTIATOJIA
(CXEMA ®OPMAJIbHbIX NMPU3HAKOB CKA3YEMOIO)

Tense Active Voice Passive Voice
Present Past Future Present Past Future
Simple V" Shall Am Was Shall
VZ* V]_ Is V3* V3 be V3
Vi (e)s Will Are Were Will
Continuous | Am Was Shall Am Was
Is V, V, be V, Is being Vs being V; -
Are Were Will Are Were
Perfect Have Shall Have Shall
Vs Had V; have Vs been V; | Hadbeen V3 | have been V;
Has Will Has Will
Perfect Have Shall
Continuous been V, | Had been V, have beenV, - - -
Has Will

* V1, V2, V3, V4 — OCHOBHBIE (hOpMBI TJIaroJioB.

Exercise 47. Describe the same habitual or repeated actions in the
Past Simple Tense.
1. We often meet at international conferences.
2. This scientist always deals with interesting problems.
3. | generally begin my paper with a review of data.
4. Professor Smith puts forward a new interpretation of this
phenomenon.
5. Nokia sells mobile telephones.
6. You always give a thorough analysis of the results.
7. His colleagues hold their meetings at the conference hall.
8. Dr. White writes formulas on the blackboard.
9. The government plays an important role in allocating resources in
the economy.
10. He usually keeps his word.
11. We make an attempt to interpret the results.
12. | have much trouble with collecting data.
13. Dr. Brown does some research of the market.
14. | understand what you mean.
15. | send them business letters every day.
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Cpoanas Tabuna ynorpedJjeHnuss BpeMeH

Active Voice to ask

Simple Continuous
to ask (V) / asked (V) to be asking (V,)

Present Past Future Present Past Future
ask(s) asked shall am was shall
do/does did ask Is asking asking be

will are were asking
will
YnorpeodJenue

JetictBre kak (akT (oObIYHOE,
MIOCTOSTHHOE, TTOBTOPSIFOIIICECS] )

JleicTBue Kak mporecc
(HEe3aKOHUYEHHOE, JJIAIIEeCs )

usually yesterday tomorrow now at 4 o’clock,
every day last week next week from 6 o’clock till 7
often sel- 5 days ago o’clock

dom

sometimes JIPyToe JIeHCTBHE
IlepeBoa

['maros HecoBepIIEHHOT0/COBEPILICHHOTO

BHUaA:

4TO JIear0, YTO JAejall, 4TO CAEIal, 4TO
Oymy Aenarthb, 4TO clea?

['maron HecoBepIIEHHOTO BHU/IA:
4TO Jenaro, Aenal, Oyay Aenarh?

Passive Voice

to be asked (Vs)

to be asked (V3

to be being asked (V5)

am
IS
are

asked

was
asked
were

shall
be asked
will

am was

IS being being —
asked asked

are were
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(I/I3T>HBI/ITCJILHOG HaKJIOHeHPIe)

Perfect Perfect Continuous
to have asked (V3) to have been asking (V)
Present Past Future Present Past Future
have had asked shall have had been shall
asked have been | asking have
has asked asking been
will has asking

will

JleiicTBUE, MpeIIecTBYIOIIee KAKOMY-TO
MOMEHTY, CBSI3aHHOE C HUM

JleiicTBue, HaYaBIIIEECS B MPOILIOM
U TIPOAOJIKAIOIIEECs BILIOTh O KaKOTO-
HUOYTb MOMEHTA

today

this week
already
ever, never
just, not yet

by 4 o’clock

JIPYyTroe NEHUCTBUE

for — B Teuenue
since — ¢
(ever) since — ¢ Tex mop Kak

I'maron COBEPILIEHHOI'O BUJA

MIPOIIEIIIETO
BpEMCHHU
YTO CHea?

4TOo
crenar?

I'maron HECOBEPIICHHOI'O BU/IA:
YTO JeJIat0, YTO JeJai, 4To Oyay aenaTh?

to have been asked (V3) —
have had been shall
been asked have been —
asked asked
has will

IIpumeyanue. Tlpu cormacoBaHUM BPEeMEH B (YHKIHH BCIIOMOTaTEIbHBIX
rJIarojioB ynorpeoisrorest popmsel npomemamero Bpemenu ot shall u will — should

u would.
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Exercise 48. Translate the following sentences from English into
Russian paying attention to the tense of the predicates.
1. What have you read in English this year?
2. We are now looking for an optimal solution, since there is a choice.
3. Nowadays it has become evident that neither of these hypotheses
turned out to be true.
4. How long had you been studying English before you went to
England?
5. They will obtain the desired information due to an additional
series of tests.
6. When | got to the meeting, the lecturer had already been speaking
for half an hour.
7. 1 have been using this dictionary since | began to learn English.
8. Dr. Green will have written a scientific paper by the end of the week.
9. All through world history people and countries have been trading
with each other.
10. Have you read some literature on foreign trade lately?
11. The company has not made a decision to start producing new
machines yet.
12. How long will you have been studying at this university by the
1% of June?
13. Economists collect data and on the basis of this data they create
economic models.
14. 1 know that she was teaching economics last year.
15. Economy does not usually rely entirely on planning.
16. All present industry is becoming more capital intensive and less
labor intensive.
17. Russia’s foreign trade turnover has been rising lately, and
exports have been growing in value much faster than imports.
18. The Great Depression changed attitudes to the science of eco-
nomics.
19. For many years, in our lives and in the economy, money, coins,
banknotes and credit cards have been playing a very important role.
20. According to the law of demand, as the price for the good rises,
the demand for it falls.
21. J.M. Keynes was a famous economist.
22. The fashion for mini-skirt reduced the demand for textile materials.

36



23. Auctions are becoming very popular, for example, on the Internet.

24. There has been some rise of income in the past two decades in
developing countries.

25. In the United Kingdom the gross national product (GNP) is
growing faster than the population.

Exercise 49. Open the brackets. Use the Past Simple or Present
Perfect Tenses. Translate into Russian.

1. He (to give) his first lecture in banking in 2002. He (to become)
a brilliant lecturer since.

2. We first (to observe) this effect in 2008. We (to make) good
progress in studying it since.

3. | (to come) to work at this university in 2006. I (to publish) eight
papers since.

4. Some years ago my friend (to read) a book on the history of
economics. He (to be) interested in studying economics since.

Exercise 50. Confirm the following statements by reference to the
exact time in the Past. Translate into Russian.

Example: You have read this article, haven’t you?

Yes, | read it last week.

1. He has recently written a scientific paper, hasn’t he?

2. You have met Dr. Green, haven’t you?

3. Some of them have been to this country, haven’t they?

4. His book on this problem has lately come out, hasn’t it?

5.You have had much practice with native English speakers,
haven’t you?

Exercise 51. Use the Future Simple Tense or the expression «to be
going to» of the verbs in brackets. Translate into Russian.

1. | (to start) my paper with the statement of the problem.

2. My paper (to consist) of several sections: an introduction, discus-
sion of the materials and methods, consideration of the experimental
results and conclusions.

3. In the introduction | (to outline) the present state of research in
the field of food market.
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4. Discussion of the methods (not to take) much space because most
of them are standard.

5. Consideration of the new results (to require) a thorough analysis.

6. In the conclusion | (to discuss) possible applications of the obtained
results.

Exercise 52. Choose the correct form of the verb given in brackets.
Translate the sentences into Russian.

1. (Do/does/did) you attend any scientific conference last year?

2. What (is/are) your plans for the coming years?

3. What (was/will be) the subject of your next seminar talk?

4. (Did/have) you ever (visit/visited) English-speaking countries?

5. He (give/gave) me some good advice.

6. Prices (regulate/regulates) consumption and production in a market
economy.

7. Adam Smith’s work «Inquiry into the Nature and Causes of the
Wealth of Nations» (come/came) out in 1776.

8. We (have attempted/attempted) recently a study of the food market
in our city.

9. Adam Smith and other classical economists (was/were) writing at
a time of great change.

Exercise 53. Choose the correct form of the adverbial modifier given
in brackets. Translate the sentences into Russian.

1. We did food market research (now/last week).

2. The manager is (now/lately) facing a difficult dilemma.

3. What well-known scientists have you met (in a year/recently)?

4. (Next time/last time) Dr. Smith described his new experimental
technique.

5. Have you had any practice in English (a year ago/lately)?

Exercise 54. Translate the following sentences from Russian into
English.

1.B HaCTOAMICC BPpEMA KOMIIBIOTCPBI HAXOAAT HIMPOKOC IMPUMCHC-
HHE B HAYKE U IIPOU3BOJICTBE.

2. Uadasuust CUIbHO COKpaIaeT CIpoc Ha TOBAPHI U YCIIYTH.

3. Uto BBI coOMpaeTech AenaTh B HeIaIeKoM Oy ayriemM?
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4. HegaBHO MbI KyIWJIM KHHUTY TI0 MEHEI)KMEHTY.

5. Sl maHupyro BCKOpPE 3aKOHYUTH 3Ty padoTy.

6. OH ucnoNIb3yeT AJaHHYIO0 METOJUKY C T€X MOp, KaK Hadasl U3y4arh
ATU SIBJICHUSL.

/. JTronu BIiepBBIE HAYAIM TOPTOBaTh MHOT'O BEKOB Ha3aj.

8. 4 yxe uzydaro 5KOHOMUKY B TEUCHHE IIATHU JIET.

9. MBI OKOHUHUM SKCIIEPUMEHT K CpeJIe.

10. Beimyck mpoAyKIMK 3aBOJIa YMEHBIIAJICS C KaKIbIM TOJIOM.

18. MOOAJIbHbIE TNArojfibl 1 X 3KBUBAJIEHTbI
MODAL VERBS AND THEIR EQUIVALENTS

B oTnuume oT mpyrux riarosioB monanbHeie riaaroisl (Model Verbs)
He 0003HAYAIOT JEHCTBUE WM COCTOSTHUE, a JIMIIIb OTHOIIIEHUE TOBOPSIIIE-
ro K JCWCTBUIO, BBIpAXKEHHOMY MH(QUHUTHBOM. B coderanum ¢ 3TUM
WHOUHUTUBOM MOJAIBHBIA TJ1aroa o0pa3yeT CIO0XKHOE TIarojibHOE MO-
JadbHOE CKazyeMoe.

[ToMmruMo 0coOOro 3HA4YEHHUS MOJATbHBIC TJIArOJIbI OTJIMYAIOTCS OT
JPYTUX TJIAr0oJI0B emie psigoM 0COOCHHOCTEH.

1. 3a uckmoueHueM riarosioB can (could) m may (might) monans-
HBIC TJIarojbl UMEIOT TOJbKO omxHy ¢Gopmy. Hemocraromme ¢dopmsl mpo-
HIeAmero u OyayIiero BpeMeHH BOCIIOHSIOTCS SKBUBAJICHTAMH MOJANb-
HBIX IJ1arosios: can = to be able (to), may = to be allowed (to)/to be permit-
ted (to), must = to have (to)/to be (to).

2. UHGUHUTUB CMBICIIOBOTO TJIarosia, CISAYIOIUM 3a MOJaTbHBIMU
riaroiamMu (3a UCKJIFOUEHHEM riiaroja ought), ymorpebisiercss 6e3 JacTu-
bl to.

3. B BompoCUTENpHBIX M OTPHUIATEIBHBIX MPEIOKEHUSIX MOIAITb-
HBIE TJIarojibl yImoTpeOssitoTcss 0e3 BCIOMOTraTelbHOIo Tiarosia (Kpome
have t0). B BonpocuTenbHOM MIPEIIOKEHUN ePeT O IISKANUM CTaBUTCS
caM MOJJIBHBIN TJ1aroj, B OTPUIIATEIILHOM MPEJIOKeHUH NOt mpucoeu-
HSIETCS K MOJAJIbHOMY TJIarofy.

Can | take your book?

You should not talk at the lecture.

MopaJibHBIE TJIaroJibl UMEIOT JIBE OTPUIIATeIbHBIE (DOPMBI. TMOJTHYIO
U KPaTKyo:
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must not — mustn’t;
may not — mayn’t;
cannot — can’t.

OtpunarenbHas yactuna (*) mUIIeTcs CIMTHO.
MojabHbIe IJ1aroybl He U3MEHSIIOTCS 10 JIMIAM U YMClIaM B HE UMEIOT
okoHuaHus -(€)S B 3-M JuIle €IMHCTBEHHOTO 4uciia B Present Simple

Active.

Y MOJabHBIX TJArojioB HET HEIMYHBIX PopM — HHOUHUTHBA, TTPHU-
4acTUsl U TE€PYHIIUs, a CJIEIOBATEIbHO, HET U AHAIMTUYECKUX BHUIOBpE-
MEHHBIX (OpM.

Hwxe mpuBenena tabnuiia HanboJiee pacpOCTPAHEHHBIX MOIAIb-
HBIX IJ1aroJioB. can, may, must, should, ought (to).

Bun Mopans- Bpewms
MOJalb- HEIU TJIaroj1
HOCTH H ero Hacrosmee [Ipomenmee Bbynymee

OKBUBAJICHT

Bo3mox- | can =to be can could shall

HOCTh able to am was be able to
MOYb, yMeTh | IS > able to able to will

are were

may =
=to be may might shall
allowed to, am was be allowed to
to be per- is } allowed to } allowed to will
mitted to are were
MO>KHO am was shall
(pasperire- is | permitted to permitted to be permitted to
HHE) are were will

Homxect- | must must

BOBAaHUC JTOJIDKCH
to have (to) | have to had to shall
TTOJKEH has to . have to
(B cuy will
00cTos-
TEJIbCTB)
to be (to) am to was to _
JIOJKEH is to were to
(mo rrany) | areto
should = should - -
=oughtto | oughtto
JOJIKEH,
clenyer
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Exercise 55. Make these sentences interrogative and negative and
translate them into Russian.

1.
. The students must have exams twice a year.

. You should use another approach.

. They have to change the plan for the experiment.

. The researcher is able to describe the aim of his investigation.
. We are to complete the work by next year.

. He may take part in this discussion.

. You ought to be more careful.

. We are allowed to use a new technique.

. He has to work long hours.

QWO ~NOOUILhWDN

|

The firm can pay its debts.

Exercise 56. Change the following sentences into the past and future
tenses using the equivalents where necessary. Translate the sentences into

Russian.
1.

. The sales manager is to make a report.

. YOu may use my computer.

. He must repeat the experiment.

. You have to answer my question.

. We are not able to find an error in the calculations.

. Students are not allowed to miss the seminars.

. The questionnaires are to be analysed.

. | must change my plans.

. The method is not to be recommended.

CQ OWOoONOOUILDWDN

|

Can you realize all the difficulty of the problem?

BTOpI/I‘IHOG JHAYCHHUEC MOAAJBbHbBIX I'J1aroJioB

Kpome mepBHYHBIX 3HAUYEHUN BCE BHIIICTICPEUNCIICHHBIC MOJAIbHBIC
TJIaroJibl MOYKHO HCIIONB30BaTh JJISl BBIPAXKEHUS CTETICHM BO3MOKHOCTH
WJTH BEPOSTHOCTH COBEPIIICHUS ACHCTBUS.

[TepdhexTHBI HHPUHUTUB TTOCIIE MOJAIBHOTO TJIarojia BCeraa mepe-
BOJMTCS TJIar0oJIOM IPOIISIIIET0 BPEMEHH.

1.

| may have said it.

2. 51, MOXET OBITh, U TOBOPUJI ITO.
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[Tonnexa- | Mopanb- CreneHb
uiee HBII Nudpunutus BO3MOXKHOCTHU Hapeune
raaron’ neiicTBus
might very uncertain
may maybe
could perhaps
you cannot be right/have been right possibly
should more certain probably
ought to evidently
must almost certain
you are/were right certain absolutely

“TlepeBox: (He) MOXKET, BO3MOKHO, BEPOATHO, HABEPHO, IOJKHO OBITh.

Exercise 57. Translate the following sentences paying attention to
the secondary function of the modal verbs.
1. These articles may contain useful information.
. There should be several decisions.
. She might have had a brilliant career but she gave it all up.
. He must have finished his scientific observation.
. He ought to be working at this problem now.
. We may be able to deliver in two weeks.
. It can’t be true.
. He could reply by the weekend.
. This research might be of practical use.
. They cannot have reached the same level of development.

CQ OWOoONOOUOILhWDN

|

Exercise 58. Translate the sentences into Russian. Express the same
idea using the model verbs.

1. Some people are capable of getting well-paid jobs without any
difficulty.

2. It is necessary for the sales manager to increase the company’s profit.

3. Repeat the experiment.

4. It is possible for the firm to win a 5 min. contract easily.

5. Perhaps the data does not produce this effect.

6. Don’t forget to switch off the computer.

7. It is unnecessary for him to stay late at work.

8. It is important to keep this fact in mind.

9. It is impossible that you have read this book. I haven’t published it yet.

10. That was probably a long time ago.
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Exercise 59. Translate the following sentences from Russian into English.
1. Bam ciefyer UcnoJib30BaTh COBPEMEHHOE 000PY/I0BaHUE.
2. CTyneHT AoJikeH OBl 3aKOHYWTh HAlHUCAaHHE KYpCOBOM paOOThI
K KOHILY JieKaOpsl.
3. MoxHO MHE BOCTIOJIb30BAThCS BAIlIUM KOMIIBIOTEPOM?
. Byxrantep 1omKeH HATH OIMOKY B CBOEM I'OJIOBOM OTUETE.
. JIexuus, J0JKHO ObITh, 3aKOHYMIIACH.
. He MOkeT OBITh, YTOOBI OH MCIIOJIB30BaJI 3TOT METO/I.
. BBI HE MOYKETE BOCTIOIB30BATHLCSI DTOM METOIUKOM.
. OH MOXET BBINOJHUTH 3TO UCCIIEIOBaHUE?
. BBl 107KHBI OTBETUTH HA MO BOITIPOC.
10. Kondepenuus goKkHa Ha4aThCA BOBPEMSL.

©O© 00 ~NOo O~

19. CTPAOATEJNIbHbIA 3ANOr
THE PASSIVE VOICE

3HaueHUsl JACUCTBUTEIHLHOTO M CTPAAATEIHLHOTO 3aJI0TOB B aHTJIMK-
CKOM SI3bIKE COBIIQJIAIOT CO 3HAYCHUSAMH COOTBETCTBYIOIIMX 3aJIOTOB B PyC-
CKOM si3bIKe. ['1aron B aeiictBurenbHoM 3anore (Active Voice) moka3biBa-
€T, YTO JICCTBHE COBEPIIIACT CaMO JIMIIO WM MPEAMET, BhIPaXKCHHBIN T101-
JISKAIIUM.

He often asks questions.

OH 4acTo 33J1a€T BOMPOCHI.

I'maron B crpamarenbHoM 3aiore (Passive Voice) o3nawaer, 4To
JCCTBYE HAMPABJICHO HA JIUIIO WJIH MPEIMET, BRIPAKCHHBIHN IO JICKAIIUM.

He is often asked questions.

EMy yacTo 3a1a10T BOIPOCHI.

CrpanarenabHblid 3a70I 00pa3yeTcsl ¢ MOMOIIBIO BCIIOMOraTeIbHOIO
rinaroja to be B coorBercrByromei hopme u Participle 11 (V3) cmbicio-
BOTO TJIaroia.

Aspect Tense
Present Past Future Future-in-the-past
Simple Am Was Shall Should
Is V3 V3 be V3 be V3
Are Were Will Would

43



OkoHyanmne

Aspect Tense
Present Past Future Future-in-the-past

Continuous | Am Was

Is being V3 being V3 — -

Are Were
Perfect Have Shall Should

been V3 | Had been V3 have been V3 have been V3

Has Will Would
Perfect - - - -
Continuous

[Ipu o6pa3zoBaHUM BOMPOCUTENIBHOW (POPMBI TJIAr0Jl CTABUTCS MEPE]
noanexamuM. B orpunatensHoit popMe oTpHIIaHHE CIEAYET 3a MEPBBIM
BCIIOMOTATEJIbHBIM IJIar0JIOM.

A new has been developed.
technique

Has a new technique been developed?
A new has not been developed.
technique

JIro00M aHTIMIICKUIA T1aros, UMEIOILUHI Tocye ce0si AoNoHEeHHe (Tpsi-
MO€, KOCBEHHOE OeCMpeIOKHOE/IPEITIOAKHOE), MOKET yHOTPEOIATHCA
B cTpagarenbHOM 3ajore. [losromy, B OTIMYHME OT PYCCKOTO S3bIKa,
HE TOJIBKO OPSAMOE JOMNOJHEHHE NPEMJIOKEHUS B aKTUBHOU ¢dopme,
HO M KOCBEHHOE (Oectpe/iyIoKHOS/IPEVIOKHOE) JAOMOTHEHUE MOXKET CTaTh
MOJJISKAIUM TIPEIIOKEHHUS B TTACCUBHOM (popMme.

JleicTBUTENBHBIN 3a710T CrpanarenbHsIil 3a710T ITepeBon
| read the book. The book is read (by me). Knura unraercs.
Knury unraror.
He gave me a book. I'was given a book. MHe nanu KHUTY.
We speak much about it. It is much spoken about. 006 >TOM MHOTO
TOBOPAIT.

[Tonnexamiee mpu CKazyeMOM B CTpaJaTelIbHOM 3aJI0T€ MEpPeBO-
JTUTCS CYIICCTBUTEIBHBIM (MECTOMMEHHNEM) HE TOJBKO B MMCHHUTCIIBHOM,
HO U B KOCBEHHOM I1aJieKe (C IpejIorom uin 6e3).
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Cnoco0bI mepeBoaa cCKa3yeMoro B CTpaaTejibHOM 3aJI0Te

1. 'marosioMm «OBITB» M KpPaTKUM CTpaJaTelbHBIM MPUYACTHEM
¢ cy(ppuKCOM -H WJIK -T, T. €. PyCCKUM CTPaJATEIIbHBIM 3aJI0TOM.

2. ['marosioM, OKaHYMBAIOIIMMCS Ha «-Cf1», «-Cb» B COOTBETCTBYIO-
IIEM BPEMEHHU, JIUIIE U YUCTIE.

3. 'marosmomM JeHCTBUTEILHOTO 3aJI0Ta B COOTBETCTBYIOIIEM BpeMe-
HU, 3-M JIMIle MH. YHCJIA, SBISIONMMCS YacThI0 HEOTPEAeISHHO-TMIHOTO
IPEIIOKEHHUS.

4, I'marojioM IE€MCTBUTENIBHOTO 3aJl0Ta B COOTBETCTBYIOIIEM BpeEMe-
HU MPU HATUYUHN JOTIOJHEHUS ¢ TipeyioroM «by» uimu «withy.

The experiments were made last year (by Dr. N).

1. OnpiThl (OBUIN) IPOBEJICHBI B MPOIIJIOM TOJTY.

2. OnbITHl IPOBOJUIINCH B IIPOIILIOM TOY.

3. OnbITH OPOBOJIUIN B MIPOIILJIOM TOAY.

4. Toxtop N mpoBes1 OnbITHl B IPOILIOM TOLY.

Exercise 60. Find the predicate, define its tense form and voice and
translate the sentences into Russian. Make the sentences interrogative or
negative.

1. The results of the experiment are shown in Fig. 12.

2. Numerous classifications have been used.

3. A more careful approach is needed.

4. The large disagreement between the various published data will
be discussed.

5. English is spoken in many countries.

6. The text is being translated at the moment.

7. The conference will be held in May.

8. This method has been reported by several investigators.

9. The theoretical aspects of the phenomenon will be treated later.

10. The advertising manager has been given the sack.

11. In the 19" century economics was called simply ‘the science of
wealth’.

12. Modern economics was really born in the 19" century.

13. The delegation will be headed by the Prime Minister.

14. These toys have been made in China.

15. Nowadays high-technology industries are being developed in the
United Kingdom.
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16. In a planned economy the government decides what is produced,
how much is produced and how and at what price it is sold.

17. East Asian countries are well-known for their technology indust-
ries such as computers and cameras.

18. The ideas of Karl Marx had been studied and discussed by
economists for over sixty years before Russians put them into life.

19. The land used formerly for mining is being transferred to farming.

20. The ideas of Adam Smith, the famous Scottish philosopher and
economist, have been studied by economists for over two hundred years.

Oco0eHHOCTH TEepeBO/Ia CTPAAATEIBHOIO 32J10ra

1. [Ipeasior, cTOSsINMIA MOCJHE TJiarojia B CTPaJaTeIbHOM 3ajiore
Y HE OTHOCSIIUNCS K CIEAYIOIIMM 32 HUM CJIOBaM, MPU MEPEBOJE CTABUT-
Csl Mepeja TeM CJIOBOM, KOTOPOE B QHIVIMMCKOM MPEJIOKEHUH SIBIISICTCS
IO JIC)KAIIHIM.

This phenomenon is often spoken (bout,)

OBO3TOM SIBJICHHH YaCTO TOBOPSIT.

3aItOMHHTE 3HAYEHHUS CIIEAYIONIUX IJIar0jI0B C IPEeAIOraMu:
agree on/upon — 10rOBOPUTHCS O

agree to/with — cormamarncs ¢

arrive at — mpuxoauTh K (3aKIIOYCHHUIO)

call for/on — 3axoauTh 3a (KeM-JIM00, YeM-JTN00), IPHU3BIBATH K
deal with — umets gemo ¢

depart from — OTKJIOHSATBCS OT

do away with — moKOHYHUTH C, OTKA3aThCS OT

fight for — cpaxxarbcst 3a, 60pOThCs 3a

hear about/of — capimarte (y3Hath) 0

Insist on/upon — HacTauBaTh Ha

interfere in — BMemuBaTHCS B

laugh at — cmesaTbcst Han

look after — yxaxxuBatb 3a, 3a00TUTHCS O

look at — cmoTpeth Ha

refer to — cceutatbes Ha

rely on/upon — nonararbcst Ha

send for — moceuIaTh 32
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speak, talk about/of/on — rosoputs o
speak, talk to — roBoputsb ¢

think about/of — nymats o

write about/of/on — mucats o

Exercise 61. Pay attention to the translation of the verb with the
preposition.
1. At last the agreement was arrived at.
. This theory is much spoken about.
. The experiment has been written about in the text-book.
. This date will be insisted on.
. The terms were agreed upon.
. The matter was referred to.
. Many old traditions are not easily done away with.
8. Many materials now in common use were not even thought of
thirty years ago.
9. These changes will be dealt with more fully in the next chapter.
10. This data is relied upon.
11. The documents will be sent for at once.
12. The contract for energy supply was fought for.
13. Our product is heard of in many foreign countries.
14. These devices are well looked after.
15. His strange idea was laughed at.

~NOoO Ok W

2. HexoTopsIM aHTIMICKUM rjarojaMm 0e€3 Mpeaaora B PYCCKOM
S3BIKE COOTBETCTBYIOT IJIarosbl ¢ mpesioroMm. [lpm mepeBome mpemior
TaKXXe CTaBUTCS IEPeJ CIOBOM, KOTOPOE B aHTJIMMCKOM IPEIIOKCHHIH SIB-
JISCTCS HOJJICIKAIINM.

The question was answered.

BOIIPOC OTBCTHUIIN.

3anOMHUTE 3HAYCHUS CICOYIOIIUX IJI1aroJIOB.

address — obpararbcs K

affect — BT, BO3/IelicTBOBATH Ha
answer — oTBeyaTh Ha

approach — moaxoauTh, 0OpaIaTbes K
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attend — nmpucyTcTBOBaTH Ha

consult — coBeroBaThCs ¢, 0OpamaThes K
follow — cixenoBars 3a

influence — BausATH Ha

join — nmpucoeauHATHCS K

speak — roBopuTh Ha

succeed — ciiemoBaTh 3a

watch — cnenuts 3a

Exercise 62. Pay attention to the translation of the verb in the Pas-
sive Voice.

1. The price for raw materials is affected by demand.

2. The rate of economic growth was influenced by many factors.

3. The symposium will be attended by many scientists.

4. The first discovery was succeeded by many others.

5. English is spoken all over the world.

6. The nature of the process will be discussed first and this will be
followed by an interpretation of several facts.

7. The problem was approached by many researchers.

8. In this case the reference book is consulted.

9. The development of affairs was watched.

10. The meeting will be addressed by Mr. Green.

3. HexoTopbhIM aHTIMIICKUM IJIaroJiaM C MPEUIOTOM B PYCCKOM SI3bI-
K€ COOTBETCTBYIOT Ijiarojbl 0e3 mpemsora. [Ipu mepeBoae aHriumiickue
IIpCIJIOru OIIYCKAIOTCA.

The main laws of economics are commented in this chapter.

B 31011 rmaBe 00CyXaar0TCsl OCHOBHBIE 3aKOHBI YKOHOMHMKH.

3anoOMHHUTE 3HAYCHUS CICAYOIUX I'JIarojioB:

account for — oOBACHATD, ABIATHCS MPUINHON
bring about — BbI3bIBaTh, OCYIIECTBIISITH

carry on — npojiomkaTh(-cs)

carry out — BBIIIOJIHATh, OCYIIECTBIISATh

comment on/upon — KOMMEHTHPOBATh, OOBIICHSTH
interfere with — MemmaTh, BpeuTh, HaI0CAAThH
listen to — cimymate
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look on/upon — paccmaTpuBath, CUUTATh

refer to as — Ha3wIBaTH(-C51)

subject to — moaBeprath (IEeHCTBUIO, BIUSHHUIO)
touch on/upon — 3aTparuBarh, KacaThCs

Exercise 63. Pay attention to the translation of the verb in the Pas-
sive Voice.

1. The building work was carried out by a local contractor.

2. The investigations will be carried on.

3. The changes are not easily accounted for.

4. This classical theory was subjected to criticism by the great English
statesman and economist Lord John Maynard Keynes.

5. The ideas of Lord John Maynard Keynes were brought about by the
Great Depression of 1930s.

6. The problem of terminology has not been touched upon here.

7. Inferior goods are referred to as low quality goods.

8. Professor N’s lecture was listened to attentively.

9. It is good when your work is not interfered with your family
duties.

4, OcoOeHHOCTH TIepeBOJia CTPAAATEIBLHOTO 3aJlora B YCTOWYUBBIX
IJ1aroJIbHbIX COYETAHUSX.

Takue codyeTaHus MPEACTABISIOT COOOM CMBICIIOBOE €IMHCTBO U MPU
MEepEeBOIC Ha PYCCKUU S3BIK OOBIYHO TEPENAIOTCS WJIM COOTBETCTBYIOIIUM
IJ1arojioM, WJIM 3KBUBAJICHTHBIM COYETAHHEM IJIarojia ¢ CYIIECTBUTENb-
HeIM. Hanpumep: make an attempt — nsitaThesi, 1e/1aTh MOMBITKY.

3anOMHHUTE 3HAYCHUS CICAYIOIUX I'IarOJIbHBIX COYETaHUM:

exercise influence on — oxa3pIBaTh BIUSHUE Ha
give/pay attention to — yaenats BHUMaHHE

give consideration to — paccmarpuBaTth

make an attempt — genath MONBITKY, IBITATHCS
make an effort — nenate ycunue, crapaTbes
make mention of — ynmomunats o

make reference to — ymomuHaTh 0, CCHIIIATHCS HA
make use of — ucrnoab30BaTh

put an end t0 — MOJIOKKUTH KOHEII, 3aKOHYHUTh
take advantage of — Bocmosib30BaThCs
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take care of — 3a00TUTbCS, YUUTHIBATD
take note/notice of — oOpaiars BHUMaHUE

Exercise 64. Translate the following sentences paying attention to the
verbal phraseological units.

1. The discussion was put an end to by his sudden arrival.

2. His remarks were taken no notice of.

3. In his paper use is made of other scientists’ data.

4. Advantage is often taken of the effect of income on demand.

5. This factor is taken care of during the study of the region economy.

6. An attempt was made to create a new development strategy.

7. Particular attention was given to the warnings printed on the label.

8. An effort is made to incorporate the data into the existing model.

CkazyeMoe B CTpagaTeIbHOM 3ayiore mnpu (opMalbHOM II0JJIEKa-
meM «it» mepeBoaUTCS HEONPEIeICHHO-TUYHBIM (3-€ JIUI0, MH. YHCJIO0)
WK OC3TMYHBIM TIPEI0KEHUEM.

It was thought ... — lymanu, nonaraim. . .

It is known ... — M3BecTHO...

Exercise 65. Translate the following sentences, pay attention to the
formal subject «it».

1. It was found that prices had been set too high and nobody could
afford the goods.

2. It has been shown that long-term economic growth is often
followed by a recession.

3. It is assumed that people work in order to earn money.

4. 1t is considered that basically we export in order to pay for
imports.

5.1t is proved that the world economy produces mostly for the
people living in the industrial countries.

6. It was reported that many African countries suffered from regular
droughts.

HpeILJ'IO)KeHI/IH C COUCTAHUAMU «MO)IaJ'IBHBIﬁ rjiaroj + I/IH(I)I/IHI/ITI/IB
CTpadarcC/IbHOIO Ijaroja» 1ncpeBoaiaTCsa CO CJIOBaAMHU MOZKHO, HYKHO, CJIC-
AYEeT U ap.:

The problem must be solved.

DTy npobsieMy HYKHO PEIIUTh.
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Exercise 66. Translate the following sentences into Russian paying
attention to the model verbs.

1. The problem must be attacked from another point of view.

2. Such phenomena should have been known as early as the
18" century.

3. Although the content and character of economics cannot be
described briefly, numerous writers have attempted that.

4. Prices can be set higher or lower than the market price.

5. In a market economy production and consumption are to be re-
gulated by prices.

6. In contrast to market economies, economies with different forms
of dictatorial control may be called command economies.

7. Your research should be finished by the end of the month.

Exercise 67. Choose the correct form. Translate the sentences into
Russian.

1. The statistical theory (has developed/has been developed) quite
recently.

2. Fiat (founded/was founded) by Giovanni Agnelli in 1899.

3. Unfortunately we (could not obtain/could not be obtained) better
results.

4. In the traditional economy people (hunted/were hunted) and
(gathered/were gathered) and (possessed/were possessed) no property.
Land (shared/was shared) by the whole tribe. Division of labor first
appeared here.

5. After the Civil War in the USA, great advances (made/were
made) in the production of basic industrial goods.

6. Events like wars or natural disasters which (cannot control/
cannot be controlled) by governments (may affect/may be affected) the
economy in unexpected ways.

Exercise 68. Open the brackets. Translate the following sentences
into Russian.

1. In the 19" century this phenomenon (not to know).

2. This term (to use) for a long time.

3. Further work on this problem (to need).
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4. This data (to publish) soon.
5. This phenomenon (to describe) in literature.
6. This problem (to discuss) in the seminar.

Exercise 69. Translate the following sentences into English.

Ha pe3ynbTarsl JAaHHOTO YKCTIIEPUMEHTA MOKHO MOJIO0KUThCA.
O06 sTo# pobsIeMe MHOTO TOBOPSIT.

HccnenoBanue ObLUTO TPOIOTAKEHO.

Ero noxnaa npociymanu ¢ 60JbIINM BHUMAHUEM.

C 5TUMU BBIBOJIaMH HEJb3s COTIIACUTHCS.

HyxHO 0TKa3aTbCs OT 3TON UJIEH.

Ha 3ToT BOnpoc MOXHO OTBETUTH C TPYJIOM.

3a 10KIaA0M MOCJIEeI0Baa JKapKasi TUCKYCCHSL.

DTOMY SBJICHUIO YJIETSIOT MHOTO BHUMAaHUS.

CtpykTypa pbIHKa CBs3aHa C KOHKypeHIMer. OHa oOKa3bIBaeT

CLOONDOTRWNE

|

BJIMSTHUEC HA LICHBI.

20. MHOINO®YHKUUOHAJIbHOCTbL IMMArofioBs
«TO BE», «TO HAVE», «TO DO»

I'maromns! «to be», «to havey, «to do» B aHIVIMHACKOM S3bIKE SABJISIOTCSA

MHOFO(I)YHKI_II/IOHaJ'IBHBIMI/I, 4TO BJIMACT HA UX IICPCBO/I.

I'maron OyHKIUA ITpumep
To be CMBICIIOBOI#T TJ1aron Our university is at a kilometre’s
(was, were, been) [Mepeso: d.istance from the centre of the
a) OBITh, HAXOAUTHCS, city.
0) He TIepeBOAUTCS Ham yauBepcuTeT HaxoauTcs

Ha pPacCTOSIHUM OJAHOTO KHUJIO-
MeTpa OT LIEHTpa ropoa.

I'maron-cBsaska This equation is correct.
ITepeBon: DTO ypaBHEHHE TPABUIIBHOE.
a) HEe TIePEBOIMUTCS, The aim of the investigation is to
0) COCTOUT B TOM, YTOOBI; acquire new data on statistics.
3aKJIIO4Yac€TCsA B TOM, '—ITO6I)I HeJ'H) JTAHHOT'O UCCJICOJOBAHUSA —

(cocTouT B TOM, YTOOBI) HAUTH
HOBBIE JTAHHBIE 110 CTATHUCTHKE.
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[Iponomxenue

I'maron

OyHKIMSA

IIpumep

To be
(was, were, been)

BcnomorarenbHbIi Ti1aron

a) be + V, (BpemeHa rpyImbl
Continuous)
[lepeBon: He epeBOAUTCS;

0) be + V3 (crpamaTenbHblii 3a510T)
[lepeBon: He mepeBOAUTCS

We _are having a lot of trouble
with our suppliers.

Y Hac MHOTO TIPOOJIEM C TO-
CTaBIIMKaMMH.

Market structure is connected
with competition.

CrtpykTypa pblHKa CBsi3aHa

C KOHKYPEHIIUEH.

MopansHbIi ri1aroa

be +to V,

[lepeBon: momkeH, HaO (10 MIIAHY,
T10 JIOTOBOPEHHOCTH )

The firm was to start producing
the new equipment.

@HpMa JOJI’KHa ObL1a HAYaTh
IIPpOU3BOJACTBO HOBOT'O O60py—
JOBaHUA.

To have CMBICIIOBOI TJIaro These forms of ownership
(had, had) IlepeBoa: UMETH have several advantages.
Ot HOopMbI COOCTBEHHOCTH
UMEIOT PSiJI IPEUMYIIIECTB.
BcenoMorarebHblii I1aroi Computers have found wide
have + V3 (Bpewmst rpymimsl Perfect) application in science and
[TepeBox: He mepeBOAUTCS technology.
Kommnbroreps! Hanum (Haxo-
JISIT) IIUPOKOE TPUMEHEHUE
B HAyKe U TEXHHUKE.
MopansHBINA 11aroi The scientist had to stop his
have +to V; experiment.
[lepeBon: nomkeH, 00s3aH Y4eHblil 1oKeH ObLT TpeKpa-
(B cuity 00BEKTUBHBIX 00CTOS- TUTh SKCIIEPUMEHT.
TEJbCTB)
Todo CMBICIIOBOI TJIaroJ I do independent research.
(did, done) [lepeBon: nenathb (BHIOTHSTH) 51 BBITIOJTHSIFO CAMOCTOSITEI b~

HOC HAYYHOC UCCIICAOBAHUC.

BcnoMorarenbpHEIN TIaron
do/does/did ... V1?

do/does/did not V;.

(B BOIPOCUTETHHBIX W OTPHUIIATENTh-
HBIX Ipe/ioxkeHusx B Present u Past
Simple)

[TepeBon: He mepeBOaUTCS

How much do these goods
cost?
CKOJIBKO CTOSIT 9TH TOBaphI?

3aMeCTUTENb paHee YIIOMSIHYTOTO
riarosia

[TepeBon:

a) TIEPEBOJUTCS ATUM TJIAr0JIOM;
0) omyCcKaeTCsl IPH MepeBOJIe

The demand for this good
increases, so does the price.
Crpoc Ha 3TOT TOBap yBEIH-
YUBAETCA U IIEHA TOXeE (yBe-
JTUYUBACTCSA).
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OkoHyanmne

I'maron OyHKIUA IIpumep
To do Ycunenue Many of the features of the
(did, done) do/does/did + Vy market economy do exist in
IlepeBoa: melicTBUTENBHO, pakTHye- | MOSt countries.
CKH, Ha CaMOM JI€JIC, BCC KC MHorue YCPTHL pHHO‘IHOfI

HSKOHOMUKH JIEHCTBUTEIBHO
CYIIECTBYIOT B OOJIBIIMHCTBE
CTpaH.

CBoaHas Tabdimua GyHKI U ¥ 3HAYEHU IJ1aroJioB
«to bey, «to havey, «to do»

OyHKIUU 3HadeHus riarojia
[yaroia to be to have to do
CMBbICITOBO# beIiTh HNmets JlemaTn
Bcenomorarensusiii | He nepeBoaurcst He nepeBoautcs | He nepeBoautcs
MoganbHbIi JloImkeH JloIbkeH -
I'maroi-cBs3ka Ecte/He nepeBoauTCs - -
3aMecTUTENh - - DM raarojgom/
riaroiia HE MEePEBOAUTCS
Ycunurenb - - JeiictBuTensuo/
Ha CaMOM JIeie

Exercise 70. Define the function of the verb «to do». Translate the
sentences into Russian.

1. The person’s income changed, so did his purchasing power.

2. The person’s income did not change, nor did his purchasing power.

3. This plant does manufacture good cars.

4. They have been doing business with each other for years.

5. Aristotle did not use the word ‘economics’, but he did write about
economy.

6. The work was done completely.

Exercise 71. Define the function of the verb «to be», translate the

sentences into Russian.
1. There is a message from Dave Cartwright for you.
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2. Fiscal policy_is connected with the tax system and the budget of
the country.

3. This data analysis is very interesting.

4. Prices are to regulate production and consumption in a market
economy.

5. Basic problems of economics are of great importance to every
economist, while specific problems of farm economics are mostly of interest
to economists who study agriculture.

6. The aim of that book is formulating a theory of the government
role in economic life.

7. A building society is a financial organization whose purpose is to
help people buy houses or flats.

8. The problem with government regulation of markets is to control
how government restrictions work in real life.

9. Economists’ recommendations may be of high value to govern-
ments but governments do not always rely on them.

10. In the United Kingdom the state sector was reduced during
the 1980s and 1990s owing to policies of privatization. Unemployment
and inflation rates were gradually reduced but remained high.

Exercise 72. Define the function of the verb «to have». Translate
the sentences into Russian.

1. This farmer had a lot of cows as he wanted to produce meat and
milk.

2. The distribution of wealth in many countries has remained
practically without change for many years.

3. In the market economy companies have to compete with each other
for a share of the market.

4. Many economies have a growing service sector.

5. A lot of oil has been used by modern economy all over the world
In recent years.

6. As the price of one good rises, the consumer has to buy another
good whose price has not risen.

7. A country which has a lot of land produces agricultural products.

8. To make a higher profit the seller had to raise his price and reduce
his production costs.
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Exercise 73. Define the functions of the verbs «to be», «to havey,
«to doy». Translate the sentences into Russian.

1. — Did you have to miss many lectures when you were ill?

— No, not many, just a few. | wasn’t ill long.

2. This article has already been translated.

3. The level of economy regulation is different in different countries.

4. John had to work hard because he did have a lot to do.

5. Inflation is a fact of our life. As prices rise, so does the consumers’
displeasure.

6. Not all students work hard reading for their exams and when they
do, the result is not always good.

7. The market is to decide how much to produce.

8. Making money is the main incentive to work.

9. Even the countries with free market economy still have high levels
of government activity in the production of public goods and services and
the regulation of market.

10. Alternative automobile fuels are being looked for by chemists and
engineers.

11. In Moscow in the 1990s, state-run shops with few consumer
goods were replaced by expensive shopping centers. The city has become
one of the most expensive cities in the world.

12. Nearly 450,000 businesses are started in Britain every year.

13. Do you have any practical experience in the business you want to
start?

14. The work that people do is called economic activity.

15. My role in the business is to meet customers and find out what
they want.

16. Another word for idea is concept.

Exercise 74. Insert the verbs «to be», «to have», «to do» in the
correct form and function. Translate the sentences into Russian.

1. The old computers ... to ... replaced.

2. Both these problems ... of great importance and will ... discussed
later.

3. This method ... simplify the investigation of the local market.

4.1t ... these scientists who ... suggested a new development model
of the city.
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5. The authors ... consider that they ... examined enough question-
naires filled by the people living in the area.
6. Gold and silver ... examples of precious metals.
7. A British university year ... divided into three terms.
8. In every country some people earn a lot of money while other
people ... not.
9. This scheme ... the disadvantage that it ... not take into consider-
ation all the possibilities.
10. Prices ... increase year after year.
11. The research ... done three years ago.
12. A contract ... a formal written agreement drawn up between two
sides.

21. NIPUOATOYHBbIE MNMPEAONOXEHUA
SUBORDINATE CLAUSES

CJI0)KHOTIOAYUHEHHOE TPEJIOKEHHE COCTOUT M3 TJIABHOTO TIPE]I-
noxenus (The Principal Clause) u ogHOTO WM HECKOJIBKUX MpHUIA-
tounblx (The Subordinate Clause), mosicHsfOIIMX TJIaBHOE MPEUIOKCHHE.
[TpuaaToyHbIe MPEATIOKCHHS BBIMOIHIIOT B CII0KHOM MPEITI0KEHUH POJIb
PA3IMYHBIX YWICHOB MPEUIOKCHUS: OJISIKAIIET0, CKa3yeMOro, JIOMOTHEHNS,
OIpeNICICHUS, OOCTOATEILCTBA M TOIPA3ACISIIOTCS COOTBETCTBEHHO Ha
OPHUIATOYHBIC OJUIE)KAINNE, CKa3yeMble, JOMOJHUTEIbHBIE, OMpPeIeIu-
TEJIbHBIC, 00CTOATEILCTBEHHBIE. THIT MPUIATOYHOTO MPEIAJIOKEHUS OIpe-
JEISAETCS TI0 €r0 MECTY B MPEII0KEHUH (TOYHO TaK K€, KaK OMPEAeIsioT-
CsI YJICHBI MPOCTOTO MPEITIOKEHUS).

O6crositenbctBo  [lomnexamee — Ckazyemoe Hononnenne  OOGCTOSTENHCTBO

/N AN
I, G I C IL C InL C I Cy

[IpuagaToyHoe onpeaenuTeNbHOE
CymectButensnoe — I[1; C;

[IpungaToyHoe MNOJUICKAIICE NPEIJIOKEHHUE HaxXoaAuTCsa B HaydalJIC
CIOXKHOIIOAYMHCHHOI'O IPCIOKCHHUA IICPCA CKA3YEMBIM I'JIABHOI'O IIPCA-
JJOXKCHMU, IPUAATOYHOC CKA3YEMOC€ — ITOCJIC I'JIarojia-CBA3KU «to be»; IIpH-
AaTOYHOC AOIOJHHUTCIBHOC — ITOCJIC CKA3YEMOT'O I'NIABHOI'O IIPCAJIOKCHUA,
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OPUIATOYHOE ONPEAEIUTEIBLHOE — II0CIIE CYIIECTBUTEIBLHOIO, IPUAATOY-
HOE 00CTOSATEIhCTBEHHOE — B HaYaJle MPeUIoKeHHs (TIepe MO IIeKaIIM
IJIABHOTO IIPEUIOXKEHNS) M B KOHIIE IPEUIOKEeHUs (ITOCIIe Mo aIeKaIe-
I'0 ¥ CKa3yeMOro IJIaBHOI'O IPEIOKEHNU).

Co103bI M COIO3HBIC CJIOBA SBJSIOTCSA «CHTHAJIAMH» COIO3HBIX IPH-
JIATOYHBIX MPEAT0KEHUN, OHH MHOTO3HAYHBI U JIJIS MX IPaBUIBHOIO I1e-
peBoJa CIeAyeT BHAYaje ONPENEIUTh THII IMPHUIATOYHOrO IMPEII0XKe-
HUs (IO MECTY).

Coro3nble cioBa (Who, what, which, when, where u 1. 1.) oTinuya-
IOTCSL OT COIO30B TEM, YTO OHH HE TOJBKO COSIUHSIIOT IMPUAATOUYHBIC TIPEI-

JIOKCHUSA C I'TIaBHBIM, HO U ABJIAIOTCA YWICHAMHA 3TOI'O IIPCIJIOKCHUA.

Here is the book which we have spoken about. (coro3)
He touched upon the problem which interests all of us. (coro3noe

CJIOBO)

Tunbl NpUIATOYHBIX NPeIJIOKEHN U COI03bI (COI03HbIE CI0BA),
C IOMOIIbI0O KOTOPBIX OHU BBOASATCS

Tum Co103 1M COI3HOE I
pumep
MMPpCAJIOXKCHUSA CJIOBO
[Tpunaroynoe that, if, whether, What we need is a better marketing strat-
oIexariee who, what, which, egy.
[Tpunarounoe when, where, how, The question is if (whether) these prod-
cKazyemoe why ucts will be in demand.
[Tpunaroynoe He does not really know what he wants
TIONIOJTHUTEIBHOE in his career.
[Mpunarounoe who(m), whose, Food which is sold in supermarkets needs
OIpECIUTENILHOS which, that, a relatively long shelf-life.
when, where, how,
why
[IpunaTounoe
00CTOSATETLCTBEHHOE:
BpEMEHU when, while, before, When some good is in short supply, its
after, till (until), as, price rises.
as long as,
as soon as, since
MecTa where, wherever Where the temple once stood there is now
a multi-storey car park.
NPUYHHBI because, since, as, for | As the demand for money changes,
so does the supply.
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OkoHyanmne

Tun Cor03 WJIK COI03HOE I
pumep
MMpCAJIOKCHUSA CJIOBO
IIpunaTounoe
00CTOSATEILCTBEHHOEC:
(08 that, in order that, so She must hurry lest she (should) be late
that, lest for the conference.
YCIIOBHSI if, unless, provided/ If sales increase, the company will make
providing (that), higher profit.
suppose/supposing
(that), in case, on
condition (that)
YCTYIUTEIILHOE (al)though Though he was very young, he was

a good manager.

Exercise 75. Define the subordinate clauses in the following sentences.
Translate the sentences.

1. Who is the best student in the group will be shown at examinations.

2. When we buy things or use services, we are consumers.

3. Corn and wheat are two crops that farmers grow in their fields.

4. Although we can buy meat in the shops, some people still like to
hunt animals as a hobby.

5. Everyone who was at the meeting will receive a copy of the minutes.

6. When there is a demand, one raises prices, but prices are reduced
when one wants to sell something quickly.

7. When we speak about absolute poverty, we mean the people who
live below the poverty line.

8. As prices for fuel and electricity have risen, we expect an increase

in all prices.

9. The chief advantage of the Metric System over the English one is

that all metric units are divided into 10 and 100 parts.
10. When demand for goods and services is steady growing, companies
have to take on more employees, and customers’ confidence rises as their

incomes also go up.

11. The situation in which everyone who wants to work has a job is
called full employment.

12. If inflation rises, people with fixed incomes suffer most of all.

13. Whether or not this event will take place is not known yet.
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14. When people consume goods and services, they provide a basis
for further production.

15. A controlled economy is one where a government decides what
can be bought and sold and/or how it is done.

16. Why the experimental data do not correspond to this formula is
not clear.

17. What you don’t understand is why the professor will never
approve this experiment.

18. As the price for petrol rises, the demand for cars reduces.

19. The usual procedure is that information storage is followed by
information analysis.

20. What is worth doing is worth doing well.

21. If you are not good at figures, it is pointless to apply for a job in
a bank.

22. The question is whether he has signed the contract.

23. The model which was launched last year is selling very well.

24. While microeconomics studies how companies and households
run their business, macroeconomics looks at the economy of a country as
a whole.

25. The assumption is that the consumer chooses the good that has
the greatest utility for him.

Exercise 76. Analyze the subordinate clauses paying attention to the
conjunction «that». Translate the sentences.

1. It is necessary to note that the study of economics is of great
use even to those students who have no wish to become professional
economists.

2. Many words that we use in our everyday speech acquire a more
precise and often restricted meaning in the language of science.

3. The new line that we introduced last year is aimed at the youth
market.

4. Inputs are the factors of production that are put into a business to
produce goods and services.

5. That Smith’s vision of economy should ever have been considered
original might seem strange to modern minds.

6. The secret of the simplicity of the metric system is that it is
a «decimaly system.
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7. It is known that there are a lot of factors in agriculture that must
be assumed as risks by the farmers.
8. The two main trade unions say that the reforms are the direct attack
on workers’ rights.
9. Areas that rely on summer tourism suffer serious unemployment
during the autumn and winter months.
10. We look forward to the meeting that is to be held next week.

22. COFMACOBAHUE BPEMEH
SEQUENCE OF TENSES

[IpaBuiio coryiacoBaHusi BPEMEH JIEMCTBYET B IPUJIATOYHBIX JIOIOJI-
HUTEJIBHBIX MPEJIOKEHUSIX U COCTOUT B CIEAYIOIIEM: BPEMS IJ1aroJia mpu-
JAaTOYHOTO MPEIJI0KEHUS CTPOrO 3aBUCHUT OT BPEMEHM IJlaroja rilaBHOTO
MPEIITOKECHUSL.

1. Ecnu raros riaBHOTO MPEIJIOXKEHHUS CTOUT B OJHOM M3 GhopM
HACTOSAIIET0 WU OyAyIIero BpeMEHH, TO IJIaroji MpUAaTOYHOTO MPEeIo-
KEHHUSI MOXKET CTOSITh B TIFOOOM BPEMEHH, KOTOPOE TPEOyETCs 1O CMBICTTY:

OIHOBPEMEHHOE he is working.
neicTBre he works (pabotaer).
IPEIIIeCTBYIONIEE he worked.

He says i he was workin 0
JeicTBIE g (pabotaun).
Oynymee he will be working.
neiicTBHE he will work (6yner paGorars).

2. Ecnu rnaronn TiiaBHOTO TPENJIOKEHHS CTOUT B OJHOM W3 (hopm
MPOIIEIIETO BPEMEHH, TO TJIaroJl MPHIATOYHOTO MPEII0oKEeHHs 00s13a-
TEJIbHO CTOUT B (hOpME IPOIICANICTO BPEMEHH:

OJTHOBPEMEHHOE he was working.
JeicTBHe he worked (pa6otaer).
He said MpeIIecTBYIOIICe he had worked.
JeicTBHe he had been working (pa6otrau).
Oymyiiee he would be working.
neiicTBue he would work (0yner padorats).
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Exercise 77. Translate the following sentences paying attention to
the tense forms in the principal and subordinate clauses.

1. Economists said that lower demand led to lower equilibrium price
and the lower quantity of demanded goods.

2. The Prime Minister said that the monthly pension would grow
two times by the end of the year.

3. It was written in the book that some forms of money had been
used by man from early times.

4. The slide showed that the two curves were going in parallel to
each other.

5. Adam Smith, ‘the farther of modern economics’, considered that
a nation’s wealth depended on its ability to produce goods.

6. The visitors were told that the secretary had just gone out and
would come back in half an hour.

23. BECCOIO3HbIE NMPUOATOYHbLIE MPEAJTIOXEHUA
ASYNDETIC SUBORDINATE CLAUSES

beccoro3nbie mpuaaTOYHbIE MPEI0KEHUS OBIBAIOT TPEX THUIIOB:
JOTIOJHUTEJIbHBIC, ONPEACIUTEIbHBIE U 00CTOSITEILCTBECHHBIC YCIOBHBIE.
DTO 3HAYUT, YTO COO3bI MEPEJ] YKa3aHHBIMHU MPUAATOUYHBIMH MPEII0KE-
HUSIMH MOTYT OIyCKaTbhCsl, HO HA PYCCKHUM A3bIK TaKue€ MPEIJI0KEHUS TIe-
PEBOIATCS C COOTBETCTBYIOLIMMHU COO3AMMU.

1. IlpuaaToyHOE NTONMOJHUTENBHOE (CTOUT MOCTIE CKA3yeMOT0)
I C I, C
| think (that) | have made a mistake.

2. [IpuaaToyHoe onpeaenuTeabHOe (CTOUT MOCHE CYIIECTBUTEIHHOTO)

CymectButensnoe II; C;

The facts (that) the scientist had observed led him to important
conclusions.

3. HDI/II[aTOIIHOG 00CTOATENLCTBEHHOE YCJIOBHOC (CTOI/IT B Hay4alJi€
WJIM B KOHIIE MTPEJJI0KECHUS )

AIL ¢, IO C

Were the computer in order, we should use it for making calculations.

B) II C I, ¢

We should use the computer for making calculations were it in order.
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Exercise 78. Translate the sentences paying attention to asyndetic
subordinate clauses.

1. The population is the number of people a country has.

2. The facts the newspaper refers to were published only yesterday.

3. He said he had been studying English for 5 years.

4. People on a low income spend all the money they have on daily
necessities; they cannot save.

5. The method we are applying results in high efficiency.

6. Real income is the amount of the goods and services a consumer
can buy with his money income.

7. Production costs are the amount of money companies spend to
make product.

8. Many experts think the growing use of fertilizers and other
chemicals presents a danger for the environment.

9. With changed prices the consumer has to change the quantities he
demands if he is to maintain utility at the same level.

10. Experts expected the Iran—Irag war would cause a sharp rise of oil
prices in 1979-1980.
11. Higher incomes have much more influence on the way people

eat (more meat, less bread) than on the amount they eat.

Exercise 79. Combine the two parts of sentences so that they make
sense.

1 | Many African countries suffer
from regular droughts

a) when they want to attract more
customers.

2 | Perhaps time and further study
will some day reveal

Mathematics is one of the most
important subjects

4 | In the modern world an
economy is considered open

5 | The consumer has to decide

6 | Every Saturday this road
becomes the local street market

b) when it imports and exports
goods and services.

c) where people come to buy fruit
and vegetables.

d) the economy continues to grow
but at slower rates.

e) when no rain falls for months.

f) whether the classical or the Key-
nesian conception of economic life
accords more closely with
experience.
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OKoHYaHue

7 | When the slump (sxonomuue- | g) for it is applied in all branches
CKHUH KpHU3HUC) COMES of science.

8 | Acountry has a trade deficit | h) by how much the good A is
preferred to the good B.

9 | Businesses advertise their 1) if imports exceed exports.
products in the media

Exercise 80. Define the type of the subordinate clause. Translate the
following sentences.

1. A consumer is a person who consumes the products and services
he buys.

2. The market where employers buy workers’ service for wages is
called labor market.

3. The Great Depression was a devastating collapse for the American
economy with the effects that were felt almost in every country of the
world.

4. That the other units are obtained from the meter by dividing or
multiplying by ten is the simplicity of the metric system.

5. Firms do not grow only in order to become more efficient, they
know that the size also gives greater control over the market.

6. What | like best about my job is the contact with people.

7. The people who are making the real decisions are all at the Head
Office.

8. Since gold, dollars and pounds are quite different units of exchange,
the question arises of how they can be reduced to a comparable basis.

9. The process of decision-taking becomes more complex as the
sphere of the firm’s activities is extended.

10. Before the First World War there had been little change in
exchange rates, and it was assumed that this situation would continue
after the war.

11. The most general form of state assistance is that governments give
subsidies.

12. Both those who provide the capital and those who run the business
agree to bear the risk.
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13. When the hypothesis agrees with all the facts in a large number
of cases it becomes a law.

14. The European Union is an organization whose policies change
quite slowly.

15. One of the reasons for participating in international trade is that
by doing so we are able to achieve savings in scarce resources.

16. What is far more important at this stage is to bring about
Improvements in productivity.

17. Our concern is that the price of shares may change considerably
within a fortnight.

18. Economists examine how income and wealth are distributed
among the population.

19. Employers obtain their net profit only after they have paid all
expenses arising out of their business activities.

20. He said the conclusion was illogical.

24. TPAMMATUYECKAA MHOIO3HAYHOCTb
YACTEM PEYU

B anrnuiickom si3pike HaOJIOAAETCS TIEPEXO/]T CJIOBA U3 OJHOM YacTH
peuu B APYTYIO, YTO HA3bIBACTCS IPAMMATUYECKOM MHOTO3HAYHOCTBIO.

Huxe npuBeseHa rpaMmmaTiyeckas MHOTO3HAYHOCTh HauboJiee pac-
MMPOCTPAHEHHBIX COKO30B, IPEIJIOTOB U HAPEUUH.

CnoBo Coro3 [Ipensior Hapeme/
CYIIECTBUTEIHLHOE
After [Tocne Toro kak 3a, mocne [Tocne, moTom,
3aTeM
As Koraa, no mepe toro - Kak (B xauecTse),
Kak, Tak Kak, OTHOCHUTEIILHO
MOCKOJIBKY, YTOOBI
Because (of) [Totomy uro, W3-3a, BcnencTBue —
TaK KakKk
Before Jlo Toro kak, ITepen, no, panbiie | PaHblue, npexnie
mepe]T TeM Kak
For Moo, Tak Kax, s, B Teuenue, -
MMOCKOJIBKY 9TOOBI
Once Ecnu, xak Tonbko — OnmHax bl
(oauH pa3)
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OkoHyanmne

CnoBo Coro3 [Ipennor Hapeme/
CYIIIECTBUTEIHHOE
Since Tak Kak, TOCKOJIbKY, C, mocie C tex nop
C TeX IMOop Kak
Till/until (Mo Tex mop) Bruiots 10 -
IIOKA ... HE
While XoTs, MmoKa, — [Tepuon BpeMeHH —
B TO BpPeMs KakK for a while

Exercise 81. Translate the following sentences paying attention to
the underlined words.
1. While changes in demand take place in a very short period,
changes in supply, because of technical problems, take much longer.
2. This problem cannot be solved because we have little information
on this subject.
3. Before he joined this firm, he had worked for two competitors
abroad.
4. Never before in modern history has one nation dominated the
world so completely.
5. Before 1850 in Russia, there were relatively few factories, mostly
producing textile.
6. He was employed by a manufacturing company until 2005.
7. Until the partners of the company come to an agreement on interest
rates, they cannot run their business properly.
8. After years of slow development, it is hard for poorer countries to
compete with developed countries for international trade.
9. After our company had installed a new line, productivity went up.
10. Many government securities are not redeemable for many years
after the date of issue.
11. For further information the reader is referred to the following
references.
12. People can hold money to finance some future purchase, for
money serves as a store of value.
13. Once the Managing Director had formulated a new policy for the
company, he wasted no time in putting it into effect.
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14. The once mighty US car industry was now facing strong competition
from abroad.

15. Preliminary discussions between the two rival firms continued for
awhile.

16. While it is impossible to show these differences, yet such
differences do exist.

17. A positive result has not been got ever since.

18. Since the total cost of these inputs is fixed, the average cost, the
cost per unit produced, falls as output increases.

19. Since the 1960s there has been an increasing tendency for population
to move from densely populated city centers to the suburbs and the country.

20. As we earn more, we spend more.

21. After the company reorganization we started to operate as an
independent division.

25. COCNAIrATENbHOE HAKINOHEHUE
THE SUBJUNCTIVE MOOD

CocnararenbHO€ HAaKJIOHEHUE YIOTPEOJsieTCs IJisl BbIpAXKEHUS JEH-
CTBHUU MPEJITOJaraeMbplX, BO3MOXKHBIX HIJIM JKCIIATCIbHBIX M HUMECT JIBE
rpynmbl GOPM: aHATTUTUYCCKUE M CHHTETUYCCKUE.

Ananutudeckue (Gopmbl MPEICTABIAIOT COOOM COYETaHHE BCIO-
MorareiabHbIX riaroiaos Should wiamn would, a Takske MozaabHBIX II1aroJoB
could u might ¢ nHGUHUTHBOM CMBICIOBOrO riarojia 6e3 4acTUIbl «t0y.
JI7st BeIpaXKeHUsl ICMCTBUM B HACTOSIIEM U OyayllleM BPpEMEHHU ynoTpeO-
asercs Indefinite Infinitive, anst BeIpakeHUs OEWCTBUS B MPOILIOM —
Perfect Infinitive,

Cunternveckue popmbl B Present Subjunctive Bcex riaroJsios
BO BCEX JHMIAX CAUHCTBEHHOTO M MHOXKECTBCHHOI'O YHMCJia COBIIAJAIOT
no ¢opme ¢ UHOUHUTUBOM Oe3 yacTulbl «t0». CuaTeTndeckue Gopmbl
B Past Subjunctive Bcex riaroyioB (kpome riaroina «to be») cosmamaror
no ¢opMe BO BCEX JIMIAX CIMHCTBEHHOTO W MHOXXECTBEHHOTO YHCIIa
¢ Past Simple u3bsBHTENILHOIO HAKJIOHEHHMS W TOJIBKO Past Subjunctive
riaroiia «to be» mmeer Gopmy «were» s BceX JIHUI[ €AUHCTBEHHOIO
1 MHOKecTBeHHOTo uymcia. Past Perfect Subjunctive Bcex riarosios cos-
nagaeT o gopme ¢ Past Perfect u3bsaBuTeIbHOr0 HAKIIOHCHUS.
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CocarareabHOE HAKJIOHEHHUE

Ananutudeckue Gopmbl Cunrernyeckue GopMbl
Hacrosee/ npomeee Hacrosee/ Ipomeee
Oymymiee Oymymiee
should should ask/be (V1)
would ask (V1) would had asked (V3)
might have asked (V3) | asked/were (V2) had been (V3)
could might
could

yHOTpe6HeHI/I€Z CKa3yemMoce

B npocThIX ¥ IIIaBHBIX IPEIIIOKEHUIX B npocThIX ¥ YCIOBHBIX IPUAATOYHBIX
IIPEUIOKEHUAX

He would rather go by car. Success attend you.

I should ask if I were there.

He would have asked if he had been there.

B Tpex TMnax npuIaToO4HbIX IPEII0KECHHI:

1) momnexamux (it is necessary, it is desirable, it is possible, etc)

It is necessary that he (should) do it.

2) nononauTebHBIX (0 Order, to demand, to suggest, to recommend, etc)
He demanded that we (should) do it.

3) nenu (So that, lest)

She must hurry lest she (should) be late.

ITocre raaroma wish
| wish he would be/were a manager.

HepeBo,u: Tj1arojlaMu nmpomeamero BpEMEHU + OBl

Bce dopmbl cocnararensHOTO HAKIOHEHHS TIEPEBOASITCS HA PYCCKHUI
SI3BIK [J1arojJaMy MPOLISIIEro BPEMEHHU ¢ YaCTUIIEH «ObD».

Ynorpeb.ieHue coc/iaraTeJIbHOI0 HAKJIOHEHHS

Kak ananmutudeckue, Tak U CHHTETHYECKUE (POPMBI MOTYT ymoOTpeO-
JSATHCS B TPEX TUIAX MPUAATOYHBIX MPEII0KECHUMN, IPUYEM B HUX HCIIONb-
3yIOTCS TOJbKO Timaron «Should» co Bcemu umamu, KOTOPBIA MOXET
OIyCKaThCsl, U THOUHUTUB O€3 4acTUIIbI «lOy:

1. Momnexanmx (mocie obopoToB THma It IS necessary — HeoOXo-
aumo, it is possible — Bo3moxkHo, it is desirable — sxenarensHo 1 Ap.):
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It is necessary that he (should) do this work.

Heo0xoaumo, 4To0bl OH caenal 3Ty padory.

2. JlonoaHUTENbHBIX (ITOCTIe TJIarojaoB Tuma to agree — corjamarbcs,
to command, to order — npuka3siBath, d0 decide — pemats, to demand —
TpeboBath, 10 suggest, to propose — npemiarats, to recommend — peko-
MEHJI0BaTh U Jp.):

The chief demanded that we (should) do this work in time.

HauanbHuk notpedoBai, 4ToObl MbI CAEHAIH 3TY pabOTy BOBpEMSI.

3. Lenu (mmocite coro30B SO that (Tak, uro6sr), lest (uToOb He)):

She must hurry lest she (should) be late.

Omna AOJIDKHA TOPOIIUTHCA, yTOOBI HE OI1034aTh.

Cunretnyeckue u aHaiautuueckue (would co Bcemu smnamu) dop-
MBI MCIIOJIb3YIOTCSl Tak)Ke€ B NMPUIATOYHBIX JIOMOJHHUTEIIBHBIX MPEII0Ke-
HUSX I0CIIe T1aroya «to wishy.

| wish | were you.

51 ObI XOTea OBITH Ha TBOEM MecTe. (B HACTOSIIEM)

| wish the hotel had been better.

Janp, yTo rocTHHUIIA ObLIA TAKOW TJIOXOM. (B IIPOIILIOM)

| wish you would stay with me for a while.

$1 OBI XOTEJI, UTOOBI BBI ITOOBLUIM HEMHOT'O CO MHOM.

Exercise 82. Translate the following sentences paying attention to
the Subjunctive Mood.

1. It is desirable that the project should be finished in time.

2. The production manager demands that the workers should increase
their productivity.

3. In this case it is not necessary that the scientist should carry out
a set of experiments.

4. I wish | had passed my driving test. But unfortunately | failed.

5. There was danger lest the new business plan become known to
our rivals.

6. An engineer ordered that the equipment should be repaired.

7. He wished it were the weekend already. He was so tired.

8. One should be very careful so that the packing should be as
uniform as possible.

9. It is important that trade should be in balance and the foreign
exchange market should be in equilibrium.
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10. He suggested that a new method should be developed.

11. Peter wished he hadn’t started this talk.

12. It is essential that many businesses within each nation produce
what is most suitable to their region.

13. An assistant has to prepare everything for the experiment lest the
students should waste their time.

14. It is necessary that the tax accountant should be informed of any
changes in state or local tax laws.

15. I wish | were able to prevent them from doing this.

16. It is desirable that corporation activities be restricted by antitrust
laws preventing their growth in a single field.

17. I wish we had advertised on television.

18. | fear lest he should make a mistake.

19. He required that all be kept secret.

20. It is important that you should remember all the facts.

26. YCINNTOBHbIE MNMPEONOXEHUA
CONDITIONAL CLAUSES
Y CIIOBHBIE TPEUIOKEHUS SBISIFOTCS PAa3HOBHIIHOCTBIO OOCTOSITEIb-

CTBEHHBIX MPHUJIATOUYHBIX MPEHJIOKECHUN. BBIACHAIOT Cleayrolue THUIIbI
YCIIOBHBIX MPEIJIOKECHUN:

Real Conditions Unreal Conditions
Indicative Mood Subjunctive Mood
N3bpaBuTenpbHOE HAaKJIOHESHUE CociaraTeibHO€E HaKJIOHEHHUE
Present
If sales increase (generally), we make more | If sales increased (at present), we
profit. should/would make more profit.
Ecnu nponaxu yBeJIM4MBAKOTCH, MBI 110- Ecin 0bI IpoJaxy yBeJIUYHIUCH, Mbl ObI
JiyyaeM OoJbIle MpUObLIH. MOJY4HJIU O0JbIIe TPUOBLITH.
Future
If sales increase (next year) we will make | If sales increased (next year) we
more profit. should/would make more profit.
Ecin npogaxkn yBesaan4yarcesi, Mel HoJryuum | Ecniu 0b1 pofjaky yBeJIMYMIUCH, MBI ObI
00Jb111e TPUOBLIH. NOJIy4YHJIM O0JbIlle TPUOBLIH.
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OkoHyanmne

Real Conditions Unreal Conditions
Indicative Mood Subjunctive Mood
W3baBuTenpHOE HAKIIOHEHHE CocnararenpHoe HaKJIIOHECHHE
Past
If sales increased (last year), we made If sales had increased (last year) we
more profit. should/would have made more profit.
Ecnu nponaxu yBeJIMUMBAJIUCH, MbI 110- Ecnu 0b1 mpoiaky yBeJTHYMJINCH, MBI ObI
Jy4yaau OoJblie npruObLUIH. MOJIYYMJIM OO0JIbIIEe MPUOBLUIH.
INEPEBO/]
V3bABUTENHLHBIM HAKIIOHEHHEM CocnaratenbHbIM HaKJIIOHEHHEM
COHO3bI

If —eciu, in case — B ciyuae, but for — eciiu 6wt He, unless — eciu He,
on condition (that) — mpu yciouu (uro), provided/providing (that) — mpu ycnouu (uto),
suppose/supposing (that) — mpu ycmoBuu (4to)

27. UHBEPCUA
INVERSION

B Geccoro3HbIX YCIOBHBIX MPEAJIOKEHUSIX, BbIPAXKAIOUIUX MaJOBe-
POSITHBIE UJIM HEpEalIbHbIE YCIOBUS, YIOTPEOsieTCa NHBEPCHS, UITH, IPY-
T'MMH CIIOBAMH, U3MEHEHNE IOPSAJIKA CIOB B IIPEIJIOKECHUU:

Were | you, | would not wait until tomorrow.
Ecnu 01 s ObLJ1 Ha BalieM MecTe, sl ObI He JKIaJ1 JI0 3aBTpa.

Had he been given opportunity, the work would have been finished.
Ecnu 0b1 eMy JaJim BO3MOXXHOCTB, padoTa Obljia Obl 3aKOHYEHA.

Y COBHBIC MPEMIOKEHHS, COAEPIKAILNE PeaTbHbIE YCIOBUS, HHOTIA
HA3BIBAIOTCS MPEIIOKEHUIMH 1-T0 THIIAa; MaJOBEPOSTHBIE YCIOBHS (OT-
HOCSIIHECS K HACTOSIIEMY WIIH OYyIyIIEMy BPEMEHH ) — IPEIIOKECHUIMU
2-T0 TUIa; HEepeaabHbIe (OTHOCSIIUECS K IPOIIEIIIEMy BPEMEHN) — MPEI-
JIOKEHHUSIMHU 3-TO THIIA.

Hanuuue takux riarosnos, kak «Shouldy, «wouldy, «couldy, «mighty
B TJABHOM MPEMIOKCHHH COOTHOCHTCS C YCIOBHBIMH IPHIATOYHBIMU
IPEIOKEHUAMHU 2-T0 U 3-TO THUIIOB, KOTOPBIE MEPEBOISTCS COCIAraTeb-
HBIM HAaKJIOHEHUEM.
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Exercise 83. Define the type of the conditional clause and translate
the sentences.
1. We can deliver the equipment in January provided that we receive
your order within the next ten days.
2. If you want a thing well done, do it yourself.
3. Our experiment would have been carried on quite successfully,
providing that the laboratory had been supplied with modern equipment.
4. If you wanted a discount, you would have to order at least
1,000 units.
5. Unless he arrives soon, he will miss the start of the presentation.
6. In case anyone from Head Office calls, say | am in a meeting.
7. Provided a scientist found the final decision of this problem, he
might get a Nobel Prize.
8. Mankind would not have made technical progress so rapidly,
unless oil industry had come into being.
9. Supposing that the euro were weak in the long term, companies
might slow down their drive to increase productivity.
10. I am going to give you my mobile number in case you need to
contact me.
11. Our task might become much simpler unless the equipment were
very old and primitive.
12. If we had not failed with our last experiment, we might have done
most of the work by now.
13. In case we had worked jointly with biologists, we could have had
more interesting results.
14. Supposing you had a million, how would you invest it?
15. But for the bad economic situation, we would not have lost so
many customers.

Exercise 84. Translate the following sentences paying attention to
the meaning of the underlined words.

1. If I were better qualified, | should apply for this job.

2. 1 want to know if he has signed the contract.

3. Provided the right software were available, | should be able to
solve this problem.

4. In order to live people produce goods and provide services.
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5. In case you deal with the Middle East, you must be available to
your customers on Saturdays and Sundays.

6. We cannot make an exception in your case.

7. Supposing you don’t get the job — what will you do then?

8. Let us suppose that the news is true.

9. But for a lot of orders, the director would not have employed
extra staff in the factory last month.

10. In each case all the quantities in the equation are functions of but

two variables.

Exercise 85. Read and translate the following sentences with condi-
tional clauses of the first type, then transform them into sentences with
conditional clauses of the second and third type.

1. If interest rates rise, bank loans become more expensive.

2. Unless you click on that icon, it will not print out.

3. Providing that you order on the Net, we always send an email
confirmation.

4. In case inflation goes up, there is usually pressure on salary.

Exercise 86. Combine the given pairs of sentences using «if» or
«unlessy.

1. You were still speaking after an hour. The audience would probably
be bored.

2. Poland joined the European Union. Things could get worse.

3. Unemployment will increase. Wages rise.

4. We will have to ask for another bank loan. We reach break-even
point within six months.

5. We could have a 20 per cent increase in turnover next year. The
market for our products expanded.

Exercise 87. Translate these sentences including conditional clauses
with inversion.

1. Were | in the city, | would attend the conference.

2. Had the top manager pointed out all the drawbacks, we should
have found ways to solve the problem.

3. Had he known the rule, he would not have made so many mistakes.
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4. Had we had a better website, we would have attracted more
customers.

5. Had they known all these facts at that time, this might have
stimulated their interest in this idea.

6. Were the computer in order, we should use it for making calculations
needed for our research.

7. Had he attended all the lectures, he would have passed all the
examinations.

8. Had the data met these requirements, then our assumption would
have been correct.

Exercise 88. Translate the following sentences into English.

1. Eciu HUKTO HE BO3paXkaeT, JaBalTe€ Ha3HAYMM Hally BCTpEUy Ha
YEeTBEPT.

2. MBI 1ocTaBUM TOBap B TeUCHHE 24 4acoB, €CIIM BBI CJIeJlaeTe 3a-
Ka3 110 UHTEPHETY.

3. Onu OBI caelau Bce HEOOXOIMMBIE BBIYMCIICHHUS, €CJIM OBl KOM-
MBIOTEP HE BBIIIET U3 CTPOSI.

4. Eciin Bac 3auHTEpecoBaio Halue NpeajioxkeHnue, moxanyicra, co-
o01uTe HaM.

5. Ecnu 6b1 51 Ob1T Ha Bamem Mecte, TO moanucan Obl KOHTPAKT.

6. PaboTa Oblyia OBl BBINOJHEHA B CPOK MPHU YCIOBUH, UTO UMEJIOCH
OBI BCE HEOOXOIUMOE 000PYTOBaHHE.

7. Eciii 051 51 Ob1 B 3TO Bpemst B [lapuxe, To moceTus Obl 3Ty KOH-
dbepeHmmio.

28. YNNIOTPEBJIEHUE TMAronoB
«SHOULD», «WOULD»

I'maromnsr «should» u «would» B aHrMiickoM S3BIKE ABIAIOTCS MHO-
royHKIIMOHAIBHBIMH, UIPas POJb BCIOMOTaTCIBHBIX MM MOJAIbHBIX
[JIaroJIoB.

Hwke nmpuBeieHbI MX OCHOBHBIC 3HAYCHUS.
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Should

Would

I[Tpu cormacoBanuu BpemeH (Future-in-the-Past)

I said | should translate this article.
Sl ckazaii, yTo mepeBely 3Ty CTaThIO.

He said he would translate this article.
OH CKa3all, 4YTO ICPCBCACT OTY CTATHIO.

B cocnararensHOM HaKJIOHEHHH

I should do (have done) this exercise if
| had (had) time.

51 GBI cemnan 3To ynpakHEeHHE, €CIu Obl
y M€Hs ObLIIO BpeMmsl.

He would do (have done) this exercise if he
had (had) time.

OH OBI clienan 3To ynpaKHEHUE, eCITH Obl
y HEro ObIJIO BpeMsl.

B kauecTBe MOaIbHBIX TJ1aroJIoB

I (he) should know economics well.

S (oH) MOMKEH XOPOIIIO 3HATh SKOHOMHUKY.
I (he) should have attended lectures.

S (oH) momxkeH ObLT OBI TTOCENIATH JICKIINH.

a) C OTTEHKOM >KeJIaHUsI WJIA HeXKeTaHus
(B mpo1iom):

She would not say where she is going.
Omna He xoTesa roBOpUTh, KyJa UJIeT.

0) BripaxkaeT nmoBTopsitoiieecs 1eHCTBHUE
B IIPOIILJIOM:

He would say...

OH, 6bIBaJIO, TOBOPHUIL. ..

B kagecTBe riarosa, BEIpaKaroiero BexIIU-
BO€ oOpareHue:
Would you open the window?

OrTkpoiite, moxaiyicra, OKHO.

Exercise 89. Translate the following sentences paying attention to
various functions of the verbs «should» and «would».
1. If you reduced your price by 8 per cent, we would increase our

order substantially.

2. As science is based on numeric concepts, all quantitative notions
should be replaced by units of measurement.
3. The complex process of the installation of new equipment
demands that the work should be carefully planned.
4. Provided the price of butter fell, the demand for margarine would

probably fall.

5.1 should like to know the numerical values for the constants to

solve this equation.

6. It was expected that they would reach the agreement.

7. One should review last year’s figures.

8. | tried to persuade them, but they would not accept the offer.
9. If you want my advice, you should find another supplier.
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10. He said that he would sign the contract.

11. Would you ask the next candidate to come in?

12. The scientist was asked whether he would be able to prove his
new theory.

13. Sales should peak around the middle of the year.

14. This student would often ask very interesting questions as he
read much.

15. It is desirable that the phenomena should be studied.

16. If the company shut, over 200 people would lose their jobs.

17. You should use the Internet for getting new ideas.

18. Unless a business had issued bonds, it would not have raised
enough capital funds.

19. He would test the devices before putting them into service.

20. If we speak about a market of perfect competition, it is important
that all companies should have access to resources and technology.

21. Provided prices were above the equilibrium price, there would
be excess supply.

22. In any case one should bear in mind that the information
obtained should be checked carefully.

23. The report recommended that the land should not be sold.

24. Would you mind repeating that?

25. However, one should not make the final conclusion from these data.

Exercise 90. Insert the verbs «should» and «would».

1.1 ... like to illustrate this effect with the graph.

2. If we ordered now, ... you give us a discount?

3. We did not know whether the demand for these goods... increase
or decrease.

4. It is desirable that you ... take part in the conference.

5. Every student ... be able to use a computer.

6. If he had used the new device, he ... have obtained better results.

7. It is necessary that the project... be fulfilled in time.

8. If you had not invested in e-commerce, our sales ... have been
much lower.

Exercise 91. Translate the following sentences into English.
1. OH cka3zaj, 9To ITOMOKET HaM.
2. Ha st JaHHBIC HC CJIICAYCT I1OJIaraTbCs.
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3. Ecnu Ob1 y MeHs ObLIO BpeMsi, 51 Obl 3aKOHUMJT SKCIIEPUMEHT.

4. MHe xoTenoch Obl cTaTh OAHKUPOM.

5. Ecnu Ob1 y Bac ObLI MUJUTMOH €BPO, KyJa OBl BBl BIIOXKHUIU 3TH
JIIEHbTH?

6. MBI ucnosib3yeM KpeauTHYIO KapTy, YTOObI HE MJIATUTh HAJINY-
HBIMH.

7. Korna s ObLT CTYJIEHTOM, TO YacaMH 3aCH)KHBAJICS B OMOIHMOTEKE.

29. HENNIMYHBIE ®OPMBbI ITIArOJA
VERBALS

Henuunbie dopMmel rnarona: npudactue (the Participle), repynauii
(the Gerund), nadpunauTus (the Infinitive) nveroT criemyromye 0COOCHHOCTH:

1. CoBmemaoT B ceOe MpU3HAKK JABYX YacTeil peuu (mpuyactue —
IIPUJIAraTeIbHOTO U TJIarojia, repyHIni — CyIIECTBUTENBHOIO U IjaroJia,
MH()DUHUTHUB — IJ1aroja 1 CylEeCTBUTEIBHOTIO).

2. Beipaxatot nerictBue 0e3 yKkazaHMs JIMIIA, YUCJIa, BPEMEHU U Ha-
KJIOHEHUS1, TO3TOMY B IPEAJIOKEHUN HE MOTYT OBITh CKa3yeMbIM, a JIUIIb
3HAYUMOUW YaCThIO CKA3yeMOro.

3. Umetor dopmbr 3amora (Active, Passive) u Buma (Simple,
Continuous, Perfect, Perfect Continuous), koTopblie yKa3bIBatOT JIMIIIb Ha TO,
KaK IPOTEKal0 JACHUCTBUE MO OTHOLIEHWIO K JEWCTBUIO, BBIPAKEHHOMY
CKa3yeMbIM, T. €. OJHOBPEMEHHO C HUM, WJIH MPEIIIECTBOBAIO EMY.

4. MoryT BbICTYyNaTh B MPEJIOKEHNUN B PA3IMYHBIX (DYHKIUAX, T. €.
BBIITIOJIHATH POJIb PA3IUYHBIX YWICHOB MPEIJIOKEHUS.

5. MoryT ynoTpe0aTbcsi B COUETaHUH C 3aBUCMMBIMU CJIOBaMH, 00-
pasyst 000POTHI.

Ilpuuactue (the Participle)

Participle 1 V4 (-ing) asking

Active Passive JleficTBHE OTHOCUTEIIBHO
CKa3yeMOro
Simple asking being asked JleiicTBrEe OTHOBPEMEHHOE
Perfect having asked having been JleiicTBHE MpeAIeCTBYIOIIEE
asked
Participle 2 V3 (-ed) asked | [leiicTBue oJHOBpEMEHHOE/
MIPE/IIICCTRYIONICE
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OkoHyanmne

Ynorpebaenue

[Tpumep

[TepeBon

Yactb cka3zyemoro

The world is getting smaller.
Any company is_influenced by
changes in economic policy.

JInuno# dopmoii riaarona

Onpenencuue a) Governments impose_purchas- | JleficTBUTEIbHBIM
ing prices for food in war years. npuvacTuem (a, 0)
0) Firms producing PCs get high | CtpanarenbabM
profits. npuyactieMm (B)
B) The results obtained were [MpunaroynbM
promising. OTIpeACTUTETHbHBIM

npeoxkeHueM (a, 0, B)

OO6cTOSITEIHCTBO a) (While / When) reading he Jleenpuyactuem
made notes. HECOBEPIICHHOTO BU/Ia

6) Not being promoted, he left the | (a, 6)

company. Jeenpudactuem

B)_Having finished his COBEPILIEHHOTO BHA (B)
experiments he compared the [TpunarouHbIM
results. 00CTOATEIILCTBCHHBIM
r) Having been asked the npeuiokeHueM (a, 0, B, T, 1)
student answered all the
questions.
1) Unless tested the device
cannot be used.
He3aBucumplii npuyactaelii 06opotr (NAPC)
CylIecTBUTENbHOE (OOIIHil maIex)

(with) + Participle 1 (Vq

MEeCTOMMEHUE (MIMEHUTEIbHBIN MaeK)

a) Demand increasing due to international trade, domestic employment grows.

6) We have completed our experiment, (with) the data obtained being published.

ITepeBon

a) HpI/IIlaTOqHLIM MMPEAJIOKCHUCM C COO3aMU: TaK KakK, €CJIU, KOIr'dd, MOCJIC TOI'O KaK U T. [I.
6) CaMOCTOSTEIIbHBIM MMPEIJIOKCHUEM C COO3aMU: IpHUYEM, U, 4, HO, [1a.

Iepynanii (the Gerund)

The Gerund V4 (-ing) asking

Active Passive JelicTBuE OTHOCUTETBHO
CKa3yemoro
Simple asking being asked JleiicTBHE OTHOBPEMEHHOE
Perfect having asked having been JeiictBue
asked MpeIIeCTBYIONIEe
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OkoHyanmne

Ynorpebnenue [Tpumep [TepeBon
[Moanexaiee Marketing requires careful planning . CyIIeCTBUTEIILHBIM,
WHUHUTHBOM
YacTp ckazyemMoro Our aim is mastering English.
Jlomonuenue She likes studying.
Onpenencuue The reading hall is full of people. CyIIeCTBUTEIILHBIM,
(hall for reading) [pHjIaraTeabHbIM,
There are many ways of solving this UHOUHUTHBOM
problem.
OOCTOSATENHCTBO He left the room without saying good Jeenpuyactuem,

bye.

Instead of buying telecom shares,

| suggest you look at the biotechnology
sector.

After having been interrupted, he could
not say a word.

I/IH(i)I/IHI/ITI/IBOM, CYIIIGCTBI/I-
TCJIIbHBIM, HpI/II[aTO‘-IHI)IM
00CTOSITENBLCTBEHHBIM
MIPEITIOKEHUEM

I'epynananbHbie 000pOTHI

[Ipennor

MecToMMeHHUe (0ObEKTHBIN MaIexK)

Y CYIIECTBUTENbHOE (MIPUTSHKA-
TEJIbHBIN MaaexK)

CyIIeCTBUTENbHOE (OOIIHiT maaex)

We know of Adam Smith’s having
developed the principles of modern

+ Gerund economics.
> TIPUTSKATETEHOE MECTOMMEHHE His taking part in this work helped
+ Gerund me greatly.

They objected to the books being

+ Gerund sent immediately.

+ Gerund

I must insist on him paying.

HepeBoz[: MMpUAATOYHBIMHU NPCATIOKCHUAMHU C COFO3aMU:

YTO; TO, YTO; TOTO, YTOOBI U T. II.

Nupunutus (the Infinitive)

The Infinitive (V1)

Active Passive I[eI/ICTBI/IC OTHOCHUTCIIBHO
CKa3yeMoro
Slmp_le to ask _ to be asked TIeHCTBHE OHOBPEMEHHOE
Continuous to be asking —
Perfect to have asked to have been JlelicTBue
asked MIpeIIeCTBYIONICe

Perfect to have been —
Continuous asking
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OkoHyanmne

Ynorpebnenue [Tpumep [TepeBon
[Moanexainee To run a business is not an easy task. NuduantrBOoM
Yactb ckazyemoro | Our aim is to master English.
JlononHeHune She likes to write several drafts before she | CymecTBurensHbIM
writes the final report.
Omnpenencuue The desire to find the solution was Nudunutupom,
very strong. CYLIECTBUTEIIBHEIM,
The method to be used is not new. MpUIaraTelibHbIM,
He was the first to prove this law. OIPECTUTEIILHBIM
PUIATOYHBIM
NPEIO’KEHHEM C COIO3HBIM
CJIIOBOM «KOTOPBI» U CO
CIIOBAMH «OYZIET», «IIOIDKEH)
Oo6crostensctBo | We are doing this (in order) to reduce NudunutrBOM,
costs. CYILLIECTBUTEIbHBIM
Oo6opoTsl
OOBeKTHBII CyObeKTHbIN HH(DUHUTUBHBII O6opor «for + cymecTButenbHOE /
MHGUHUTHBHBINA o0opoTt MecTOMMEeHUE + HHOUHUTHUB»
000poT
CYILIECTBUTEIBHOE | CYILECTBUTEIBHOE CYIIECTBUTEIbHOE
TJ1aroJ +inf + rmaron + inf for + inf
MECTOUMEHHE MECTOMMEHUE MECTOMMEHHNE

ITpumep

He considers the_
students (them) to
doit.

The students (they) are

considered to do it.

He spoke loudly for the people
(them) to hear him.

It enabled the
students (them)

The information (it) proved
to be wrong.

It is necessary for us to do it.

to do it.
He sees the students | This is likely to be the case. For high profit to be obtained
(them) tO\do it. firms have to increase labor
efficiency.

ITepeBon
[TpunarounbiM [IpunarounbiM qonoHUTENBHBIM | [IpraaTouHbIM
JIOTIOTHUTEIIEHBIM MpEeIJI0KEHUEM 00CTOSTEIHLCTBEHHBIM
MPEJI0KEHUEM [IpocTeIM nipeIoKEeHNEM MPEIJI0KEHUEM
[TpocTeim [TpocTeIM nipeIoKeHnEM
MPEJI0KEHUEM
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30. NIPUYACTUE
THE PARTICIPLE

Exercise 92. Translate the following participial phrases into Russian:
a) the small Internet companies operating in Europe ...
food sold in supermarkets ...

a big manufacturing company ...

the people making the real decision ...

the supplied quantity ...

the new technology being used now ...

In mixed economies...

determining factors ...

increasing speed ...

less developed countries ...

b) varying input, the firm...

having learned the law of supply and demand, many students ...
being traded openly, government securities ...

having fixed this part, he ...

having been calculated, the program ...

being invited too late, he ...

when serving as a means of exchange,...

while being used, the device ...

having been given due attention, the problem ...

Exercise 93. Translate the following participial phrases into English:
OMmyOJIMKOBAB CBOIO MEPBYIO CTAThIO, SKOHOMHCT ...
pa3BUBaAroniasiACAa CTpaHa ...

pa3BuTasd DKOHOMHKA ...

ABJIISACH CPCACTBOM HAKOIUICHUA, ICHBIUA ...

3Has1, YTO PECYPCHI OTPAHUYEHHEI ...

MOHOIIOJIMU, KOHTPOJHUPYIOINUC [ICHHI ...

oum61<a, HaﬁILGHHaH B BBIUHUCJICHUAX ...

HN3Yy4HMB 3TO ABJICHHUC, yquBIﬁ cee
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Exercise 94. Translate the following sentences paying attention to
functions of Participle | and Participle I1.
1. A country wishing to limit its population may discourage
iImmigration and encourage emigration.
2. While explaining the results of the experiment the professor wrote
many formulas on the blackboard.
3. The amount of calculations carried out depends on the quality of
the computers used.
4. Loan capital is more appropriate to firms operating in stable
markets.
5. Having obtained the necessary results, we stopped our experimental
work.
6. Being an experienced manager, he found the mistake at once.
7. With increasing numbers entering the working population,
expanding industries will have little trouble in recruiting labor.
8. Well done, the device will function properly.
9. Increasing concern has been expressed about the continued
growth in world population.
10. The information obtained is very valuable.
11. In advanced capitalist societies, advertising is a powerful instrument
affecting demand in many markets.
12. While writing my paper | consulted some reference books.
13. Having been repaired, the device began working much better.
14. Put simply, a business process is the set of activities performed to
serve a customer.
15. While looking through the paper published a month ago | found
the results confirming my conclusions made up earlier.
16. Having examined the ancient book, the scientist said it belonged
to the 10" century.
17. When questioned, | did not know what to answer.
18. The selling price must relate to the production cost.
19. The new technology used now in less developed countries is taken
from the developed ones.
20. Taxes placed on goods and services are known as indirect taxes.
21. Having been well tested, the machine was put into operation.
22. The conflict between people’s limited budget and their unlimited
demands results in the problem of choice.
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23. When growing rapidly, average wages add to production costs
considerably.

Exercise 95. Translate the following sentences having the Nominative
Absolute Participial Construction (NAPC).

1. Natural resources are one of the three factors of production, the
other two being labor and capital.

2. Other things being equal, an increase in wage rates will increase
the cost of labor.

3. Credit cards being accepted in payment of purchases, people feel
that a bank account is as good as money in their pocket.

4. Power is the basis of civilization, all industry and transport being
dependent upon power to some extent.

5. Auctions make buyers bid against each other, with the seller
taking a passive role.

6. The latest measuring devices having been used, the results of
these measurements became highly reliable.

7. The country having a budget deficit, inflation may follow.

8. National income increasing, the total number of transactions
usually increases.

9. With the experiments having been carried out, we started new
investigations.

10. The price level rising, the value of money decreases.

11. An increase in price of one percent resulting in an increase in
supply of more than one percent, the supply is called elastic.

12. The world distribution of income is unjust, with poor countries
having 61 percent of the world population, but receiving only 6 percent of
the world income.

13. A bank is a business, its owners and managers aiming to maximize
profits.

14. We continued our experiment, with some laboratory assistants
helping us.

15. The new equipment being used, the company was able to decrease
the cost of production and obtain higher profits.

16. Money has a number of functions, with medium of exchange
being the principal one.
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17. The Central Bank acting as banker to commercial banks, the
financial system works steadily.

18. Both Williams and Andrews claim the property, the former
Insisting that it was a gift.

19. The economic study had been done at the request of the govern-
ment, the latter not accepting the recommendations the economists arrived at.

20. Two treaties were signed in 2010 and 2012, but only the latter
being considered valid.

Exercise 96. Translate the following sentences paying attention to -ed
forms: Participle 11 (V3) and verbs in Past Simple (V>).

1. The firm closed down last month had been established before
World War IlI.

2. High profits were earned by the company when the demand for its
goods increased.

3. The decrease in the consumer’s income was followed by the
increase in the demand for inferior goods.

4. Methods employed in solving a problem are greatly influenced by
the research objective set up beforehand.

5. He offered the best solution of the problem concerned.

6. Purchasing on credit, the buyer becomes the owner of the good
when it has been delivered to him.

7. Once started, the process is difficult to stop.

8. The damaged parts were immediately examined and repaired by
a specialist.

9. The risk premium required by stock holders averaged 5.3 %.

10. By 1997 the national debt had doubled and the British economy
was once again at the risk of repeating the pattern of inflation followed by
recession.

11. The results obtained differed depending on the method used.

12. The Asia Pacific region has succeeded in achieving rapid growth,
which has exceeded 7 % annually during the past few years.

13. Changes in prices of the products produced with the same
resources will change the supply.

14. Powered by the industrial sector, real gross domestic product grew.

15. The procedure proposed provided the required mechanism of
reaction.
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16. Natural monopolies including transport are controlled by the
state.

17. The computer crashed while | was loading up the new software.

18. An educated, skilled and fit workforce is more productive; that is
why education and healthcare play an important role in the economy.

19. European markets finished lower on Friday.

20. Several surveys have been conducted recently concerning the
relationship between work and play.

Exercise 97. Choose the correct form. Translate the sentences.

1. Both small businesses and large corporations are (influen-
cing/influenced) by changes in economic policy of the government.

2. An improvement in technology may produce absolutely new
goods that are not (knowing/known) to consumers.

3. The national income includes the incomes of all the people
(living/lived) in the country.

4. The experiments (carrying/carried) out at our laboratory are rather
interesting.

5. Macroeconomics and microeconomics are two branches of
economics (studying/studied) separately.

6. The results (receiving/received) changed with the material used.

7. The problem (concerning/concerned) must be (considering/
considered) in detail.

8. The period (following/followed) this invention was very productive.

Exercise 98. Translate these sentences into English.

1. ITpu Hanucanum oT4eTa OyXrajaTep UCIOIb30Bal CIIPABOYHUKH.

2. IIpennoxeHHbI MEeTOT ObLT OYeHb (P HEKTHUBEH.

3. [Ipu mpounx paBHBIX YCIOBUSX YMEHBIIEHHE CIIPOCa MPUBEILT
K CHUKEHUIO I1IEH.

4. IInaHoBasi 3KOHOMHUKA MPSIMO TPOTUBOTOJIOKHA PHIHOYHOM .

5. M1 — HeOobIIas MPOU3BOACTBEHHAS KOMIIAHUSI CO IITATOM HE
6omnee 50 COTpYIHUKOB.

6. [TonydeHHBIE pe3yabTaThl PA3IMYAIUCh B 3aBUCUMOCTU OT HC-
MOJIb3yEMOr0 METOIA.

/. DTH 11Ba pazjienia SJKOHOMUKH U3Y4YarOTCsl HA BTOPOM Kypce.

8. 51 momomien Kk HeMy, ToJiarasi, 9T0 OH — MEHEPKEep KOMITaHUH.
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9. OcHOBHOH (akTop, BIUSIONIUNA Ha CIPOC, 3TO YPOBEHb A0XO0Aa
OTpeOUTENEH.
10. ITocne Toro Kak 3KCHEPUMEHT OBbLI MPOBEAEH, ObUIM IOJTYYEHBI
WHTEPECHBIC JIaHHBIC.

31. FEPYHOUN
THE GERUND

Exercise 99. Translate into Russian paying attention to the different
functions of the Gerund.
1. He denied hearing this story before.
2. Methods of designing machines are changing.
3. The work of these geologists is looking for oil and gas in new areas.
4. Finding an adequate solution to this technological problem will
require much time.
5. Before hiring a new employee the personnel manager always
invites the latter to an interview.
6. Many people do not like talking to a machine.
7. The professor thanked everybody for listening to him with attention.
8. The engineer insisted on checking the device without delay.
9. Getting through to the right person is not always easy.
10. The way of avoiding these difficulties is unknown at present.
11. The aim of the company is either issuing extra stocks or borrowing a
loan from a bank.
12. Before conducting experiments he made numerous observations.
13. Taking into account individual components resulted in a radical
change of the entire system.
14. He was against using this technique.
15. The work will not be completed without summing up the results.
16. Scientists are not far from solving this problem.
17. 1 look forward to meeting you at the conference.
18. After having signed a number of documents, the owner transferred
his real estate to the educational centre.
19. Investing money in new technologies usually increases the
production efficiency.
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20. In preparing a balance sheet the accountant made a few serious mis-
takes.

21. We never launch a new product without doing extensive market
research.

22. 1t is worth mentioning in this connection that this technique
found no support two years ago.

23. On pressing the button you will get the information desired.

24. Wal-Mart became successful by selling high volumes at low
prices.

25. Combining two financial groups successfully is always a difficult
task.

Exercise 100. Find out Gerundial Constructions in the following
sentences and translate them.
1. Scientists’ working together and their sharing ideas with one
another is of great advantage for science.
2. There was no hope of their solving this complex engineering
problem.
3. The first experiment being a failure does not mean anything.
4. There are unmistakable proofs of his having been wrong.
5. I never doubted his working in this field of science.
6. He was surprised at the problem not having been solved yet.
7. All of us were sure of the test having been successful.
8. His taking part in the development of the new system was a great
help to us.
9. The manager knows of the company having suffered losses
recently.
10. The bankers suggested the interest on the loan being paid within
three days.
11. Success in science often results from the scientist’s confining his
attention to one problem for many years.
12. A new firm cannot enter the market without its goods being
distinguished from others by means of an original trademark.
13. We knew nothing about his having been sent to London.
14. They objected to the data being published before all the experi-
ments were completed.
15. There is no hope of our getting high yields in the near future.
16. We know this company having entered a new competitive market.

87



17. Their having failed in developing this problem is quite unders-
tandable.

Exercise 101. Complete the sentences using:
a) the Gerund:
Example: I thanked him for ...
| thanked him for helping us.
They liked ...
He is very fond of ...
Gradually [ am used to ...
She is in the habit of ...
We think of ...
There is no hope of ...
I like your idea of ...
It is useless/no use ...
. It 1s no good ...
10. He 1s busy ...
b) Gerundial Constructions
Example: I was sure of ...
| was sure of his returning earlier.
1. We did not mind ...
. I have always been aware of ...
. Have you heard of ...
. The teacher objected to ...
. | was greatly pleased at ...
. She did not like ...
. This depends on ...
. In spite of ...
9.l insisted on ...
10. They are proud of ...

©Co~Nook~wNE
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Exercise 102. Find out all ing-forms (V,) and ed-forms (V,; V3) in
the following sentences and translate them.

1. Developed European countries are exporting high quality goods
all over the world.

2. There are few papers dealing with this subject.

3. Changes in consumer demand have influenced goods quantity and
quality demanded.
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4. Research is searching without knowing what you are going to
find.
5. The optimal quantity supplied is being affected by non-economic
factors.
6. It is believed that there is hardly any chance of there being a mis-
take in these calculations.
7. In a mixed economy restrictions imposed are to be in the interests
of society.
8. Starting a business in a free market economy a person stimulates
the production of different commodities which are important for society.
9. Money income earned in the production process is then used to
buy goods and services.
10. Being interested in the subject you are studying is the best moti-
vation for learning.
11. The problem of using this method is paid great attention to.
12. Property leased to a tenant should be maintained in good condition.
13. After the oil field is exhausted, one will have to think of ways of
transferring this huge area to other uses.
14. Unless discussed, this new method must not be used.
15. They succeeded in obtaining all the instruments they needed.
16. We cannot make progress in our research without taking into
account the results of other researchers.
17. Events like wars or natural disasters which cannot be controlled
by governments may affect the economy in unexpected way.
18. By introducing new educational means students are enabled to
master the subject quicker.
19. This law takes into account forms of energy other than those
discussed so far.
20. The Nasdaq index has been falling for three weeks.
21. With contacts of research workers expanding in all fields,
knowledge of foreign languages is of great use to scientists nowadays.
22. | cannot help thinking about the tasks facing us in the future.
23. PCCW is building a residential and office center for technology
companies in Hong Kong.
24. Revenues obtained from selling output depend on the demand on
the market.
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25. In a free market economy producers try to satisfy all consumer’s
tastes producing everything a consumer demands.

26. The increase in government spending and borrowing will have
some effect on the rate of interest.

27. The OPEC is an international organization established for the
purpose of regulating quantities of oil sold.

28. With the prices being very high, the company managed to sell
the goods at a profit.

29. The output can be increased by raising labor productivity.

30. A joint-stock company has been established recently, with a
group of businessmen combining their assets.

Exercise 103. Translate into English.

. CTouT paccMOTpeTh ITOT BOIIPOC.

. becrione3zno gymars 00 3TOM.

. He crout Tpatuth Ha 3TO BpeMSI.

. Cmacu60, 4TO BBl OAMHUCAIH STOT BaXKHBIN KOHTPAKT.

. [Togymaiite 0 TOM, Kak OOBSICHUTD PE3YJIbTAThI BAILIUX OMBITOB.

. Bbl Oyzete Bo3pakaTh MPOTHUB YYacTHsI B 3TOM MPOEKTE?

. 5 ycTan oT BBINOJIHEHUS TaKOH paOOTHI.

. HecMoTpst Ha morbeM 11eHbI, CIPOC Ha TaHHBINA TOBAp OB BEJHK.

00O ~NO Ol WN -

32. UHOUHUTUB
THE INFINITIVE

Exercise 104. Point out the forms and functions of the Infinitive.
Translate the sentences.

1. It is never too late to learn.

2. To know everything is to know nothing.

3. Wage increases have helped to push up prices.

4. It is important to carry out these changes as quickly as possible.

5. To be less dependent on distance many companies are investing
large amount of money in new means of communication.

6. There are really only two problems to solve.

7. To enter this market requires a lot of hard work.

8. The increase in population tends to outrun the increase in food

supply.
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9. The advantages of this method are evident enough to be taken into
consideration.

10. Starting a new business a person has to analyze such factors as
the total amount of capital to be used, the amount of money to be bor-
rowed from a bank, etc.

11. Engineers have developed a soya-based car fuel to replace pe-
trol.

12. Opportunity costs are to be calculated for labor and financial
capital used in production.

13. The company is not large enough to invest much in production.

14. More than 200 years ago, Adam Smith formulated a theory to
describe industrial practices that were already centuries old.

15. The enterprise is too big to be located in the city center.

16. Intermediate goods are the goods to be used as inputs in pro-
duction of other goods.

17. The government has to borrow from the Central Bank to pay the
debt to the IMF.

Exercise 105. Translate the following sentences paying attention to
the function of the Infinitive at the beginning of each sentence.

1. To introduce statistical methods in economics was the purpose of
the paper.

2. To answer this question we studied a great deal of publications on
the problem.

3. To provide experimental evidence for the theoretical ideas
researchers make more and more complicated experiments.

4. To study human populations it is necessary to analyze great
masses of information concerning their size, age and sex grouping, etc.

5. To know what economic problems are to be expected in the future
is of great importance for every society.

6. To write with precision it is necessary to have thought logically
first.

7. To explain this simple fact is not so easy.

8. To attract customers’ attention retailers may reduce prices for
goods for a definite period of time.

9. To produce goods the factors of production are required.

10. To overcome this difficulty various means were tried.
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Exercise 106. Translate the following sentences paying attention to
the word «ordery.

1. In order to understand the procedure, consider the following analogy.

2. Put the numbers in reverse order.

3. What do | have to do in order to convince them?

4. These are the magnitudes of the same order.

5. This machine is out of order. It has to be tuned.

6. The chairperson called to order.

7. He was ordered abroad to study venture capital market.

Exercise 107. Translate the following sentences paying attention to
the Infinitive in the function of an attribute.

1. We have a number of problems to solve.

2. The power station to be built here will supply this region with
electric energy.

3. There is one more phenomenon to be involved into this solution.

4. The amount of computations to be done is great.

5. The data to be analyzed involve knowledge of numerical methods.

6. The equipment to be installed will need more monitoring.

7. The explanation will probably be considerably modified in the
years to come.

8. There are some obstacles to overcome.

9. The procedure to be followed depends upon the data being stu-
died.

10. Labor supply is a measure to be offered at given wages at a certain

time.

Exercise 108. Change the following sentences according to the model.
Model: This is the novelty which must be paid attention to.
This is the novelty to be paid attention to.

1. This is the amount which must be calculated.

2. This is the concept which will be involved in our studies.

3. One of the fundamental decisions which will be taken by
entrepreneurs concerns the geographical location of their enterprises.

4. Another fact which should be borne in mind is that it is necessary
to replace the whole management team.
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Exercise 109. Translate the following sentences paying attention to
the Infinitive as part of predicate.

1. The engineers are to test the system to be used.

2. The aim of technological advances is to increase labor productivity.

3. To make a higher profit the seller is to raise the price and reduce
the production cost.

4. In the market economy companies are to compete with each other
for a share of the market.

5. New sources of cheap energy are to be found.

6. The role of the government in the free market is to supply what
people want.

7. These methods are to be described in the next chapter.

8. One of the main functions of the Internet is to deliver information
as quickly as possible.

33. CYBbEKTHbIN MHOUHUTUBHbLIN OBOPOT

THE SUBJECTIVE INFINITIVE CONSTRUCTION
(COMPLEX SUBJECT)

CymiecTBUTENBHOE Ckazyemoe Nupunutus
(B oOmmIeM magexe)/
Mecroumenune
(B IMEHUTEIHLHOM MAJEKe)
Is said
The value/it proves to change
is likely

Mexnay CyiiecTBUTENbHBIM (MECTOMMEHHEM) U MHPUHUTHUBOM CTO-
UT CKa3yeMO€ MPEJIOAKEHHUS, BRIPAXKAIOIIEE MHEHHUE, CYKICHUE WA TIPE/I-
MTOJIOKEHHE.

This value is said to change. H3BecTHO, YTO DTO 3HAYEHHUE MEHSIETCS.
DT0 3HAUYEHUE, KAK U3BECTHO, MEHSIETCS.

MHGHI/IG, CYKACHUC, TPCAITIOJIOKCHUC B TAKOM MPCATOKCHUU MOTYT
OBITH BBIPAKCHbI CJIICAYIOIIWMMM I'JIaroJiaMm:
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1. B cTpanarensHOM 3ajo0re:

is said W3BecTHO, TOBOPAT, ...
is believed Ionararor, ...
IS supposed [Mpeanonararor, ...
IS expected Oxupaior, ...
Is assumed JlomycKkaror, ...
This value IS reported to change CooOmraror, ...
Is considered (to be changing) Cuwraror, ...
is proved/proven (to have changed) JlokasaHo, ...
is found Haiineno, ...
is stated Vcra"oBieHo, ...
is thought Jymaror, ...
etc. U T. JI.
2. B neficTBUTEILHOM 3aJI0re:
seems Kaxercs, ...
appears to change [To-BuIUMOMY, ...
This value turns out (to be changing) OxkasbiBaercs, ...
proves (to have changed) —n—
happens, chances —n—
is likely BeposiTHo, ...
is unlikely Mauio BeposITHO, ...
is sure besycnosHo, ...
is certain HenpewmenHo, ...

Exercise 110. Translate the following sentences paying attention to
the Subjective Infinitive Construction.

a) CymectButenbHoe + ckaszyemoe (P.V.) + HHQUHUTHB

(MecTonMeHwue):

1. Decreased size of population is expected to result in slower
economic growth.

2. The free market economy is said to be more flexible.

3. The companies are known to be losing a lot of money.

4. This hypothesis has been found to disagree with experimental
evidence.

5. Motorola is supposed to receive more than 400 million dollars
annually.

6. Only corporations are considered to raise enough money for such
expensive projects as space exploration, environmental protection, etc.
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7. The capitalist system is proved to be based upon the principle of
competition.

8. Consumers are assumed to be aware of all the goods and services
they could buy.

9. Supply prices are believed to depend on production costs.

10. Good which are close substitutes for one another are stated to be

in competitive demand.

0) CymectButensHoe + ckazyemoe (A.V.) + uHOUHUTHB

(MecTonMeHHE):

1. The management seemed to be moving in the right direction.

2. Many mergers appear to have been motivated by a desire to
Increase market power.

3. An alternative point of view turned out to be more useful.

4. The inflation rate proved to be higher than anticipated.

5. The two sides happen to have come to the agreement.

B) CymectBurenasHoe IS likely

(MecTonMeHue) isunlikely + wuHpuHUTHB

IS sure
IS certain

1. They are likely to be familiar with this phenomenon.

2. The experiment is unlikely to be successful.

3. The larger firm was sure to have a diversified market structure.

4. This tendency is certain to have been mentioned frequently in the
past.

34. OBbEKTHbIA MHOUHUTUBHbLIK OBOPOT

THE OBJECTIVE INFINITIVE CONSTRUCTION
(COMPLEX OBJECT)

Ckazyemoe (A.V.) + cyiiecTBUTENbHOE (OOLINI TTaeK )
+ UHUHUTUB
MecTonMeHHue (0ObEKTHBIN MaJIeK)

CkazyeMoe ipu 00bEKTHOM HH(PUHUTHBHOM 000POTE BHIPAKACT:
a) MHEHHUe, Cy)KIeHue, MpPeanoJioKeHne

assume — J0MmycKaroT

believe — momararor

consider — cumrTaioT
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Scientists (they) expect — oxugaror the data to be reliable.
doubt — comueBaroTcs
know — 3HaroT
SUPPOSE — mpeanoaararoT
think — nymarot
YueHnle CUUTAIOT, YTO 9TH JaHHBIC 3aCIYKUBAIOT IOBCPUA.

Exercise 111A. Translate the sentences into Russian paying attention
to the Objective Infinitive Construction.

1. They expected us to have found the answer to the question.
. I don’t think this approximation to be of value in this case.
. We assume these results to be accurate enough.
. Economists expect the price of ore to rise as its supply reduces.
. The manager considers the results to be unsatisfactory.
. Politicians doubt the strike to end soon.
. We suppose interest rates to rise next week.
. One may expect this prediction to be quite reliable.

9. As prices for fuel and electricity have risen, some economists
think all prices to increase.

10. Many experts believe the growing use of fertilizers and other

chemicals to present a danger for the environment.

OO O WDN

0) ’KeJ1aHUe U BOJICM3bSIBJICHUE:
wish
desire
I want you to make the changes as soon as possible.
require
mean
intend
bl X0ouy, 4T O6I)I BbI BHCCJIM UI3BMCHCHHA KaK MOKHO CKOPCC.

Exercise 111B. Translate the sentences into Russian paying atten-
tion to the Objective Infinitive Construction.

1. He did not mean you to carry out this experiment.

2. My chief wants this work to be done in time.

3. I intended him to go on a business trip.

4. They required us to take an examination.
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B) NPUKA3AHHA:
makes
Inflation  causes prices (t0) increase.
forces
gets
I/IH(pnﬂuI/Iﬂ BBI3BIBACT IIOBEM IIEH.

Exercise 111C. Translate the sentences into Russian paying attention
to the Objective Infinitive Construction.

1. One should make property work and bring in profit.

2. If we could only get him to start a new business.

3. This forces one to regard two problems.

4. An increased rent causes the manager to raise the price of the output.

5. The low demand for mineral resources forces landowners to transfer
land from mining to other uses.

6. You must make them check the results carefully.

I') BO3MOKHOCTD, pa3pelieHne:
allowed

This apparatus enabled accurate measurement (to) be carried out with ease.
let
permitted

310t pubOp ain BOZMOKHOCTh 0€3 TpyZa BINOIHUTH TOYHBIE U3ME-

pEHUSL.

Exercise 111D. Translate the sentences into Russian paying atten-
tion to the Objective Infinitive Construction.

1. Recent studies enable an important decision to be made.

2. The small rent lets tenant farmers make their farms profitable.

3. The new procedure permitted us to overcome the above difficulties.

4. Competition allows the free market economy to be highly efficient.

a) pusmueckoe Bocnpusitue U omymenue: {0 see, to observe, to

hear, to feel u ap.:
We see the direction constantly}é change.
MBI BHUJIUM, UTO HaHpaBJ'IeHI/Ie ITIOCTOAHHO MCHJIACTCA.
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Exercise 111E. Translate the sentences into Russian paying atten-
tion to the Objective Infinitive Construction.

1. We see the prices for consumer goods have been raised.

2. | hear somebody speak in the next room.

3. He is a wonderful teacher and | have never seen him lose his temper
or get angry about anything.

35. MPEANIOXHbIA UHOUNHUTUBHbLIA OBOPOT
THE FOR-TO-INFINITIVE CONSTRUCTION

CYIIECTBUTEIBHOE

For + (oOmmit majiex) + WH(PUHUTHUB
MECTOMMCHHE
(OOBEKTHBIN MAJIEK)

[TepeBon:
(B TOM), 4YTO/4TOOBI MoJIeXKaIlee CKa3yeMoe

It is important for labor markets to be more effective.
BaxxHo, 4TOOBI pIHKHK TpyAa ObLIH O0Jiee 3PHEKTUBHBIMU.

Exercise 112. Translate the following sentences paying attention to
the For-to-Infinitive Construction.

1. For depressed industries to be developed, investments from
abroad may be needed.

2. The rate of unemployment is too high for the trade unions to
ignore it.

3. For the company to be profitable, sales need to rise by at
least 60 %.

4. 1t is difficult for us to accept these terms.

5. It is impossible for an economy to achieve full employment but it
Is desirable to have the lowest possible unemployment rate.

6. Here is one more important point for the speaker to explain.

7. There are two ways for companies to make a profit.

8. For this method to be valuable, it must be improved.

9. This mechanism is provided with special devices for the whole
system to function automatically.

10. The company’s investment in machinery was too big last year for

the dividends to be high.
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Exercise 113. Find infinitive constructions in the given sentences
(Complex Subject, Complex Object and For-to-Infinitive Construction)
and translate them into Russian.

1. This country is likely to obtain a comparative advantage in pro-
ducing aircraft.

2. High unemployment benefits appear to have caused more un-
employment.

3. On the one hand, he says he wants the company to grow but, on
the other hand, he does not want to invest .

4. Their proposal is unlikely to be rejected.

5. International trade is known to have assumed its present form in
the 17"-18" centuries.

6. Modern discoveries allow science and engineering to be deve-
loped rapidly.

7. This phenomenon does not appear to have been studied.

8. Since that time the market share of these larger companies does
not seem to have increased.

9. In fact, demand is likely to be highly elastic when the market is
depressed.

10. This approach to the problem discussed turns out to be the most
satisfactory.

11. We assume man to have appeared on the Earth more than a million
years ago, but we still do not know exactly where.

12. I want the translation to be finished tomorrow.

13. Money is considered to have been used since early times.

14. They are unlikely to change their plans.

15. We didn’t notice the professor leave the auditorium.

16. There is an apparent tendency for science to become more and
more mathematical.

17. These economists happen to work at the same problem.

18. His idea was fruitful enough for others to take it up and develop it
further.

19. Reliable computer programs are sure to be of great aid in calculating
accounting data such as salaries, taxes, expenses, etc.

20. Developing economies with depressed industries are thought to
attract investments from abroad.
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Exercise 114. Translate the sentences into Russian paying attention
to the meanings of the following words: «appear», «prove», «makey,
«cause», «force», «get».

1. Your advice proved to be helpful.

2. The validity of this theory was proved in the 19" century.

3. Our products are proved to be the best on the market.

4. A too rapid growth rate in the economy may cause inflation to rise.

5. Among other causes of rising inflation is the growth in the
circulating money supply.

6. In the auction all participants make bids, and the highest wins.

7. Division of labor and specialization make manufacturers work
more efficient and productive.

8. | could not_get my consumer to sign the contract. He needs more
time to come to the decision.

9. We have got one more problem to solve today.

10. The factory is very busy. They got a large order from Japan last
week.

11. Modern economics appeared in the 19th century.

12. The limit to output appears to be determined by the quantity of
capital inputs.

13. The rate of unemployment is a percentage of the total labor force
without a job.

14. Several requirements have to be satisfied to force such a device to
operate efficiently.

Exercise 115. Translate into English.

1. Pemienue 3Toil mpoOjeMbl, KaKk U3BECTHO, 3aBUCUT OT MHOTHX
(dakTOpoB.

2. Oxupnaercs, 4To padbora OyIeT 3aKOHYEeHa B CJIEIYIOIEM MECHLIE.

3. 4l monarato, 4To B OyAyIleM roAy MPOLIEHTHAs CTaBKa MOHU3UTCS.

4. JIns mpou3BOACTBA TOBAPOB HEOOXOAUMBI (PAKTOPHI MPOU3BOICT-
Ba, T. €. 36MJIsI, TPy U KaluTanl .

5. MHOrHMe y4yeHble CUMTAIOT, YTO COBPEMEHHAs MPOMBILIIEHHOCTh
CO3/1a€T yIrpo3y OKPY’KaIOLIEHN cpee.

6. st mostydeHus: BICOKOW MpHUOBLIM (pripMe HYKHO ObUIO 3HAYU-
TEJIbHO MOHU3UTh U3JIEPKKH MPOU3BOJICTBA.
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7.3aBoj, KOTOPBIA MOCTPOAT B 3TOM ropoje, Oyner oOecrneunBaTh
CBOEU NPOAYKIIMEN LIENBIM PETUOH.
8. HeoOxoauMo 3akynuTh HOBOE 00OpYJIOBaHHE, YTOOBI KOMIIaHUS
pa3BUBAJIACK.
9. OH nepBbIM OTBETHUJ Ha BCE TPYIHBIE BOMPOCHI.
10. Majno BeposITHO, 4TO 3Ta npobiema OyJeT pelieHa B Onmxaniem

OyyIieM.
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APPENDIX 1
OCHOBHBIE ITPABUJIA YTEHUA

OcHOBHBIE npaBujia YTCHUS IVIACHBIX B YIAPHOM CJI0T€

bykBbI I Tun II Tun III T IV tun
(anndaBuTHOE (kpatkoe (+r+coru.) (+r+rnacHas)
YTCHUE) YTCHUE)
Aa [ei] name [«] cat [a:] car, card [€o ] care
Oo [ou] no [2] not [>:] for, fork more
Ee [i:] be [e] pet [2:] her [ia] here
Uu [ju:] cube [A] bus fur [jua] pure
li [ai] like [i] film girl [aio] fire
Yv my myth myrtle tvre
IIpaBuIa YTeHHs] HEKOTOPBIX COIIACHBIX
[s] |Ilepene,i,y cent ["sent]
Ce cinema ["sinim?]
[K] |[B ocranbHbIX citydasx cycle [ “saikl]
cake [ 'keik]
[d3] [Ilepene, i,y age [eid3]
gin ["d3in]
- gyp ["d3ip]
[0] |[B ocranbHbIX cityyasx go ["gou]
HcknroueHus begin [bigin]
get ["get]
gift [ gift]
give ["giv]
girl ["ga:l]
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OxkoHYaHue

[s] |B Hauane cioBa o) ["sou]
[Tepen rmyxou comiacHOU steel ["sti:l]
S8 B KOHIIE CIIOBA TOCIIE TIyXOMh books ["buks ]
COIVIacCHOM
[z] |B xoHIe coBa mocie rIacHoM days ["deiz]
B koHIIe cioBa mocie 3BOHKOU rains [ ‘reinz]
COIVIacCHOU
Mexny riacHbIMU rose [ Touz]
[ks] [ITocne ymapHoii riacHoi SiX [ "siks]
XX [0z] |Ilepen ymapHbIM ciioroMm exam [ig'zaem]
CoueraHus COIIacHbIX
ck [k] clock [kIok]
[1] chess [fes]
ch [K] chemistry ['kemistri]
U] machine [ma'fizn]
tch [1] match ['met ]
[f] enough [I'NAf]
gh [] high ['hail
light ['lait]
kn [n] know ['nou]
[f] photo ['foutou]
ph [V] nephew ['nevju:]
sh [ she [[i:]
[0] they [Sei]
th [0] three [Ori:]
month [MANO]
[t] Thames ['temz]
wr [r] write [rait]
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CoueTaHus rJIacHbIX

ea [i:] sea [si:]
ee see [si:]
oa [ou] boat [bout]
ai [ei] rain [rein]
ay pay [pei]
ey they [Oei]
ei veil [veil]
00 [u:] cool [ku:l]
[u] book [buk]
ou [au] out [aut]
ow now [nau]
oi [oi] oil [oil]
ew fu:] new [nju:]
au [>7] pause [po:7]
aw draw [dro:]
ea+d [e] head [hed]
CodyeTaHud IIACHBIX € COTJIACHBIMH
a+ll [o:] all [o:1]
a+lt [o:] salt [so:l'lt]
a+lse [o:] false [fo:ls]
a+lk [o:] chalk [fo:K]
a+lm [a:] calm [ko:m]
a+lf (Iv) [a:] half [ho:f]
halves [ha:vz]
a+nce [a:] chance [fa:ns]
a+nch [a:] ranch [ro:nt]
a+nt [a:] plant [plont]
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OxkoHYaHue

a+ss [a:] glass [gla:s]
a+st [a:] last [lo:st]
a+sk, sp [a:] ask [a:sk]
grasp [gra:sp]
a+ff, th [a:] staff [stou:f]
bath [ba:0]
w+ar [>:] warm [wo:m]
w+or [2] work [wa:k]
CouyeTaHHuA COTJIACHBIX C IJIACHBIMH
cial [[2] official [o'fifa]]
cient sufficient [sa'fifont]
dier [d39] soldier ['sould3s]
dure procedure [pra'sid3o]
gue [0] dialogue ['daial(9)g]
gui guide ['gaid]
qu [kw] quite (well) ['kwait]
que [K] cheque ['fek]
sion [3(o)n] television [teli'viz(a)n]
[J(=)n] pension ['penf(o)n]
ssion [(=)n] mission ['mif(a)n]
Uckmouenue: combustion [kom'bAstf(a)n]
sure [39] measure ['me30]
[f] pressure ['prefa]
tion [J(a)n] dictation [dik'teif(o)n]
tual [fuol] actual [‘eekfuol]
[tjual] mutual ['mju:tjual]
ture [1o] future ['fju:tfa]
tury century ['sentfori]
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OxkoHYaHue

HckimoueHue: mature [ma'tjua]
premature [prema'tjus]
wh+o [h] who [hu:]
what ['wot]
wh + npyras (W] where [wea]
IJIaCHas
white ['wait]
why [wai]
w+er [2] answer ['a:nsa]
w +or [wa:] ork ['wa:k]
w+a; qu+a
[o7] war ['wo:]
. wall [wo:l]
quarter ['kwo:ta]
+ npyras [O] want [wont]
cortachas quantity [kwontiti]
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APPENDIX 2

ITPABUJIA TTPOUBHOIIEHUSA U ITPABOIIMCAHMUSA

OKOHYAHMUN -(E)S, -ED, -ING

1. Oxonuanue -(€)S MCHOJB3yeTCs I 00pa30BaHUS MHOXKECTBCH-
HOT'O YHCJIa MMCHH CYIIECTBUTEIBHOTO U TJIarojia B 3-M JIMIIEe €IHHCTBEH-

HOTO YKCIia BUIOBpeMeHHO# Gopmbl Present Simple.

IIpousHomenue

3BYyK OKOHYaHME OCHOBBI CYIIECTBUTEIBLHOIO
WU TJiaroja

[Tpumep

[s] TJIyXOW COTJIACHBIN 3BYK

books, works

[z] 3BOHKHH COTJIACHBIH 3BYK
TJIACHBIN 3BYK

friends, runs
days, pays, goes

[iz] WIS WA CBUCTSIIIUNA COTJIACHBIN
3BYK

watches, manages

IIpaBonucanue

EZ[I/IHCTBeHHOG N MHOKCCTBCHHOC YHUCJI0O UMCHHU CYIICCTBUTCIBLHOT'O

[IpaBuino npaBonucanus EnuncTtBeHHOE | MHOXECTBEHHOE
YHUCJIO0 YHUCJIO0
-S — 117151 OOJIBIITMHCTBA CYIIECTBUTEIBHBIX bag bags
table tables
car cars

-€S — JUIsl CYILIECTBUTEIIbHBIX, OKAHYMBAIOIINX-

Cd HaA.
-0 potato potatoes
-S class classes
-X box boxes
-sh bush bushes
-ch watch watches
-ies — coryiacHsblIii 3ByK + Y country countries
-S — TJIACHBIN 3BYK + Y day days
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OxkoHYaHue

Ucknrouenus:

HU3MCHCHHUC I''TACHOT'O B KOPHC

CYICCTBUTCIBHLIC C MHOXKCCTBCHHBIM YN CJIIOM

Ha —€n
OTCYTCTBUC U3MCHCHUA

CymeCTBI/ITeJIBHLIe, OKAHYHUBAKOIIIHUEC
Ha f/fe—ves

HMHOA3BIYHBIC CJIOBA

man
woman

child
sheep
means
leaf
wife
analysis
datum

men
women

children
sheep
means
leaves
wives
analyses
data

IIpaBonucanue riaroJia B 3-M Jinie eTHHCTBEHHOT0 YHCJIA
BUIOBpeMeHHO# popmbl Present Simple

IIpaBuio npaBonucaHus CnoBapnas popma 3-e 1o
rjiarojia €. yucia
-S — JuUTs1 OOJIBIIMHCTBA TJIAroJIOB work works
drive drives
buy buys
-€S — JUIA TJIarojioB, OKaHYMBAIOIIUXCS
Ha:
-0 do does
-S miss misses
-X mix mixes
-sh push pushes
-ch catch catches
-ies — coryacHbIi 3ByK + Y cry cries
study studies

2. Oxonuanue —ed ucmonb3yercs s oopaszoBanus |l (Past Simple)
u Il (Participle Il) dbopm mpaBUIBHBIX IIAT0OJIOB.
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IIpousHomenune

3ByK OKOHYaHUE OCHOBBI IJ1arosa [Tpumep
[t] TJIyXOH COTNIACHBIN 3BYK worked
passed
laughed
[d] 3BOHKHI COTJIACHBIN 3BYK opened
arrived
TJIACHBIN 3BYK stayed
[id] cornacHbii d/t added
posted
IIpaBonucanue
[IpaBumno CrnoBapnas dhopma Past
MIPABOMTUCAHMSI rJaroJia Simple/Participle |1
-ed — 1 GOJIBPIIMHCTBA TJIAr0JI0B wait waited
-d — I TIarojoB, OKaHYMBAIOLIMXCS | arrive arrived
Ha -e
yJIBOCHUE KOHEYHOU coryiacHou + ed stop stopped
refer referred
NB — npu ynapenuu Ha nepssiii ciior | differ differed
-ied — cornacHbIi + y carry carried
NB delay delayed

3. Oxonuanwue -ing — 1V ¢opma riarosma (Participle 1/Gerund).

IIpaBonucanue

[IpaBuio npaBonucanus

CrnoBapnas hopma

Participle 1/Gerund

-ing — 11t GOJTBIIIMHCTBA TJ1aroJioB wait waiting
try trying
study studying

rJIacHasi —e OMyCKaeTCsl write writing

YABOCHHUE KOHEYHOU COTIVIACHOU run running
begin beginning

NB — npu yaapenuu Ha niepssiii ciior | differ differing

ie—y lie lying
tie tying
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APPENDIX 3
TUIIBI CJIOBOOBPA3OBAHUNA

1. Adpdurcanus — criocod ciI10BoOOpa3oBaHUs MyTEM IPHUCOSTHUHE-
HUSI K KOPHIO WJIM OCHOBE CII0BOOOpa3zoBaresbHbIX addukcoB. AdPukce
MOJIPA3ICISIIOTCS HA CY(PPUKCHI 1 NPePUKCHI.

Cydpukc — npousBoHas mopdemMa, clieyrolias 3a KOpHEM U 00-
pasyrollasi HOBO€ CIIOBO B Apyroi uyactu peun: heart, to hearten, hearty,
heartless, heartily. [Toatomy 3HaHUE CyPPUKCOB BaXKHO ISl OTIPEACTICHIS
4acTH PeyH.

Cy¢pdukcsl cymecTBUTEIbHBIX

-er, -or seller (mpomaserr), constructor (KOHCTPYKTOD)

-tion connection (coeauuenue), organization (opranu3zars)
(-ation)

-ing building (3manue), planning (mranuposanme)

-ment development (passutue), government (mpaBUTEIHCTBO)
-(t)ure future (Oynymee), nature (mpuposa)

-ance(-ence)

importance (BaxxHocTts), dependence (3aBHCHMOCTB)

-ness effectiveness (addexruBHOCTB), accurateness (TouHoOCTh)
-ity activity (nestenpHOCTB), POssibility (Bo3moxHOCTB)
-th strength (cuma), growth (poct)
-ship friendship (apy-x6a), relationship (Bzaumocssi3n)
-ism mechanism (Mexanusm), capitalism (kanuranmsm)
-ics economics (axoHomMuka), physics (pusuka)
-ist economist (sxoromuct), physicist (dpuzuk)
Cy¢pdukcsl npuiiaratebHbIX
-al national (marmonaneHsIit), industrial (mpoMbIITICHHBIH)
-able (-ible) changeable (u3menuuBsIit), convertible (oGparumbiii)
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-ant (-ent) resistant (ycroiuusiii), different (pazmuunsrii)

-ive active (mesrenpHbIN), cOMpetitive (KOHKYPHPYIOIIIHIA)

-ful peaceful (mupusIit), useful (moe3ubrit)

-ic basic (ocrHoBHOI1), historic (ncToprueckuii)

-0us famous (3mamenuTsIit), dangerous (omacHsIii)

-less useless (6ecronesnsrit), careless (HeOpeKHbII)
Cydduxcsi riarosnon

-en to weaken (ociabusTh), to shorten (ykopauuBaTh(cs))

-fy to intensify (ycunuBarts), to simplify (ynporuats)

-ize to realize (ocymiectBists), to stabilize (cradbunusuposars)
Cydduxcnl Hapeunii

-ly practically (mpakrudeckn), entirely (momHOCTBIO)

-ward(s) forward(s) (smepén), backward(s) (Hazan)

Ipepuxc — mopdema, crosinas 10 KOPHS U CIIy>Kalast 1jisl U3MEHe-
HUs 3Ha4YeHus cioBa. HamOonblnyro rpynmy ciOB COCTaBISIOT OTpHUIIA-

TEeJBbHBIC TPePUKCHI: KNOwn—unknown.

IIpe¢puxcnl ¢ OTPpULATEIBLHBIM 3HAYCHUEM

dis- disability (mecrmocobnocTs), to disapprove (ue 0100psIThH)
in- incapable (Hecioco6HBIit), incomplete (HemosHbII)
il- (mepen 1) | illegal (He3akonnsrit), illiterate (HerpamoTHBbI#T)
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OkoHyanmne

ir-

irrational (HepanmonanesHbIi), irregular (HecranaapTHBIH)

(mepen r)

im- impossible (meBo3mMoXxHBIH), IMMOobile (HermoABIKHBII)

(mepen

m, p, b)

mis- to miscalculate (omubutscs B pacuére), to misinform
(me3unpOpMHpOBATS)

non- non-essential (mecymmecrsennsiit), noneffective (HeadhexTuBHbBIM)

un- unlimited (aeorpanmuennsiii), Unknown (Hen3BECTHBII)

IIpedukcshl ¢ pa3HBIMH 3HAYEHUSIMU

over- (cBepx)

to overestimate (mepeoriennts), t0 Overcome (mpeooaeBarsh)

post- postwar (mocineBoennslii), postgraduate (acrimpanr)
(moce)

pre- (mo) prewar (moBoeHHbIi), prehistoric (morcrTopuueckuii)

re- (BHOBB) to rewrite (mepenuceiBath), t0 restore (BoccraHaBIMBATh)
under- (ue, to underestimate (memooriennts), underdeveloped

HWKE, TTO]T) (cmabopa3BuTHIiN)

2. Cii0BOCJI05KeHHe — 00pa30BaHUE CIIOB MyTEM CIUSHUS JABYX WM
0oJiee OCHOB (KOpHEH ), KOTOPBIE BCTPEUAIOTCS B S3bIKE B BHJIE CBOOOTHBIX

dbopwm.

Tune! knaccudpukanuu:

1) Ho THITy COCTMHHUTEIIBHOIO 3JICMEHTA!

a) 0e3 coemMHUTEILHOTO 3eMenTa: heartache, snowball;

b) ¢ coemuHUTENBHBIM 3JIeMeHTOM (TJIacHas WM corjiacHas): States-
man, speedgmeter;

C) COCIMHMUTEILHBIN AJIeMEeHT (ITpeayIor WK coro3): Son-in-law, for-
get-me-not, up-to-date;

2) MO 4acTH peuu, K KOTOPOW NPUHAJIEKUT CIOKHOE CIOBO:

a) ciaoxkHoe cymiecteurensHoe: blackboard;

b) cnoxxnoe npunararensHoe: first-class;

C) cinoxubii rnaroi: to blackmail u . .
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3. KonBepcusi — 00pa3oBaHue HOBBIX CIIOB ITyTEM IIepexoja B JIpy-
T'YIO 4acTh peun 0e3 kakoro-mmbo u3MeHnenus ciosa: love —to love, offer —
to offer, work — to work. Ilpu koHBepcuu 00pa3yrOTCs rpaMMaTHYCCKHE
OMOHHMBI, CEMaHTHYECKH CBSA3aHHBIC C MCXOIHBIM CI0BOM. MHOrma Ha-
OJIr01aeTCsl U3MEHEHHE yaapeHus: increase — to inC rease win u3MEHEHHE
npou3HomeHus: Use [ju:s] —to use [ju:z].
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APPENDIX 4
AHI'VIMACKAS JEKCHUKA
CHHOHHMMBI, AHTOHUMBbI, OMOHUMBbI

CHHOHHUMBI — CJIOBa, IPUHAJICKAIIUE K OJTHOW YaCTH peUH U OJIn3-
KHE WU TOXISCTBEHHBbIC 1O 3HaueHWt0. OHU OTIIMYAKOTCS OTTCHKAMH
3HAYEHUS U YITOTPEOJICHUEM B PCUH.

CroBa-CHHOHUMBI OOBEAMHSIOTCS B CHHOHUMHUYECKUE Psiibl. OIHO
U3 ATHX CJIOB SIBJISICTCS B 3TOM PsiIy OCHOBHBIM, TaK Kak Iepeaact Hauobo-
jiee o0llee MOHITHE U ABJISICTCS HEUTPATBHBIM 10 CTHJIIO.

Hanpuwmep:

to work — (ocHOBHOE 3Ha4YeHHE) — PabOTATh, TPYAUTHCS

to labor — Tpyauthcs, (TsbKeno) padoTaTh, MPHUJIAraTh YCHUITHS

to toil — ycuneHHo paboTarh, JOCTHraTh (Y4ero-au00) yCHICHHBIM
TPYIOM

to drudge — BEIOTHATH TSKETY0, HyTHYIO pa0doTy

mistake — (ocHOBHOE 3HaYCHHUE) — OMINOKA
slip — omn0Oka, mpoMax, OroBopKa, OrrcKa
error — onrrbKa, MorpenrHOCTb, 3a0IyKICHUE
blunder — rpy6as ommboka

AHTOHHMMBI — CJIOBA, MPUHAJICKAMNE K OJHOM YACTU PEUH,

HO MMEIOIIME TPOTHBOTIONIOKHOE 3HAUCHHE. BhIIemnstoT:

1. AGcomroTHBIE (KOPHEBBIEC) AaHTOHUMBI:

to love — to hate — mroOUTH — HEHABUAETH

hot — cold — xomoaHbBII — ropsunii

peace — war — Mup — BOMHa

2. IIponsBosiHbIC, OOpa30BaHHBIC MPU TIOMOIIM OTPHIATECIBLHBIX
npepukcoB win cyhPUKcos:

known — unknown — u3BeCTHBIA — HEU3BECTHBIN

logical — illogical — moru4HbIi — HETOTMYHBIH

useful — useless — mone3HsbIit — OecIOIE3HBINA
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OMOHMMBI — CJIOBA, MJICHTUYHBIC 10 3ByYaHUIO W/WJIM 10 HaIuca-
HHUIO, HO pa3id4YHble M0 3HaueHH0. OMOHHMBI MOAPA3ACIIIOTCS HAa TPH
IPYIIIBL:

1. lcTuHHBIE OMOHHMBI, KOTOPBIC 3ByYaT U MHUIIYTCS OJAMHAKOBO:

well (xopomo) — well (komozel, ckBakrHa)

can (Mmoub) — Can (koHcepBHas OaHKa)

ball (msa) — ball (6axn)

rose (po3a) — rose (\V, or rimaromna «to rise»)

light (cBet, cBeTbIi, ocBemats) — light (erkuii)

2. OMO(OHBI — OMOHHMBI, KOTOPBIE MUIIYTCS IO-Pa3HOMY, HO 3BY-
YaT 0JINHAKOBO:

buy (nokymare) — by (pensor) — bye (1o cBugaHus)

blue (cunwmit) — blew (V, ot rimarosa «to blowy)

for (mpemtor) — four (uetwipe) — fore (mepeaHsst yacTh 4yero-iauoo,
MIEPETHUN )

here (3mecw) — hear (cibIiars)

know (3Hatp) — NO (HET)

meet (BcTpeuaTh(cst) — meat (msico)

hour (gac) — our (Harm)

right (mpaBbliii, mpaBuILHBIN) — Write (TTucaTh)

3. Omorpadbl — OMOHUMBI, KOTOPBIE TUITYTCS OJUHAKOBO, a TIPOM3-
HOCSITCS ITO-Pa3HOMY:

wind [wind] — Betep, [waind] — npy>xuHa, MeTIATH

lead [li:d] — BecTn, pykoBoauTh, [led] — cBunerr

bow [bou] — nyk, ayra, [bau] — moksoH, KIaHATHCS

tear [tea] — pBats, [tia] — cie3a
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APPENDIX 5

YUCJIUTEJIBHBIE

KoanyecTBeHHBIE YHCINTEIbLHDBIE
1 one 11 eleven 21  twenty-one
2 two 12 twelve 22  twenty-two
3 three 13  thirteen 30 thirty
4  four 14  fourteen 40  forty
5 five 15  fifteen 50 fifty
6 six 16  sixteen 60  sixty
7  seven 17  seventeen 70  seventy
8 eight 18  eighteen 80 eighty
9 nine 19 nineteen 90 ninety
10 ten 20  twenty 100 ahundred

YreHue MATEMATHYECKUX BbIPAKEHUN M CHUMBOJIOB!
(+) — plus, add, sum up;

(—) — minus, subtract;

(x) — multiply, times;

(1) — divide;

(=) —equals, is equal to, makes, is.

IIpocTtbie npodu:

1/2 — a (one) half;

2/3 — two-thirds;

JecaTu4yHbIC APOOMU:

0.2 — 0 [ou] point two/zero point two/nought point two;
1.15 — one point fifteen/one five.

Crenenu.

3% — three squared:;

10" — ten to the seventh power;

10" — ten to the minus fifth power.
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APPENDIX 6

TABJIMLHA HEIIPABUJIBHBIX T'JIAI'OJIOB

1-a popma | 2-s popma 3-1 popma | 4-1 popma [TepeBon

to be was/were been being OBITh, HAXOAUTHCS

to bear bore borne/born bearing HECTH, HOCUTD, POJTUTh
to beat beat beaten beating OuThH

to become | became become becoming | ctaHoBUTBCS

to begin began begun beginning | naunHaTh(Cs)

to bend bent bent bending THYTh

to bind bound bound binding CBSI3BIBATH, IIEPEILICTATh
to bite bit bitten/bit biting KycaTth

to blow blew blown blowing IyTh

to break broke broken breaking JIOMAaTh

to bring brought brought bringing PUHOCHTD

to build built built building CTPOUTH

to burn burnt burnt burning rOpeTh, KEUb

to burst burst burst bursting B3pBIBATh, PA3pyIIATh
to buy bought bought buying HOKYTIATh

to catch caught caught catching JIOBUTH

to choose | chose chosen choosing BBIOUPATH

to come came come coming PUE3KATh, IPUXOAUTh
to cost cost cost costing CTOUTh

to cut cut cut cutting pe3atb, pyOuTh

to deal dealt dealt dealing UMETh JICJIO

to do did done doing JIeNaTh

to draw drew drawn drawing pHCOBATH, TAIIUTh

to dream dreamt dreamt dreaming | meuTath

to drink drank drunk drinking UThH

to drive drove driven driving BE3TH, €XaTh

to eat ate eaten eating €CTbh, [10€J1aTh

to fall fell fallen falling najgarhb

to feel felt felt feeling 4yBCTBOBATh

to feed fed fed feeding KOPMUTH

to fight fought fought fighting OOpOThCS, IPaThCs

to find found found finding HAXOJIUTh

to fly flew flown flying JeTaTh

to forbid forbade forbidden forbidding | 3ampemats

to forget forgot forgotten forgetting | 3a0bIBaTH
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[Iponomxenue

1-a popma | 2-s1 hopma 3-1 dopma | 4-s hopma [lepeBon

to forgive | forgave forgiven forgiving PONIATh

to freeze | froze frozen freezing 3aMOpaXMBATh

to get got got getting 110JIy9aTh, CTAHOBUTHCS
to give gave given giving JIaBaTh

t0 go went gone going UJTH, €XaTh

to grow grew grown growing pACTH, BBIPAIIUBATH
to hang hung/hanged | hung/hanged | hanging BHCETh, BEIIATh

to have had had having UMECTh

to hear heard heard hearing CIIBIIIATh

to hide hid hidden hiding psATaTh

to hit hit hit hitting yIapsTh

to hold held held holding JepyKaTh(cs)

to hurt hurt hurt hurting IOBPETUTh

to keep kept kept keeping JIepXKaTh, XPaHUTh
to know knew known knowing 3HATh

to lay laid laid laying KJIaCTh, TOJIOKHUTh
to lead led led leading BECTH

to leap leapt/leaped | leapt/leaped | leaping NpPbITaTh, CKAKaTh
to learn learnt/learned | learnt/learned | learning YYUTh

to leave left left leaving NOKH/IATh, OCTABJISITh
to lend lent lent lending JIaBaTh B3aiMBbI

to let let let letting I03BOJIATh

to lie lay lain lying JIeKATh

to light lit lit lighting 32)KUTATh

to lose lost lost losing TEPATH

to make made made making JIeNaTh

to mean meant meant meaning 3HAYHTh

to meet met met meeting BCTpe4aTh(Cs)

to pay paid paid paying IUTATUTh

to put put put putting KJIaCTh, CTABUTh

to read read read reading YHUTATh

to ride rode ridden riding exaTh (BEpXOM)

to ring rang rung ringing 3BOHUTb, 3BEHETh
to rise rose risen rising TIO/THUMAThHCSI, BO3PACTATh
to run ran run running OexaTh

to say said said saying TOBOPHTH, CKa3aTh
to see saw seen seeing BUJICTD

to seek sought sought seeking HCKaTh
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OxkoHYaHue

1-1 dpopma | 2-s popma | 3-s1 popma 4-1 hopma [lepeBon
to sell sold sold selling POJIaBaTh
to send sent sent sending MOCBIIATh, OTIPABIISTH
to set set set setting YCTaHABJIMBATh
to shake shook shaken shaking TPSCTH
to shine shone shone shining CBETHTD, CHSTh
to shoot shot shot shooting CTpEIISITh, CHUMATh
to show showed shown showing MMOKa3bIBATh
to shut shut shut shutting 3aKpBIBATh(Cs)
to sing sang sung singing eTh
to sink sank sunk sinking TOHYTb
to sit sat sat sitting CHJICTh
to sleep slept slept sleeping craTh
to smell smelt smelt smelling HIOXAaTh, TAXHYTh
to speak spoke spoken speaking TOBOPHUTB, Pa3rOBapHBaTh
to spring sprang sprung springing TIPBITATh
to spend spent spent spending TPAaTHUTh, IPOBOANTH
(Bpemsi)
to spread spread spread spreading pacrpocTpassTh(cs)
to stand stood stood standing CTOSATh
to steal stole stolen stealing BOPOBATh, YKPACTh
to stick stuck stuck sticking IPUKJICUBATh
to strike struck struck striking OWTB, yIapsATh
to swear swore sworn swearing KJISICTHCS
to sweep swept swept sweeping MECTH, MOJIMETATh
to swim swam swum swimming TIaBaTh
to take took taken taking B3ATh, OpaTh
to teach taught taught teaching y4IHTh, 00y4YaTh
to tear tore torn tearing pBaTh
to tell told told telling CKa3aTh, COOOIIATh
to think thought thought thinking JIyMaTh
to throw threw thrown throwing OpocaTb, KUJIaTh
to understand | understood | understood | understanding | moHumars
to wake woke woken waking OyIIUTh, IPOCHIMATHCSI
to wear wore worn wearing HOCHUTB (OJICHK]TY)
to weep wept wept weeping TTAKaTh
to win won won winning N0OCK/1aTh, BHIMTPHIBATH
to wind wound wound winding BHUTBCsI, HAMATBIBATh(Cs1)
to write wrote written writing HCaTh
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TP ®OPMbI HEIIPABUJIBHBIX I'JIAI'OJIOB,
CI'PYIIIIMPOBAHHBIE 110 3BYYAHHUIO 1 HAIIMCAHUIO

1-1 bopma 2-s1 popma 3-1 popma
Bear Bore Born
Swear Swore Sworn
Tear Tore Torn
Wear Wore Worn
Become Became Become
Come Came Come
Begin Began Begun
Drink Drank Drunk
Ring Rang Rung
Run Ran Run
Sing Sang Sung
Sink Sank Sunk
Spring Sprang Sprung
Swim Swam Swum
Bind Bound Bound
Find Found Found
Wind Wound Wound
Bring Brought Brought
Buy Bought Bought
Catch Caught Caught
Fight Fought Fought
Seek Sought Sought
Teach Taught Taught
Think Thought Thought
Bend Bent Bent
Build Built Built
Lend Lent Lent
Send Sent Sent
Spend Spent Spent
Deal Dealt Dealt
Dream Dreamt Dreamt
Feel Felt Felt
Keep Kept Kept
Leap Leapt Leapt
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[Iponomxenue

1-1 popma 2-51 popma 3-s1 hopma
Mean Meant Meant
Sleep Slept Slept
Smell Smelt Smelt
Sweep Swept Swept
Weep Wept Wept
Hang Hung Hung
Stick Stuck Stuck
Strike Struck Struck

Win Won Won
Blow Blew Blown
Grow Grew Grown
Throw Threw Thrown
Fly Flew Flown
Know Knew Known
Draw Drew Drawn
Drive Drove Driven
Ride Rode Ridden
Rise Rose Risen
Write Wrote Written
Feed Fed Fed
Hold Held Held
Lead Led Led
Meet Met Met
Read Read Read
Forbid Forbade Forbidden
Forgive Forgave Forgiven
Give Gave Given
Break Broke Broken
Choose Chose Chosen
Freeze Froze Frozen
Speak Spoke Spoken
Steal Stole Stolen
Wake Woke Woken
Lay Laid Laid
Pay Paid Paid
Sell Sold Sold
Tell Told Told
Shake Shook Shaken
Take Took Taken
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OkoHyanmne

1-1 bopma 2-1 popma 3-1 popma
Stand Stood Stood
Understand Understood Understood
Burst Burst Burst
Cost Cost Cost
Cut Cut Cut
Hit Hit Hit
Hurt Hurt Hurt
Let Let Let
Put Put Put
Set Set Set
Shut Shut Shut
Spread Spread Spread
Burn Burnt Burnt
Learn Learnt Learnt
Bite Bit Bitten
Hide Hid Hidden
Shoot Shot Shot
Shine Shone Shone
Beat Beat Beaten
Eat Ate Eaten
Fall Fell Fallen
Forget Forgot Forgotten
See Saw Seen
Lose Lost Lost

Light Lit Lit
Sit Sat Sat
Lie Lay Lain

Hear Heard Heard

Leave Left Left
Say Said Said

Make Made Made

Have Had Had
Do Did Done

Show Showed Shown
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APPENDIX 7

TUIIbI BOMMPOCUTEJbHBIX NPEJJIOXEHUN

Hassanue

Bomnpoc

OtBeT

OO61re BOmpOCh
General questions

Do you work?
Is she reading?

Yes, | do/ No, | don’t.
Yes, she is / No, she isn’t.

AJbTepHAaTHBHBIE
BOIIPOCHI
Alternative questions

Have you been to London
or (have you been to) Paris?

Does he know French or Eng-
lish?

| have been to London.

He knows English.

PaznenurenbHbie BOmpoO-
CBI

Tag-questions

You work much, don’t you?

She can’t speak English, can
she?

Yes, | do/ No, | don’t.

No, she can’t / Yes, she
can.

CHGHI/IaJILHBIe BOITIPOCHI
Special questions

Where do you work?
What is she reading?
Who knows this story?

| work at a university.
She is reading a book.
He (does).
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APPENDIX 8

JAEJIOBAS KOPPECHOHAEHIIUA

1. CtpyKTypa U CMBICIIOBBIE YaCTH JIEJIOBOTO MUChMaA

CxeMa 1eJI0BOro MUCbMa

Recipient’s address (the name and the ad-
dress of the person to whom you are writing
(addressee)

(Mms u agpec momyvarerns)
Salutation (O6parenue)

Subject line (Conmeprxanue mucbMa)

Letterhead (including the company’s name
and sender’s address)

(331"0J'IOBOK, BKJIIOUAIOIIMNA HAaMMEHOBaHUE

KOMITAaHUH U aJIpEC OTIIPABUTEIIA)

Date (/lata)

Message (Texcr)

Complimentary clause

(3axmrounTenbHas GopMyiia BEKIMBOCTH)
Signature (IToarmwcs)

Writer’s identification (Pacurugposka
TIO/ITTHCH)

Reference initials (Muuruans: aBTopa
MHUCHhMAa M UCTIOJTHUTEIIS)

Enclosure (TTpunoxenusi)
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OO0pa3sen 1eJ10BOT0 MUCHMA

Interice Inc.
2358 Yates Road
Los Angeles, Ca. 00007, USA

May 24, 2002
Mr. Jack Baily
President, Rotary Club
2554 Seventh Street
Westport, Connecticut 06881-2765

Dear Jack,
Subject: Business seminar

Thank you for your invitation to lead a business seminar for high-school
students for the next two months.

Unfortunately, I’ve already made other commitments for those dates.

| hope the enclosed book of mine (not printed yet) will help those who are
going to work instead of me. Please let me know how else | might support
the present seminar.

Sincerely,

Dox Lyman

Lyman Oriental Imports, Inc.
DL/gt

Enclosure: book
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Cxema pacmoJioskeHHsl YacTeid aJjpeca HA KOHBepPTe /1eJIOBOr0 MUCHMAa

Mapka
Sender’s name and address
Wwms oTripaBUTENs W/ Uin VYkazaHue Ha crioco0 JOCTaBKU
Ha3BaAHHC OpraHU3alln
Howmep noma, HazBaHue yauiibl
['opon, MOYTOBBIN UHIEKC
(ZIP code)
Crpana
Recipient’s name and address
(Addressee)
NMs moistydarens W/uiau Ha3BaHUE
Opra”Hu3anuu
Howmep noma, HazBaHUE yuIIbI
['opon, MOYTOBBIN HHEKC
(ZIP code)
Crpana
OoOpasen opopmiieHHsI KOHBEpPTAa
Dr. l.lvanov
St. Petersburg State University Stamp
of Refrigeration and
Food Engineering Express Delivery

9 Lomonosova str.

St. Petersburg 191002

Russia Sleigh Ltd
99 Shandwick Place
Edinburgh EH2 4SD
Scotland
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Cxema ciay:kedoHoii 3amucku (Memo)

To (komy): Date (nara):
From (ot xoro):
Subject (conepxanue):

Message (Tekcr)

The writer’s initials (Muauuanst
aBTOpA 3aIHCKH)

Oo0pa3zen ci1y:KeOHOM 3aNIMCKH

To: Barry Lehman Date: 24 April
From: John Black
Subject: price quotations, costs

of transport and insurance

Here is the information you required about the Red Tunnel shipping

services Yokohama — Southampton:
&14,000 for our cargo of word processors
plus &2,000 all-risks insurance.

Do you need more information?

J.B.
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OOpasen Hanucanus Ouorpadpun
(Curriculum Vitae/CV) nau (Resume)

CURRICULUM VITAE / RESUME

Surname: SIDOROVA
First and middle names: NINA VIKTOROVNA
Telephone: Home: (812) 315-7893

Work: (812) 251-0540
Personal details:

Date and place of birth: 24 January 1986, St. Petersburg, Russia

Marital status: Married, 1 child

Address: 38 Galernaya Street, Apt. 15, St. Petersburg 190000, Russia
Mobility: I am not able to travel much, because my son is only 2 years old.

Qualifications:

Professional: M. Sc. degree in Food Engineering
Languages: English (speaking, reading and translating)
Education: 1992 — 2002 School No. 2
34 Nalichnaya Street, St. Petersburg 199226, Russia
Secondary Education Certificate
2002 — 2007 St. Petersburg State University of Refrigeration
and Food Engineering
9 Lomonosova Street, St. Petersburg 191002, Russia
M. Sc. degree in Refrigeration Engineering
Career details:
2002 — 2007 student, Department of Food Engineering,
University of Refrigeration and Food Engineering

since 2007  technologist, Stepan Razin Brewery

Referees: Mr. V. V. Leontyev
Process Manager
Stepan Razin Brewery
9 Stepana Razina Street, St. Petersburg, 195566, Russia
phone (812) 251-0510; fax (812) 251-4049
e-mail: vleontyev@razin.ru

Mrs. A. N. Venevetinova

Human Resources Manager

Stepan Razin Brewery

9 Stepana Razina Street, St. Petersburg, 195566, Russia
phone (812) 251-0522; fax (812) 251-4049

e-mail: avenevetinova@razin.ru

129



APPENDIX 9

CIIICOK 3AUMCTBOBAHHBIX CJIOB,
BBIPA’KEHUM 1 COKPAIIEHUM

ab initio — ¢ nauana

A.D. (Anno Domini) — Hamieit 3psI

a.m. (ante meridiem) — 1o moayaHs

a posteriori — Ha OCHOBaHHH OIIBITA

a priori — 3apaHee, HE3aBUCUMO OT OTIBITa

cf. (confer) — cpaBuuTe

ceteris paribus — mpu MpoYMX PaBHBIX YCIOBHUIX

c. (circa) — npuOIM3UTEIIBHO, OKOJIO

e.g. (exempli gratia) = for example — nanpumep

et al. — u npyrue

etc. (et cetera) — u Tak ganee

ib., ibid. (ibidem) — tam e, B TOM ke MeCTe

I.e. (id est) = that is — To ecTb

In situ — Ha cBOEM MecTe

In Vitro — B 1abopaTopHOM COCY/ie, BHE OpraHU3Ma
IN VIVO — B €CTECTBEHHBIX YCIOBHSX, HA )KUBOM OPraHU3Me
med. (medium) — cepeauna, cpeaHuit

N.B. (nota bene) — mpumeuanue, orMeTka

per capita — Ha aymry HaceJacHHUsI

per se — cam no cede, Mo CyIIeCTBY

p.m. (post meridiem) — moce oy aHs

pro et con (pro et contra) — 3a v MPOTHB

pro forma — dbopmaneHo, 11 BUA

versus (Vers, VS.) — MpoTHB, B CPAaBHEHUH C, B 3aBUCUMOCTH OT
vice versa (v.v.) — HaoOopoT

vide infra — cm. HiKe

vide supra — cm. BblIIIIe

viz (videlicet) — a umeHHO
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